Subject :Engineering and numerical

Analysis

Weekly Hours : Theortical:2
Tutorial :1

Experimental :

Units:4

ol = =
PBom~Nooar w Ne|g
~

NN NNNRE R R R R R R
Gk WDNMEOO®NS O AWD

NN
=~No@»

N
€9

29.

30.

Contents

Laplace transformation ( L.T)

Inverse Laplace Transformation

Solution of differential equations using
Laplace transformation

Applications

Power series method

Partial differential equations ( P.D.E)
Separation of variables

Application of heat transfer

Solution of non — linear equations
Alteration method

Newton — Raphsen method

Applications

Solution of simultaneously linear equations
Determinant method ( Grammar Rule )
Matrix method

Applications about topics ( 9-15)
Applications about topics ( 9-15)
Numerical interpolation

Finite difference method

Forward & Baehword & Center expression
Newton s & Lagrange forms

Numerical differentiation

Numerical integration ( three methods )
Applications

Curve fitting

Solution of D.E by finite difference method
using Taylor series

Applications

Laplace equation in Engineering Fields

Applications Laplace equation in
Engineering Fields

Applications Laplace equation in
Engineering Fields

By By gad

Lpual) By @Bl g

oY AZD\,;J;J Z.h,...\j,\ K,.\L'Al.l’ﬂ\ Y aleall Ja
iyl

s S8 i gia 48, sl

) Aobaalitl) ey alaal)

<l priall Juad

81 Al Q) e el

AgladMl e alaall Ja

S 48y )k

Osmdly (5

iyl

Agladl) 459 e alaal) s

(S O5id ) b gheaal) 43y 5k

Gfdasal) 48y

(15 -9 ) apdlsall Ao b

(15 -9) gralsall o b

Agamml) edllat

Baaaall cild g al)

A8 pally ¢ Al Asalay) GEIEY) dina
TISY — (g ddna

@ anad) Jualdnl)

(@b &) samdl Jalsil

Clgada

lyiaiall gildas

Sadaall cld gl Ak yhay Alaalinl) e slaall Ja

CALM.\E.\*" v
Agria talga A Y Adrlaal

Lt i) ga (B iyl
ook Adataal

Ftia gl ga b il
oLy Ustaal

CoNoOUr W N

.29

.30



Subject :Engineering and numerical Analysis
Weekly Hours : Theortical:2 UNITS:4

week

wN e

29.
30.

Tutorial :1
Experimental :

Contents

Laplace transformation ( L.T)

Inverse Laplace Transformation

Solution of differential equations using
Laplace transformation

Applications

Power series method

Paratial differential equations ( P.D.E)
Separation of variables

Application of heat transfer

Solution of non — linear equations
Alteration method

Newton — Raphsen method

Solution of simultaneously linear equations
Determinant method ( Grammar Rule )
Matrix method

Applications about topics ( 9-15)
Numerical interpolation

Finite difference method

Forward & Backwards & Central expression
Newton s & Lagrange forms

Numerical differentiation

Numerical integration ( three methods )
Applications

Curve fitting

Solution of D.E by finite difference method
using Taylor series

Applications of Laplace equation in
Engineering Fields

Apaia s dnae OaT 1 g e
4 sl 2 ook de sl clell)

1 4d8la

D sles

il ginall & su)
GO CB g 1
LSl LY By 2
oY Ol gad ddand gy dlialadl) caYaleall Ja 3
Clagla 4
sl ol s A5 )l 5
A el dblalall caYalaal) 6
el Jiad 7
5ol pall Juml e cldyla 8
A Y aleall Ja 9
Jlosill day )k .10
Ol ) (o A1
= 12

Aghadll Ay caYaleal) Ja 13
(S Osi) Clipadl sl 14
Cilaasall gy yha 15

(15 -9) ol sal o ks .16

= 17
02l Cl Dl 18
Baasall Cld 5 ) 19

QS el ¢ Ailallc dualal) QEELY) dipa .20
I SY — (s A 21

sl Jaldll 22

(Gob ) g Jasil 23

Cillal 24

Clisidl Gk 25

saaaall il 5 Al 45y oy Adialadll c¥sladl o .26

= 27
= .29
= .30



JJLAAAS\
(dlae dgana 2 ¢ Al ua dalgall) dannigl) 5 dpnael) @B ]

2. Numerical methods for engineering ( steven chapra)
3. Numerical analysis ( geraled )

(uﬂd\éa‘)ﬂ}leoy\s\)dw\)



L QII:) \C’uf_ﬂ

_ml-_;’-cu“l 5 ?ﬁf" mf.»..‘lt‘ 16 v -
\“M‘"\—*"\M
’1.» D(:"fi;r‘ll-')‘_lﬁ.i"l 5 ; i
e S | he Lmlfh lace  tyans fo ‘v \S o
FINER fl’? E'.,-T'ic’.i_{_} ;’.:L f jf‘-:Jf-’J'.j !D{ _ﬁ'cii L fr1 € (& E

d, ﬁgc—:mn%.‘a ( equat enS « In Cen ff—’i'c’iv‘ﬁ:f e WJ;‘?E‘% the
g |G‘1f;a‘::_|-( 'm,[ f”)"iﬁ:’*'% h C.-cv( uf.] & c_}.‘ib";.t'y . |]\ E / {“ }1(—‘; LqF{q Ce

'fmn‘ijﬁw’m mf*‘f‘lmrj ffﬁc:r.i the }f-)c-m?'-’*'f‘;ﬁ fw"a fi[ﬁhf{-;'ifc
fE’C{:éur’t’,‘s -

e ?}.ﬁ

C‘fc}:—ﬂ {wy LH:J'E'_(E ¥

@ Trut‘; l’\mmm ENEn S (‘lG!\-U'*—‘{'l\CJr‘-. (C'-F) qncj {_jfi{"’ f%i"*l-fc.u fur
Iﬂ‘f‘&’jlfcx.( (FD.I) qye 5‘cn)b‘eJ h one Q;D'HT?L{‘G{"_

@ The Lqﬁ/cmc’:: tvans ﬁ!i‘"f’” Conveyts tle o ffiﬁ f:?"i‘LLo
il cxlf]-e b'ﬂ‘c: Q;?Mcl.’é!::)ﬂ !;r‘i ,»51 Qjarﬂq;m . I~[- ;“_'S {'(’\t‘-'ﬂ

fﬂ‘b%ﬂr‘fﬂf& e .fﬂam}mfaﬁ-: +he. ck_{jt’fif’ﬂ‘(l *ﬂ:'{- LJJ St:»rfr?{e,
a{jebﬁwc rules  te ©btain the selution in %}1? & anin
,ﬁ«f& 'iincLL &;\w\‘(mx x‘l‘i- Ls ._)‘ c:‘.-ﬁi‘:"_(_;[ ll?j Jrﬂkhj ‘H«ﬁ ‘W\\Jef:se_,
LQP‘.C&CE J;Ef-:u\i; @rm <

@ f\/[mﬁ\emaﬁ"m,f df’f}hh'-;‘ﬂﬂ fw?’ Lapfq{"e ‘{“
WW

(ahs for i

p i e
Let -ﬁ(ﬂ be @ Jiven ﬁ“"’”"‘:f%‘f;ﬁﬂ wWhicl

! C/Fff;’\ﬂcf for
all tzo. we M%gf,}p/j £ @?_‘; — i

A € and fej et
t Fom zew it ””'7&!}”‘%7 -« Jhea, £ the tesuls,

fﬂ?"ﬁj -ra{ w_i ¢ f% IS o ﬁuﬂf%:,cm ctv)E

Fes)= [ L

c

cFCE).



The Luibew FO9)
r:jl" fl’\@. C:P’l ;nql
by A (8) s ¢

I's (ﬂ/fec] the L(f)/mfﬁimﬂ
IFMHC‘EGM 1“9(‘{-) cmcj w/y {bg cﬁ&na{ed

)

_ = O ;
Flo) = & (3eo) :j TP At _ @

jneH: FGst)
(S c‘afﬁc’ the Laplace tvanifam

X r{_-!:\e_ ul?ﬁfﬂ—{ﬂc”‘- _J“S*{_ deBC‘litJE‘C’ Wh;(}
,ﬁ\fdm o 9 iVen ‘f—@f)

% He '\M‘ﬂa\b U i {;e{re,gl Lo as s L«Ll?[q( € oper
, {1 ¥ ij bc_ reoul Lc:}c 2 o va W g k‘\ t«:we_ —":’-m\m"-.r_[ U.ga@j{er{nd; .
Consicler S o "!'!9

[:-_ﬂmmiﬂe
._ ) Lel FCO =1 when f ) ity F'(g.)@r rL(fﬁ[{-J}
ok | . A -0t f
Lreeey) = &6 = S e . 1o di = 2lop For 170
— e J ‘”r’\ Fﬂl
o o S = ok
( ]p. ['\ﬂ 5 J rgi
L= -
L, at |
E?{amfsz' @ o Z_{:"‘t ﬁ(‘(’) =2 B w hen ‘é //Zc; mnd = C(M'fkcm'f
AT [:;ncl L(Ug:) 5
ot 4t at . (a-8) ¢
selr ()= [ T e dt =] e dt '

(a-0)+ =@ ©




Example @ - Let £l =sinat when t 5o and a= Gnshit
Find  I(sinat)

-SC"]' 0
; ~ St A
‘f_. (S;r‘l (lt-) = Af EE'S & 51‘}’1 ﬂ.‘b cJ L' = ffrm _L E‘gé-.SaLﬂﬂ{"h d{i

by pParts T-¥o
let W=sinat du = o Gesat
dv= &'Fd¢ v ol

ﬁffﬁv = uv- Jves sinat 5 0 &

_At
. Sj'ﬂcﬁ: = —F’— ¢ . Stnat B i o L Cﬂgq%
.- ,J‘f let
i
c_'l\-k-—‘ﬁ"“f\i'fjc!-v -2 \'_r:'idé
4"‘.
;AT -
f@ Srnm'&:'_"\s%—f  Sinet +-—-n5’—:'e Cos at _ B fﬁ“ ,5qurJf_—1
¥ ATy e I . \
-,ﬂJr 7 sl '. —rﬁf"
| j e - S ﬂ.fl{” JT- € Bkt - —2 e Gsat — cif € giuat dt)
| L £ :
et I j % et Wb
{ q?_ o .F {3 fr_ a "_f‘jll
(+ %)I:;ﬁ—c 5:r1ﬂf-P‘f Gas T
of
2 —,J?'tr‘ —L-Sit;?
(_ﬁj__f_fi_) I = =/ € Sas . — € (@ga
‘,-.OL f\rf I"E‘J
- gk -ot ] A | -4t
e 8 S b
e L = s (‘—'*t ~S;"/mf).~ff‘“‘—-e e g +)
12 S 4. 4 ot R
St a : A ta [ .
3L
‘,Pﬂt i -
) 1 _ St
% f e . Sfﬂq{:—‘ CJIE' = -'——-_..,_ [_E (r{f 5,",-,.:0‘:‘—-#(.’"\ Co i q{-)]
+ <

Y e at) = Lo (-& (rf' sinat +adosat)) j
_l,-_-_}ly; rj‘ -rc.‘ ’5\_( .' s

;s T o) i

@ C,ﬂ Sival 4+ o (ol q,T‘]' ._é: (Sisfﬂﬁc+ft&Jao)

s Wi 1
T —p e flral '_Q'\ + Gl

@ |




(6]
P
=X

B \.;m ) (,‘S‘ Sima 4 a s QT) + A
- —san (-5«12+ al b £+ U-Ll
5 \ j‘_ (5;:,-1 ml’.‘) = G:_
A 4 a’
E;mrm\?'w: &) - Lei‘ F)=t when £33 End S
Sel = & i |
kitor ol —~ S
Jlm_ff: ¢ budb o dbm [£T Wde
b T e ©
let u= £ ; duw=d ¢ _
C:}UI: :‘fi! \f—- = - 'E._
f = F e
. A e
:i({'}: l.m [i_ & ""'JT- & J%]
T —p oo A o "
‘ LAt ol wE
YA [‘:_‘&,_. @ b ErS
T —ses A 3 {\[*L a J
e Mpe Tax 0F 3 AF" o =Fe . _ﬁlﬁj
R; R € (12 € + F}'T{f‘ +I\g‘3 C

E_}i’i‘ﬁ‘,‘@ -E LE‘{— 'ﬁ(—(:] = 5:.'1 L u_‘l__ 'I.fdj’\f;,r/ff a = Gl ;T(V'l.{ mﬁr_]
__/?,.7/ o 5‘1 Qj -I_._ @w‘r"i\c{f—)
Sﬁ{‘ _ S BT T
L(iinht{%) = f—[ R J = {_;m J -4 E[ q.f- a:fd
0wt ot = e It
. & T_‘,g: ~at
=ple 18 ot [0 gy




No EO£) &lPet)
I .‘ I [ &
% = e

S ﬁz 2]/{;:‘3

4. ?gt ¥ r'_/rp'f"*”

5 - e | [{s1-<)
How @ pProve that

g ———

/fﬂ 5)‘1:;;—’“{7 Z,},b ¢:£ Sﬁ)n’lf ;n;!:}or’%‘uni‘ E’{E‘MFHIquy

ﬁuﬂc{‘foy}g qnc/ ‘é/qefr iﬂ‘t
71:179 -ﬁn[/ﬂuf}n. ‘!Lﬂéjft g

A, i(jc;ﬂqf) —
= of

&LDT\I’\C -"lr'u\\-’-')ﬁ‘f‘-{:‘-‘ﬂ.b \?“’p'ﬁ' 'Ii‘jﬁ’fjclﬁ S = Ei
W

B T i

() Lin eqv"vaj &"ﬂ‘j’fffy :-

@ E e

Pfq (e ans fav’rﬂs /s Ijr;-f’ﬁ‘n e

151

g

o B

e

No.
6 <
1.
o
q.

+
e

2

E(e).  L(pGH)
Cosat S/(S‘!l_‘r_al}
Simal mf[fs*2+az)
S:Hl\a{- m[{grl_u?}
csshat & /ﬁ"z' al)

b. 1. {G—‘S"\ -:ug') = s

5
ri_j e [11

2

b

Loplace transforms -

IF C-} l‘-‘?ﬂcj Cl are (_P.:-'*r?ffi??ﬂ%i‘ l’h’!?'r}'e fp(‘[‘} CTHGJ ﬁ:?_(‘[LJ
are fanctions wi'lh "!—4;—7}51(6 "Ef""“”ﬁe"m“ﬁm‘" F(8)

(',i"ﬂ(:] F—;_ (’J]) ’ ‘_m &)

JL [C, %C{') + G r;r_{‘-f']'l 5 C| Lfﬁr(é}) + G I"(‘tzf{‘])—t ~ -

=& EE + & BEAY)

EMMF!’QE L |
@ L [ati-3Cas2tise ] 4l -3l 45 f SF
= _.cé:._- + i 5
I'YIS (I‘l'z"f'zf r“)‘f.i_lr

- s
@1 i L# ? = é'ﬁ3-~ 2 4 +2 C@J&‘Z_f_—l
=4 i?f +6LE -3 ib;ﬂ‘qt + 72 L G 21

— ﬂ
S+ g JI&

;
B g, B

r I
ey

}i2

g

N €3



@ F."ricﬁf S%J‘f{‘;;i J_’;'r-’cf?em‘w{ =
A L () = FC&) o Then

‘J’_[ ety FCEI-«]J

E}{QME |E t- S «
@ £ (e.@sat) s I micin g, 09 ji:‘f{_:hl_._
5 Sy & i
- i('i;a(@fl'i*):' P?—Hi
(:5?4",)‘!1‘4"
¢ .zt s :
@L(?f)i—*__}p}- Ji_&Z_;E ji:;{':__l_
A'f'?' rﬂ__g
=P (e )=
(3"' 3 i
@ Second shiftig property - |
£4-a)y t <
IF L(eeH) = FCs)  qnd gée)fé i s
T hen - @ |
| '.l L 8£f} - F(gl) eque ibj
E}(mrﬂ!? o 2 . 2;& p )
T . SR e " e (B}
@ §(¢) ﬂSl ] Hli = & g)=G(o)= e | A"‘f

@ Change oﬁ Scale Pml-?ewﬁj bl
ITF i(’fi(‘if‘]) = FC(8) + +hen

3 £(at)) = Lofesty |t

Ej{g‘ME-‘I&E-
& L(snt) = , then
iél—f-f
L(msfy L ( e Ve A o S )=Li.9_ _3 .
3 i o

@) frnd L(Et—) (‘—) - 3 q 3 84 ﬁ"*+t3| Fyt
1c>3 C.'lf\xmje Uf- SCale 7= ‘:”{—j
Lest=d =l 0dy =3 =0 LB

(=Y



\ @ Lc:&f?{ﬂxf’f:‘ ‘f‘YaﬂS-ﬁc\rmmﬁbH c‘:f e}tﬂr‘l-b’aflL.'-L’pg‘.h

TFE L E®=F(on), then L 2t)- s FCo) - £6)
and L 248) = 7 FCa) - 5 £o)

/ﬁ (o) . s f“’t‘i In j(ﬂer%j
e = Fil- PR R For - £ |

- -—J’ Es) - fto)
E:XGMEFE'E“'
& e i;.}qf‘ Iaj CJerg'v*auﬁye l&r"c}JE'{[L? a-
we have
A st = st = Pee
Ple)
L= 0 FG) - B,
S :j;ﬂﬂ = - [ osat
&+ J+ o aiel
Hw  Fiod Jsest by devivative preperty
Note theak o -~ st - f‘; Gs t J’f_ a_)
@ ﬁmJ i g‘f 1"‘".:} derf»ﬂaﬁ“ﬁ: Pl‘“ﬂf@r’{t/
Sol- £ ¢
A A N T3
A ot A
5 i ol /ﬁf'f'} = 1 L /13('{'} 5 _T_[:D.FCS‘)._ -‘r—(u)j
a foN a |
s B [Ip._-’_ _;} -1 Lif'l.’_f?_fﬁ_:l:_i_‘ a
ST-a | A T A 0_q hrJ:'_:
© prove that sinat= 4
| Sel. ,5-‘2_qu
T Sinatscl oS asat _ -1 ey
A (,111; F({_} o
3 e 7]
> L &) ==L § esat ==L[5 PG fE] =T ]e S -
a . (e} T
_ JIE_ S q? . _a?
I )
= —3yge @




@ = ,D/a ce %/QHfﬁgr’maﬁ'ﬂﬂ gmﬁ

I 1L ]E({-) J‘(S‘] . *hen \;f,[f&ﬁ(w]hu!u]:_f. « FESY) (
A &

Eiamg:ieif‘ ¢ .
& L js{hﬂ_gdu du = £l

o : Bl ‘\rl
2 j—-"m'n 26 = 2 =" i j S 2UW du = 1 .2
,\ﬂz‘f'*’-’{ AL ry"!.f'.,;’_f
I @ F:‘nd f_ J (L{?‘u,u,. % J ol
Lo ). a
; o he _:_: z] =1 , o ~pﬂ' i
e i‘fc J_}z _,11'3 ‘i‘r':HF ;i(_:_l'_

i_j{(uz_:.uéu‘) dy - j'—[ii— A J

TF L £0e)=FCF) , Hen

i[gﬁ_ ﬁﬁj —a jﬂ F(D)l

Examﬁfefi-- | &
=Ad & T ﬁeﬂr’ the fﬁifﬁwa'r‘j ﬁuﬂfﬁlﬁf“‘lS:
@ t.3° O t Gesal

@ 5— I':‘ 2t — i é”{;:_._l_g , we /':qve
K

j— £ 2{_ [ wdf: = = |

[ J d{d—r (JT ] (pﬂ_z)e (_‘-\_ﬁ-f.)z

@ DE‘ '{-2— Cé.jf'{TL =37 i (s f:g'(j S ;owieE At!!./t’

3% at
I V4% Gosat e __,(
[ ] (_jrj’r ‘.1"—1-(11)
= i Wpa -2 4 I d e rﬂz
d & (§°+a2)* < (1 5a?) "

L 28 (§%a2)° - (a0 4,90 %) ﬂ,@i_'ﬂzj
(Ps_fz*al)# - (§+a '3

—




@ Divisron by o

LTE T fie)= pL8) , Hhen

g
vl L{i_if)_l :P( Flu).Ju

[
E’.K@ = iad L é’_%_i; e S Ce Lsm‘nf = of

i_ o j M A%
j’\ .‘&x; = fu; du WL %/ _'rL(,.-;IM__, "H,:&?
: 5 + 1 5 |
_at -bt = _{7:(;,,’9’
@ Show that O-L[é’_ﬁ’ (:,(2*1 A+ o ‘
2 St a |
ol: by linearity rf“’”:‘*”f*‘” o=k ﬁq#—i it
=S 4 £
a | aabi
'Aj U 4 dq% -(Ih iR H(L’Hm)J /f;’t’ G’Hu))

= ﬁw(mm) /f’«e(m% o +h) +,& (nrmg)
= Ao (04b) Mo (§4a) = 0, St

@ ] err..s:d:_c J:Mﬂ(:‘(_]lc::v’l B =

Ma

et £(£) have peried Tryo |, So Hat

o Pli+T) = FCt) , Hhen 4, Period T
p

L pee)= o N\

e

e C:; i F?Lr ‘fﬁxt‘ 1’8”}’1(_ letc*n

mm—a

& A& Sm A EC W 2 . -.
Fg—('f) - } ; s <;.g;T' then f:mc) ‘L ﬁf’{.)

i

'|

'|

.,.

1}
AT




_II’JI o
| - e

- | .
S. f—({)"‘-——l—h [f smt. l;ﬂé:.odll_ﬂ*f O EJ{:JTL]

\ T8 _8t :
. W g g.,mE c QJ'{‘ - LJ:':’ L«L-Qlu' rr‘;'?tﬂlf“cul'
"'Z'K;.‘;‘

| - €& o _1 -
ool i { A ( fi" S.rn% Cci.,{-}
T - &1 g f

[ o A PR )

5T s
—= = =
| t’?m A% o2

@ @mf% fhe Euncdion
E(H) = ; Css £ o<t ¥
é Tt K 2%
§ Find L £CH



@ The unit S?Le'liﬂ ]E(AHC‘{‘)'-(?H -

‘““""“—‘"W“—._ﬂwwﬁ

'IT'\E Uxﬂ.'.{.‘ EJ"‘E"P .S;""\n‘: ‘BGH £ JI So (a ”ccj H i VJISI‘CJE‘J.‘E LU‘H.-;
54&;'} -;iur"lt’_'Hc:H , S CJ‘E" r—)n’.n?_()’ = O ﬂ.{-{-‘a‘}
() + < O

*u;(t_q}:_{ '. Lo

T A ‘

7 u 1 -t

| —as “
=% iu{‘f‘=ﬂ]: = S 7o
N

e : e _ i . r\i‘\
Ehnplesi= © Proe tht Luga - 27 i e

(;"U\ -ck) - ? = i 5‘1‘7L£1c1{"

! E‘)a
iU - db [t
( =) 3 j e -~(e)- {‘ﬂ-j e . .d+
’ gk e B cupegt
= & b1 \ == =3 lf ,\P‘>{3
- At r\ri

A® Express the funchion FLH __2 B B2 5 e
\Aﬁ‘i % -;,_;&—Q\",\ ‘&‘)\J«M *‘{{JW Chf\'::rn' é‘ t 7 & l
e AR A ;ll*_s Lq?kaf'e_ {_Y'EMF\S ]%} hA

Sel .
- 20EY = E—"r{o t<2\atﬁfl$ﬁ K2
g N I t>e
By = B2 (+-2)
b op) = L] 82Ut ]

o
= 5 s Ei . B5-2 €
) 5 Ry




H'i"ﬂf Fr'r‘}cj

0 L] 2uge-y 3 un)
(2 5. L & ﬁU({#gjl

@ Express the Funchon

£0) = { LT t > /2 } W teynag “f— the
% £ LNz
uqﬁjc &j’t'_t:* i?mw:- {"{en e2 ¥l c:J ﬁ.‘ng’ |‘+§ ﬂiq})fa Eg

trans farmatro A



. o
Z:KC&M‘){E - FT"“CJ cI~ 2. |

S6/ -

e
Tl g A 4 g Ale-) vB(e-
ST-38 s (@A) (8- (P-2) (0-1)(9-2)
= J+ = AGe-2) 3B Ge)
Then L = A+E —Q We  cain he .aefv‘eu{ i Then
| ==2R+B —0 = Ae= 5Bz 3
= 5-_\ St :f:t = g f_-‘ 2
(s-0)Cs-2) S At
o o
= =L & e
S Facters (U\.,S.'-}-b)ll .E]_”"E’ ROk A s £>
| adth  (ag4b)?
" B 2
ek. Fnd L & .
Sal (1) (o) ¢
T R L R
RO BN +C Cere)
(S4)( 1)
NN [5‘1 = A4 BOS)0s+1) + cGst+t)
P
5

= ACs 29 +1) 8BS0 e (atl)

. Fee & = | = A+ B = B=l-R —© -
& wadfe: B 2 S0 B G 2 O wopf] __@‘-,.iﬁﬁ "‘“@
.--h ' 5“ 5‘
Sl = 0=R-B+< D 0-0_140,0p =p A=t
Bl Eamele E):ﬁ; !
< 3 i .
el A TR, TR Y T
(L) (94) 7 €+l o gl 2@yt
-t +
L



—% F:ac:-'{‘ct‘g (apSlfb)B S;\fﬁ‘.ﬂ S - % 2 5
Asfth  (@gltb)? (g +b)?

€x- | 2
Fnd | 2%
(4 +2)°
*
St ) A ; P, } -

(F\P-f‘l)g Stte (‘_514!.2}2 6‘571-2)3
o8 = AGRH)T + R (94D + C

Jff‘ lﬂ31+2_ it 5> rQ:‘E
S = A(e) + Bls)+< = c=u

-{E't’"l-'-ﬂr"l

AU i = H

19 =gl e
::"ﬁ-:‘”_.tgl, | = AH —i"z.*%ﬁ— C ::]? l_%_.—-L{

= Ty | =] -1
i— At - - i .: £ L " |
(& +2) i ($+2) 2 (5 t2)3
<AFE - Bk
- e _ 4 e =l - L= L?

PCe) = i,
(_G:(rgj)n =1 Cmfs-"f'fﬂ)“

L 3€H €r'eL [

K A quadratic facker (@o*ybo+c) gies pp D845

] QO pbg+C
EA - ':jﬂc;-! ",L*} /5!
(D-2) (st?41)
;311 _ A RI+< B g(;jq?,,-r])t(;ﬁ,,s!.;-c)(’fn_:il'
($-2)Cotry  (€2) oty T (0-2)(stH)
rflz — fq(;si?+|)+(93r§1+C")([‘glna)




bet f-Zzme =%
Then AzshA+(BSf+c)ve = =4/

I’-"’j ezfuu:«, f"l'nj] Cen e ID-P
s =P+ R = Re\ls

Id
{
e o @= A=28 = ge iy
]
- T = = PP SN N B
R S (A R S
-2 o 2
(=2 )(8%1) . S04
S | |
/£ & i =l
=41 1o+ L £ 41
c? ‘,J_'I.'-l_ rgla_l_! \J _,Siz‘i"l
- | )
:-—1: & T — Log _i_.__-:_}—-__c}”q‘!"
> 5

% F_ac'{*c;rs t“f f} cmo’n;ﬁ’: ﬁ,irlc:{ﬁ'c-.»ﬁ (c‘h 512-'# b S+ ‘1) 5 hag P-F

Hrgl. + E‘i _ L:;S‘—]'D -
5 _ T Ln j“t*nf!ﬂ:t-l
a4 &+ (a8 %4bg+c)®
it ; .
E‘)(-'S“l. .:-'.;- (H.S‘_‘I-E’)l ; R
_2__ e R N 2 e T \-'\.rrf"\l?’{ﬁ 1‘:}'3(;“] f_{cacfbia\(,;}ﬁ;a,h't._
% " | ;i '
(G() =1 (fpbil+g) funchion
ex. Liad ot _Saeth
- o
Lol GSI“')(:.Siz'i'j)l
4 \
A0 K i B S4c N DO+ E
(- zys 1) 324 (241)?

. ,4(;1%.)'*,*(gs+c)(',s'—1}[,§rﬂ:)1‘(&5%5}(;14!
5 (S-)C9%1) ¢
= S 28 44 = A et (BS+NCS -1 (0% 41) + (D8 +& )(9-))
let 9 e = Q= |, Ahen |
A 4A 4 (BI+C)(e) + (DI+E)CO] = P = F/y
bj @ f ey {—mj (}acﬂ“'f?ﬁ .

b : , . '
dTr = A+R R = SE:G':2H+B+C+D_~,{>1}:‘_§E

@ o=ch ooz ¥y cTipR-CE ppa-y, ©

I
LA
_E?-



| | —1

H _ A '
g 1,2;5,,,@‘:%61 S 3 f S g f F43

(I‘p ) (.r‘{]?-H) ¥ i~ 4 :S? ?T". e (,S‘ 2-H.) 2
where i_l sl cay E&
AL
iy -4
U i LI 1 el = et e
O rp + P +sint
at-,. i‘g-:-r—%——a = i—f 1S QC__Il 3 & 7L, i'h.lrf‘ L in2
(§+1) ()T (et E T g > @
= }f -!: Q}5t+ 2 {__ “::mt
[hen
=1 [~£1 +2-I,S"‘f*i'f {_
i ::%_—— WE_(LLDS ‘f_h#Srnf‘)—*—fl’:}— +.cast +,_.1:5ﬂ
(81 (rgp i)i = 4

@ Lﬂ-ﬂf‘Lﬁ C‘J;\/ffaj:;)ﬁ
e - _J__{-— c:altjfee -:]o Ps ) ﬁ\' (Ut” mMore {'fr\qﬂ

that of @Cs) 1 canbe " wiitten as the sum SF fbiom
ﬁj—\.’ﬂ\{;‘i‘{&w\g erj 10.‘:;-;'\3) dAivicien

B ¥ " c,\.e_j-:’e-f;- € cl‘"t%."ée tﬁ
S meﬁ L S+ 8+ > f}(i@) _ C‘_\}(S]
rgla — E'J.{g. T£5
col- b (.«::ftj ol 1 i |
L J ,-‘512—"."3";51 +( g,-z £ty |
92 9+ I Crp 5 } : =+
; 11_ = I = > ., __H__T‘E;i' _F‘é
Dos {46 gt g
ukele  gos gg-m A , 2 by Parki
3 ey S T o - 7] rartio.
-84 +6 (8T-2)(s! =3) G -2) (5-3) frackon

(9 -5 = B(I-3) +B(s-2)
let fl=Zzo =2 fz2 ,then = F=-ArB(sc)y=pa_-3
et N3 z0 =523 sther = 3Rl 4p =pp. =13
) e - -
;‘f_ é;gi_:ij -f—f_.'}”_
S-Sy € [ - 2] (rp__g} @




'Tﬁe.r\j {_ "
e & iR B

% j_"__fmhs’-r-f i' [ | o+ &4 -5 ]

B g p o5y ;51+6

2t 3
- 0 - 4+ € +I3 €.

= 4 A
H W Find L L2 588 s

—— e —

D2 a3 30 =

Hnt, @},b_j furlj Cquw%;hoﬂ

Pﬂa _3#? +35 & —|

- 21‘"'._ _i.
8 [ g B, gt 5,Jr+3] :J: {247“_4,

@) iﬁ[ (;L»f'—n'J =@

20+

(S'-1)3

}



@ ﬁf?f)]l‘fﬂ;!—rgﬂ .f:rf— Lafﬁace {-ﬁ;ﬂg ﬁi’ﬁ“&#;-uﬂ .
WD P RGNt e e M R e N DL K
.T-Eﬁ Lli)\mtff Jthme«r{m ke u\_gc__vﬁﬁl v the fﬁuﬂuj‘ﬂj ﬁf’{:’}’*ﬂu{ﬁ:n

@ %GM_{}@M DE a r‘cf“:“lar C’J'Hﬁi""t”mzm"f E‘T"*‘L?&rbﬂf i Th Gnst. Coeff,
@ Sohibon of @r‘quy olitferenctrnl e?a@u%.f_r Witl vanables coetf

The L-T_ s wsetul 1*} selvin Wiear — orddingry i Flerential
EZ‘?»L::LHEMS Wil constant Cﬁ("ﬁﬁ"tff‘ﬂgf é’j Hee #d”ﬂ“”;;t/& 949‘}){&

@ 'T;akqi;'lj .'fl'i*; iq‘;ﬂh{e {Vﬂ?”&fﬁlr’m -ﬂ]q botd, 5;"c/f:—_c of O.D.E.
@%gjmﬁzfj:mgﬁrgmwfﬂﬁ?¢ﬁamﬂ
al VYe . JTMC{ 247 2 < 'anq L €184 .{:L R i w [
@J ]f_",rhcrj -,4—[-.5: I Vev e Lﬂﬁfd(‘f fy:wa_;’,ﬁ.rm @ﬁ F'(Si(_ei: r(f:,.
the vequied solakivn p(4) o

u

: ; 4
ex-@ b;]v’e J+y =+ glo) =1 ,Gte)=-2
sel- LY aby=L¢t Where. f 4 _ ,s.-f.m'mj_,njruj_j(u)

5 | = 0% 368 - g
> Yl -5 12+ Y0s) = pp b

. s 2
= 30 [3% 1] = Lo ra2 = ylslloy) < 2t

| = 3(8) = N s f,_‘.f_:f_'i(f‘_‘_@_ o 51?8ﬂ~2.)
' Srtn) sty aiieen et
e e, (0%} ple%)

| =% mﬂ:yﬂzi_m?TTfi;%z) -

T e, e P

| jn?ﬂ j_‘i i '—"i’ -‘_r-—i—_——-—-_._ __T EI;JL{CJ_M B . t- N {—

SEG 241 SN . L "”'5“*10 =1 G
| and £ I”-:(,rzzf) ‘—"!(l*ﬁlﬂfﬁ)dlu - U-5/nu It
1']_.&'__3__ :j_'h] 4! ﬁ—-} rsll ! = gt
‘ "'pl_'” rJ"?fJ' - J1 240

sl o T S L

| S J({—) = £- St + (os€ =25/t




@R l:)j Pﬂ'ﬁ“td—rhﬂ.l -ﬁr’m 4 hlu A ﬁﬁr

.

LI— _:,‘7_;. :ﬁ;f_%__;_rcﬁzﬂj
§2 (i) S o AT
palatp) tBG%] ¢ (c9+0)s®
L F (57°+1)
e;,ika_;r%n.j (@f";glf = f-?.—ﬁ"‘(rg?fdi-l%(rf'if) 1’*@5’1‘*3)3"&
,r! : © = A+ C
{J-'L = £ - [.25 ‘t‘L:‘b
W A . & |
CaT-' j :% :pDT_i"C:c}
I Dl B (L. & F-Smt
M2 gt ST
Y R A R S
e.2 Solve Y -z29 42y =4¢€ , 9eo)=-2 , G(o) =
So) 5 ) o
]o_ 9 e ,f_ 9 +1j. ) :sz_ @M_ here LY :Qz.j(;r]..g-.j(n]_j@
- ’ ij = 1 9(8) - §Ce)
L o Yy e H e
§y08) - 9-(=3) -5 %Eﬁ’ 4 (1) E%j +2 J(8) =41~ g
=%
Z = - \ \ G . :___.e_’f_{_____
ﬂﬂfjﬂ F 3 “:‘_9{;) 9 +e )7 §1-2
3('.-9){:571—3;4”1*&]:#—3 B d = A=(38-1(E-
G
= () = L) 2 0468+ 4T 28 _ “E&Id@'_
W= Ty (s ord) ONERD

Ej J,ﬁi}ﬁ.r{‘?ﬂ., ﬁ’ﬂf_r{—lcm

) § "
agaet oy A L F

T +
) (e 0 e

 pale-2) 4B 8-)(8-0)+ (L =3
T2t




A -3 074208 <24 = Ale-2) 4 B (a-)a-2) + o)
Lot fiep=d = EE |
Then  _3(i)?+20(1)-24 = A+B() ¢ clo)] =P A=-7F
et p2=e = g:2

- -2(2)% +20(2) 24 = Ple) 4B(s) 4+ C — il P
(oS Fo Jerm .

C.T : 24 =4H+2BFrC = p= 4
:Jgj" (38°+208-20) _ $7-F 4 4 1
G000 o) Fo) T

f- j(«i‘) = i +i*l—ff— ff:l -

i i1 -2 é}’—ziz
yO¢) = -7 & 14 eﬂz; L.

=3

’ _t | 7
Exfo Sslve ’?j £ z,lj "IH’FJ = e e 7 j(c:):u P ‘j(u): (
gl s

T LS st pudy = £ siat]
[r('rz_ Y (5) - ,ﬁij.(fi)';_.j (m)j + 2[@ - (1) —j/i.;jj + EL)’(:S"J =

()_ , TS p——
Wy 2896 +5 yio) o

[
= 3(8) ]| #%+2 St — 4l = ,‘_.__".__ 41
Piss I (f““)?“ Sr2842
a5 il = b ) gl p 42+l
= P A15k2 S48 (p +20045)( § +2£’+2) Q +1,ﬂ+s)(s~+gm

|

(5141)"+1

TRER G B
o yCo) = s
(@1 'Tirf‘fa) (rﬁ e dle ‘H")
s :}+2_r§! + 2 Hdl+ 12 i CAT +>

by Parbial Lok

(S%2542)(s%294s)  SH20002 0l 2045

M)




S Fr2 043 =(ASHR)(§% 2,90 +5) +(coD)(9% 2,9+ 2)
= $P (A1) + 028+ PC+DY)+0 (5N 1242 +2D)

Then 1 (58 +2D)

‘51"3’ i o = ﬂ.+(_ —“'\Q_J

s | = 2R+tR 420 +D —<F)

A 2 4 oz 6A 20 p2¢ 42D —&
a7 .- 3 SR +2D — &)

{f\fﬁ;\‘\ €0 » @& = R=-cC _ﬁé—)
v v =P B=L (3-2D) ¢
Sub . O,@M eq 6 2 €.

= -2(." f'—L—f'E 1D)+Lg +D = | = D=2{%

.f(a.tﬂ ffﬂ-! G - R s \_/5
Y

Fé Smla %LF’ v‘j\l"k‘e_} T.'JL ) ﬂﬂd g 'I-'l-"'x E‘T.'
2 =9 H 4+ % +2( 4242
& 3

51 12¢ =0 —@
Sub. &L.l@ 1 - G’- = C="8 ; =28

Then i il
3 3
\f(rg) - / ¥ == /
MRS SR I 2018
E ab =T ot s sl
S 42 042 D22 gt
where f:' e 0 .ﬁq | : i-_\ [ -_L_“‘l‘ f:
q___.-_._._-— iy —r—— = - — ool E:-l-n
At * T Paggellge ST gty S
~1 ' = -1 - L
LS
L .-—3"—'—'_'_"_' 3 i‘ L ] ; —;'—'— - = =3 L _._.ff_‘?;__.-. =1 € sinl
[‘S‘l +2 ig.f = 2% Arafpi-l+s (JI_H)E—F 2 3
"f._heﬂ

j(“éj ,_}_;— f" thﬂ‘é_f._;'_‘,ﬂ 2_{']
‘_(:i);_"’.{i"r Solve |, Find () enly
@ {j +5 9 Y :_{Jt Lomat
v - i
B "% = 4§ = eF

A=




Nof‘fﬁ: -‘);e L Pa(ﬂ {-ﬁms K‘wm mﬁ in 96'.“% )Eﬂﬂfh%ﬂ

when n > =1 and gyo is :-
-+ PL % ;J_l WO I O TP
i KA N
o L t*f?_
Nz~ watls ¥ E‘l/l rﬁ‘h‘ = AF‘: ——E

i
@ [+,

VE 1=
o [ '/Z i i+l = 2 =5 i__’li.'. =] 3!:_ ifa_:LJI."l'_;i
o
L i%‘ 4K | L
Iy el 3;1 g /2_ |A/ —3-
2 A
5/2
@ L+
n=9/h , n+l = T;—“
= 1-‘5}‘?' ! '-'i-,J'z,_
A e R A e
4/ s :—-% —,‘r;:(rk
— L i
l t*i‘fz L1 {\] % o
-3/, - . -3/
@ Lt o = ors el s ;14? R
i 8 i
-3/ y——— & d

= = - o |
- | f ' r i i, . c n+l= 3"?._.
& Q_Hl , we  have [ T any
‘ ‘f’i —— ;
P Lq | By ___:l_____ . ot _ r]ﬂi“—:__ =: _?_(I?
o Tsh 2dVe AW



Laplace Transformation (L)

Inverse Laplace Transformation (. ')

Name Case ~ Example Name B Case  Example
If it L
: : . | F(s) =0, B (8)+6 P9 0
. Linearity f(t) = ¢y fi(t)+caf3(E) + . o (1) = 2¢* +Ssinh 4t . Dinearity | . ld_h_; “ 4 gl Wl ﬂwmw_v =247
) property then : then: : wpedy | -1 e, P T | S
Lfty=cp L (it + » iy kg P 2 N E hﬂ_?u.l_ VR )+
Gyl Bl ) Finac Lfy= T Cy Lo Fy(3) +
L ) ) 5 s +16 e C
| If :
S(£) = cosdt, IF; e A
I3 . r=1 ey — Fis . i - S
, | Firstshifting 7. £ty =) them: , | FastShiguing | L™ (=11, 2 M
’ oy T : = ther
property |, £ fit)y=F(s-a) LleT cosdl) it 4 oot ¥ AV
s5+1 L7 Fis—a)=¢" (1) T o
g T R(E) = e " cosdt
R i " If : il
Lf¢)=F(s),and  we . L™ P (&) = £, .
have: o) = 4l -2)* t>2 . , them ' e T
Second e (fi-a) t>a] _ ? t<2 Second 7,71 o705 Py = Ll g Z.5
3 Shifting 9= 0 L AﬁLf then: ¥ [ Shifting ' ) . )
property L : o P fd=-a)y L>a B o 2E=3) t53)
the T h.ﬁﬁ_umjuﬂ 4 mm 0 u__nn% |,¢ ﬂ_ni
gty =e " F(s) s
- If:
F({)=-cosh2i,
If: themn: 1
S,  § g Ffey= e 3
L f(ty=F1(s), s/ ; ; -1 - _. ‘,L|uw+q__u|
g, | Change ot | ypen . Lepithangaddes | | Pewenr) LGSO then :
Scale § 2 g ~4 Seale N = ;
5 H.q.ﬂa_._:nwpﬁ () ) T S MQ\WHTML_ _Hm.u. 1 -t
’ o i B e B : (T Fsy==e 3 _
. < = $ 3 -4 _ >
4 “ - o




- 2:&:.3-5 2

72 - + Blo) f~~>-1 =

kg - &5-S .
= S L Lo _6‘}
55%5 G =5+
it Tt
= 6 — F& 4150
2t 2T
= 12 € f—te
FMJ L"l 25 5’6 +63 s i
-—35 -t35——t
Wi -,(5}\:;3 \ﬂma c}«umowv
e e & SAS o _a:.saixrzf
— 2 = (Q-f‘.' A1+
23385 38— Co-)°

& L5z 0




i _ Ifs 54
f({)=sint, themn: If - i Fn
-1 __.._._ )= i ﬁ.u, W 3
Lsint = .-h|rcmﬂ = L7 FE)=10),
di thers _ a |~Ig
(5), 5Ll D L. B i 7 lds 5241
g | LA ; L= ] s of AFM9=L—F)|  —t sint
ﬁ—mﬂmﬁwuﬂﬁm __... o _H__..u - ﬁ.f.x hrﬂﬁ,m,u_ . - 3 1 nmﬁﬂhE.Q~$¢~ _"H_.:m,
L () =] <2 _g2_
.r.......J.I._.__...._ﬁ:.U R .m_.u._..wl_. ﬂ._”:._ = |._” g H.__.. 1 _ ”-”|.._.”_ﬁ. m._xw. ..Hnﬁ__J
. - JH - = {.sint
G | _ ==
i e
2 =1 meea
h el DT | L Pl il _-l du=LN5)
6 LT. of .—E:MFQH L= ,.w.| 6. D% er =
. 0 ; - £
Integral s Dntegral i _. Flw) aﬁn% nwu__
M_.Em +4) °
i TF:
L FE =48y T If:
,..,\J . @x?ﬁhﬂ ) i . 25 = 1ad .
LT.of | them: | Loty S 1 7 I Fs)= 1ty e
f by t" 2 1 i THattiptica . =¢ost
qn T SR = By (s™ e FE =1
% Fs) = (-0 ) (s- Ep (s - Em
de’™ i
e ) If : If -
L I WEPS% L du LT | [P =fD), &
L.T. of L) =F1(8) £ ' w1 . , - H fu =
Division Fham s = 8. \ Eh\ the: L = .Tﬁ __L__:
8. by t = _ =y g CHiudsiary e { W fl
b ; Tcu H ._. Fddu tan” | > an mﬁxm_.nm n”_ L_WI_ F(3) _ '_'.anm\__hu_umx__..__._ -
£ % i
_ 5




T1f:

f(i) have period

.__U.M\__Ah|ﬁm..u”|r... ﬂ,|

Pne . T
| LT. of T>0,50 thal: By
g, Periodic | o 9. B sinh
Function .?J,u " fdt Fraction
Lfd)y=2— T
. o 1-e ™ - "
If
Lfthy=Fi(s),und we " "
Foce i u{f—=2)= .Tw _ﬁ <[’ Do . C
L.T. of ) ~ A._ f>a } . " Py
| 10, Unit mwm_u Ll — 1) = 10 tenl ther u . mmnx%
Function fhens [t =2)= g - . Bivision
hu.ln..__.:.m 2t




@ TF[E (;ama ﬁunL‘P&'cn 3=
TF n 7o, we e Einc: He jnmmc-« ﬁ»‘ei"lﬁ(““b*"’

\; fn fu éudal

e f—bur_wn.m:] Ae eme "MPW{fm(‘ Pfhlﬂﬂ"{‘lfj ‘&ﬁ Hae
dama funcHon

@ lﬂ(n-uj = N r—'(ﬂ) , N> 06
@ "y =

€ e R)] = n. .
@ r—‘&r‘ NN o w e c::f{-ﬂffu;tt 1"1(“) bj i ]: (:-rl}

EKQMPI-E e F‘}‘J

@ i'-_rl‘:l) = N =2 = n=y 7o = . i_'(:l) = 'l«,IT‘ = 'u.".':_tl
B ["(3) => n41=3 Haz2 30 = VB z2.[] =21
@J r" {_"‘I] ":{‘/3 i‘j‘f" =1L q“)»ﬂ:‘g ;7-0 "'-:f;"\\,, F(HJ — E’)..lr.{:j-:s“l:. :éi

EJ!"'(_'J » ‘j@‘ﬂlfift‘-{f ‘1'_1(,-}-;4) = HJ;_ = .F”‘I‘j 1“? n= r;’(‘,f‘i e
O , {/l L‘)'j ""is"ﬂj ["'n = ihj{:_:ﬂj -ﬁ:ar’ n < o

sy, and w2 gy o Ty e Ple o gz

@, [7(-3) = :_‘z‘ pontl =l w3 = -
CH_T(.—WL} => n==5fL rn+l= 3
- {4‘«! fES

s
O N T R . . :
[ =572 —5/s ~sfy V&

@‘r‘(‘*) pn=o ,n+l=t =jq 1T =
@ e gt . malse L e i
= n=-1 , n4l= =2 =0 - o

) MC2) = n=-2 ; nsl =1 =
@ J ! ¥ d‘_j‘?I_ﬂLZ:EL_P::"-"JJ

Iﬂ 9!""‘.\‘1{'?’:{,"’ l-‘f'-ja,):‘}‘:’ iF P any PE;SJ'+;1L=¢ Const. 1nTeges-



-

@ TRE GC&M& fuﬂ‘;‘[‘;'gn P

TF n7o, we cJE: flnc He jﬁmmu f-m‘tc-f-a'w;-

\7 (n) SLL éuclakl

"l"‘l'r'\ff f—ﬁlllxt;ww\?j MNe Sowme lm?ﬁf%"‘“(‘ Pfhlw{‘\f—(- r? H"ﬁ

r:'icn (aptet

@ f_'(rH-
@ MO

® ) =Jdx

—ﬁ:-iv\ﬂh

)y = n [M(n) A6
=5 |

i‘h{'r:ffl +1)

@ ﬁer N o we C‘J‘F‘E“;*E 1"'(,4) Jaj I—T(ﬂ]:—_ﬂ_—‘

i sl

E&amPlEEl"

@ Ty =2 H"2 el 3o =9 ATE 140" «li=l
@ [7(3) == N+l =3 =pn=2 7o = C~'{'(%):1-!—1:21

7] T () = N+l =4 =z o =gl )= r.[5=3 8] =6
cm(_—! r t)@,-leﬁ{f fﬂ(r'}ﬂ) = “J: e Mﬁj 1“? n=l, (% p—

@ M (-Y2)

|
n==[s

G IMe34)
© 1 (-s1)

@ I (o)

by ""5“1] M = 1 Par n 4 o

M

o) ,«]H:.‘/l =I5 ,‘_1(_{/1) /'f':a_ __2/

1 = 3 dl sy b i3 . A= B (TR L
"-_-{-'>‘-*-——2-—-;'T+ -/1 -i?} !f?_ e

= n=-5/1 rn+l= 3

ey < sl AdT o
e S g S gy S IR

@,q:ufr”-!:f -—-__;},'_L:I_-H

O 6wzt nsl=e vt

@}_'(-?_J = N=-2 ;, n¢l = =1 = =

—-2.:'!3_ - =2
_-L-

Iﬂ ﬁf’ilf.i"iif r‘f—P) =oe: FE any Pmsihi@_ @.1__5:‘ 1 eTHeg e



Eﬁ.@ L-_n:lcj 1-.LJ"x<—: i{t’:’;tﬂ‘a{ Sc]!'w*h'@ﬂ Qﬁ the [j,‘fﬂ &1

%

. . ¢ : /
J -39y 339 =9y=tc e , Jl)sl,Ye)=0 ;)=
S Bowndary and Tn u,‘ “’"’Ji_
_ | P % 7
i’j = 5% 408 = 829(0) - 8,50y 3 (o)
f—% = §5.908] st 42
4 | # _

§ g Ps_!zj('gi) -8 :}(Uj - ¥ (o) L{:? EL‘ _ 2

LG = st 3089 - 8 (-1

Ly = & 308 ~Yle)

i)’ =P§‘~j{r5",}—.l

,’fT/l(fﬂ
yﬁggj,w+1_ggzj*+39+avjm}

3&%{&3-35”+39—q =

(8] = =
\;—jﬂ\,u (11‘-"—'-)3

B

= 4 30

5 (;5") = (—;j_;}—(z + 3 ;p;fj j i :_ t}i::')ij_-:;‘.‘:}'_'l
4(e) = _Z +@WUWML__MtL_L 1
('9_1)& Lrgﬂm)l (8- l) (3'-1] (,5’—1) (,s'raijj
= f-h] j(rf') =298 = E—L~i5'~ E"t-r L‘:‘ﬁ- I A e /2.



er {u) Fined the 3Estfraf Solution of. the d’fﬂ&f

¥ 4 ” : &k = I 7/
Y -3y 235=Y=tse , Jl)sl,Je)=0 ;Jle)=H

Sal ] - 7 Bewndary and in h"'*ll m'\di_

4 - : it z h 7

ifj 3 vy ) _S'Zj(o}ﬂi‘ ¥ (o) -gfﬁj

f-% = 5‘3’ y1&3 ~ 512
; ; _

£y = 8%y00) -5 90 - ¥ (o) tlele « 2

L4 = s.y08) - o (1)

L9 = & 308) - 90

:f_/j =y "S‘Lj (rsl',} = .I

ﬂ"fﬂ
SH ) 32“2/(\.5‘) +3 8 + Y] <3 Yol = 2

e —N, (A-F__IIJ 3

I | OF 30028 ] = e 4 30y
By e lify - I]d s i __V:Sf:_gg,“ _ g
A N WO SRR € Y 7) ey Al
: (S-1)© (93 o (02 (1) -1
4 = & A @-0°- o) v = 2 . L4 d
('541—1)& Lrgﬂm)l . (rgl_I)ﬁ (3'-1]  (5'-1)? (,Su)j
:f;j’_h]:j(,sl) = Y{+) = L ET o % (:*TE_ f.e,b_tl,ejg,

¢



| @
T‘h}f v ex” ; = r::u'\ %V\\j ﬁl'\‘:_:-‘xsh

S N e T T T

e

S lu_J(TE A e f Fleki = C‘ "”""?—ql’/ e‘rw‘a}f&;ﬂ

@ = # (J/afi :[_'/—er”&%riffe mc—:ﬂLAc:.rJ
%

/—Q_g-‘, M@J’?{ﬂlﬂr’rﬂg\ =, L);:;\,;E:_’F ":‘Ffﬂ Meﬂucﬁg EMP I'rﬁlj =y
rﬂfh‘\u Hu.‘ "{‘Eb F‘{“{i :':,l ;C_’Jr ‘Hﬁ ‘{::;-.r_\_.{- S L'\ oL -Ifa-{-l%\l lC\ Ty

be t-‘—"jf_:\fa 1%\;;& Fae E{Mf”lcﬁ‘_ Uerative L"’Qj T&amnj;;«
the Turclion €00 =e <. Thett X s one Wy
\f-:‘f\:-"i(‘ = i".,xcw\*::}l E:-‘i‘:i'f_ = ¢ '—F&‘t‘ Q-z\‘uxq:!ﬁcm B )

B = %C“ﬁ) ~ - —®
_H\Fﬁs "E:Yﬂr‘\'air}t%f‘ matten  Can iof&“_ Aels mpﬂg ir\e-:_f eitleyr

]_j
Ul"ﬁ k?_.\'l“fea:u S ey E\l‘M ’\Q%Rﬁ ¥y c:; T | l'!-:nj 'L_E;'-. Mf-" ]l Ckrjwl\ ;J b4 \th
\C"ﬂﬁ\ i e ol 'thﬂr:'_ SaRe ‘tjﬁ,#"«ﬂ._i h“«:":ikm_uu &

C

-5_11;{ En_‘:-::-:\m?‘»'t J }kz' -— LK <" s

- I,- . - | . ) e
=1 e r.‘_.}."ﬂ"ij—J}‘-.j m.:,;.mJ}_"]Lt iCL_»LQ(_./ "2;_"23 y .n"'f-'_-"_llr@/- X T > Tg

wheres ¢ SinX = e

2
LA:JQ\-MEQ\[ L:.'C-L JDM.{+ J”%\Q T—LE ‘];fm
r:;f ‘€£T_@ le Cicjcz[hj.j X ..L:_., 'Imj—t},\ El’;:jt‘?_ﬁ; _]LQ j"l;e_lfg/*
X = SN 4+ X

e tiliy of =@ = Fhat i provid

el A
..ﬁ_@{' '!"\,-’\H,,'L___\I:I\‘ *f‘: P“:E_J\CF{: Cx ‘Jﬂ\u-(:“.._ 'ﬂ:’f ){ QAsS o "E;‘J-.V‘Iﬂ:h:ﬂﬂ
& A ’J }Lm 5.

) ) Rr\..’ €N an lljr"-' i'lLYC'*J C’\JUEEE ‘—'d‘ _F‘Lf:f‘ ]'"(Etfl"{:\
\ =

S b O can e m.c;.s‘:cj T Comp

- ﬁd"?- a V€
ol J\‘ﬁuﬂ c(}\"E__ x S ba & E‘J{\? e ‘SE'E:?,_F_;{ b ij _lfll/\ e I‘L(Q:ﬁ::d\[\}e_
- s



'ﬁi—"’r"\”&"'ﬂ«kt S 3(7‘( )

r‘tk
[:ﬁf”d J’[l"‘? (\?Uf@\um“rcl S op -ifgg —H\Ig @\uq{‘{iﬁﬂ ;ﬂn
o gle ErﬂﬂﬂEEJ U e o
ﬂe’iw}mﬂ ftj +He Y ey ot Lc, ft”wt :fij

[ #]= /’i“-ti«— [ 1o/

g s simple Thoative methed o lede Hhe
'r”l.‘l..a—t_ af- f[‘;(ﬁ ol R G

E:,f._'_*;.!-‘_ 5 — 2 E
£l For i SAK) = x,;-,; = 8
e . 5 iz ] ] & ke 1

( Wi [e]
& 3
| | - QO jce
7 & 36 FR2F9 1 5H.&
=5 6T 22 A 7
4 e e 28 2
= o GoeZ 4 e 2007
& & SHTRGY (12
Ex S F6(2 59
P o SElS 348
_ﬂI @S F 43 ! A2
f"f" S 642 ).
z f{ |
, |
£

The e wlue X = a5 242



@

CC*;'Ic_‘J ,L”"[lﬂr"'-" e [i ':::Ci')’i Uei’:‘j’iﬂcﬁi fJ:"lf‘.J‘ Cl;u&ﬁ(?ﬁf&

ifﬁf = ;‘ﬂ o / = I TLE' I”CL’!_?{I:U’]' ME.%La CA

i e i P e
The iu\j’x ctan X 3 - g C\& j tes Cen Verfe
4y .

:M 4 e st c£ied )S:\(?{.)] < A4
/ .
3 bor 9

:j.ﬂ__'""ﬁ&)

=
X

> X

h %, ;
Civefoente ases



B2 iw\u 4. &” af_ BE, . ﬁﬁ_ju%%libr’\

;2.>g = AL R k_iSH’j f—}.e E;;;M,-- }Ifi
f'l[ff\/t:&_ 7L| Ve mg‘f"}/\& r:_-/ :

Lo Traed e bl wlee &t He@uton X

we  pay j{i" ﬂ‘f’:‘—i 1’3’{*\ 'H» oot --ﬁuﬂcj“r-':m £

Ehen o = §G) = 11‘3“- K +=2

+ 4+ loe

_1'..

(f(ﬁw[ = 2% —t> The so lutisa
S

o c : ._ |
| I =< } g Conveyaence |
N, T : qence
{ X { Xc?f |
]. oo o SFiYy

c. 2932 ©-292.9
R e O N L |

Vil W — g
0
o
™
0
i
=0
W
A



¥ f{_& -r.ﬁ;ncj ir"&f "lf‘:*“'—“-_{q
5 x ; |
e g2 £ = 3 T e sk
\ i b:?f" ﬁ!!j‘i}khf
} :1'? [\EW' :%__7{ : jf%
[ heye L-"r J The E:_E'C{ML.E'I;I A g7L Le Ckrfﬂje
Xor = 3 Exy
(41 {f"v' E‘_X —'III
LK) =y e
Art < e A B3 g
F y\;" 3 L _L‘_ /Y—.') A ZL._.
.:_.- 2
\\[_(\ \ = < S He solafrom
\nﬁ(?_] \t 93533 N\ ‘s e
L >\/f 'Ir\‘("f.“-rl
G |, 000 l-35F2
'|| /. 3542 PN SEE
. /5636 [6a%3
= /. G423 /=G£J’2
- LCAEF |- feZq
: |.F 024 | Fosh %
Z f Fo5 4 L. fo%k :?ﬁ:l%_%]
z | Folk [ Fo 68
@ o TRES | T



ﬂ i*w'\c! ‘[C'Le Tﬂﬂ_t m'{ —M,\e_ &ﬁlm‘?&‘;ﬂﬂ o= GaR N
UWsine  the spmple  Ttevation et

{
Sel. By = K Cas X t= Eg.r’m@lr\ _X__;?E]
e cj‘::_-_cl’,:‘; }(%% | ;A= G- - o
i LH t
=+ T = - =iaX C:t :‘2
K\? (““-’)11 sy RS T T =0T
2ol = o BUY <O of ‘he equedion X=@
\ | Wi\l ke Guavege
/ .o X{A-J
o £ Lo [.ge
| ¢ ey
A c:u-‘g:‘!-l Q\QQ:
2 6.86 6.65
A o 6% o119
e & 0.7
L o Fe o Fb
1 oFe  OH
2 OF2 8. 5
19 0 AS &g
- A HE o4
I O FH 0.



O PR e _
| g e 2.]6¢6 -
="
7 - P 18 r[;77< o
2 W | o Dl EF
4 Fe &+ e G [
eX. ih\cﬁl e H"‘ﬂc’:.'t Ezﬁ ’&L‘E @\m:&‘f@ﬂ .Z}(.b—mz_?(j1 =5
Slavt  With Yo=o. 0ca
%c‘[ Lef : we ~H{c
- S » ixsf S FW =5 (22H) «
= fle) = s 348® < |
( K Xiﬁ+|’
i SO ﬁ%%f{
| 8.8 F, l-oes
2 fees.  1oTh oo s
3 [ eq4 loqs
4 (-0 78 J.698



@ N@M%@ﬂ - @mp hSon me”}'ﬁmJ
N N A I T o, A

Lﬁ'{'_ Sﬁ‘:ﬁi] = j A
USrg [ ax /,_-_-.r SQ{{:E’E me’{‘]xao/
j J ?r.
2(:@) Pr_k_‘]
POy mm = FOG)PN 70
3 ﬂfﬂi‘) )
JEk '_&TT o e
Yo mave accuraty - ST KR8
fhen —=> ﬁ(}(t\) 4 AXC ﬁ?:al_ 2
—f )\_‘"“\?{L . qu) _
Bl
Ry =g, Slakg
il 320

Ca ¥ /iCXA'.J

——

ex. Selve the fg(aujxij e‘}wﬂfﬁw Uﬁmj NewFzn
JEEJDLSG.#\ mﬁ.fiac:]

| s
_%_[L' = ﬁ'&)l“}%‘+1 i f@):‘*ﬁ/x?
._j%:) X{;ﬁ = Kt“ = M
et
) | ’
( Al 5?—‘:’(&) ﬁ@(:) Kt
o —0.Ste ~ 600 —4.000 _o.Js0
| —o.F50 —0.333 ~LFF+o  _s 937
2 ~0- 937 _6.007 ~LI3F By E
2 _o.997 ~0- 503 _jeeo |00




. | g fE"

qu’:’PhﬁL“ﬂ“ o =Special Eles S &
M AT i - !EE-::J._ {E."r l’\_ﬁ.c:v‘"k ME'__H\&Q,D
M

@ = ‘f\_b‘\g}\fﬁ'_ Yo ~ f =

let nye =Y number a4 x = AT

=7 XQ'_ l=o = 3?—(}(_) ¥ EC)L) = 2 X

then [, N-R-M
2
rl

€ = o At lRe]

L-ff 2 % .

\ ]

B '3\:‘:(\::} He_ ggk_u.m’?e Cuw &g jja! qu';/\ﬂ N e
Raphsarn method | sharting With Xo=3000s
<

_é_l‘_- n=Ilo —i >< i ?( s ,_u
ity L 2?<{:
LF & '-\*{Cac\
/ 2.0080 ‘.66 L
3 = JEE - z./623
= 2.(6273 =843



@ Roots =L any ﬂer:tﬁfYaﬁfj aycker

/ —— ._
F X=X
! ]
== ﬁ@:) = XK Jhere n = any A ooy
K = ) vwalo
-E:Leﬂ L:;j N_R._ M ) rmLejaf Nk &F
Kp=H
R, o W om P
K X

K- CMPM{_@ f\/——;”j 'l.a"[g.f’.ﬂj MW%ﬂm IQC‘KPAILE.::ﬂ metheol
S‘qu'tf—wlﬂj tvamd X5 = WS

FI’CJ\ 02y -

=
A=+
“gf"l" ﬁ:q:]L” = —':F>><L‘.:>(Ln—“
gl

2.
3 X,

, Lake an qCC‘qucEj =iy

4 K¢ Ko

/ /.S 0000 2.0379Y
2 2.3k |- Y2031
= J.qRszdy KRIZ29€
A [.91244 /- 91293
< [.a] 29R . 9i7293

-
= X =/.9129%




Let X:—|n— — n= :E?’—){CK):T~“=¢
5 P e L |
s ATy
Ly N-R.-M X o= X = —
: > i T (/a8

e Rind the eelproad oF 2, usihy Newton
Qa\rﬁhfa.m mETLAmJ fg-lnv’@rhj qu"zLL X5 = o]

_'E’.&_l' e ::E>>< _ >( __<F}<:.r_2)
et L C'- H‘/}(i‘)
P ' 7(4} : .
_r::-fﬂﬂm o R6
o .| oo a2 4¢3
2.29C2 o.416
O L6 g.4 BsD

o-4852 ©-419%
o.499S  ©.499a9
o.4999 24949

ﬁmt\uN'—‘ﬁﬁq.



P{‘@ o lems

O By uomy simple Theradion methed ) fin
e Yool a-e- "EAE_ :ra”r:}u—‘vﬁ/\j 'EDILI@L.?FI\EW’IE

4
@ AX = ¢ use 4D  , Rnas. TK*\——'_G%S?—E{
@ 2% —3W,, «
e - X = e Use SD , A ¥ - v 00833
] B
g JoX = o e use 4D, Bns. ?ix:ﬂ-aozsy
s o M Use 3D , Pns K—c.
X o) M X =o0.012
D Tnd Ao vosts (Hwes orly) o8 the falloy
fi‘“'u_o«_%\mv’\ » e g;l*’kjjj(f' I’!‘Ef’ﬂ'}l—f&ﬂ Mf—f{\’@@r

" o x
’2‘_ }:PL = —-ﬂ-i.i'.s'
= = % =8 Hie 3D 5 fﬂ- )éﬁ: 6. Qe 1
- ‘ - )(x = B0
@ Rnd Hhe .. ot of dhe ki
2+ -3K/2

e . tant = <
@ Cin o tThe smallest P"ijtt'va Non- Zeve Vea T
of fhe _I_:; f[ous f:? eg M;{M

0.625 +0.2 X F e 7
- s — o8 r\/ ¥ 0.0/q( =09 ¢
0.625 pEaTx C.oveg

C,»-'S'f';:j Ng,d%unﬁjeq'p)qjan Mﬁ'/zzt@‘ﬂ/ '*UquC(

a.CC UV&CS 0. 00 |




&
@ §5'flb’€ {'ie_ -fc:”&ﬂ:«xﬁ rlan— Ctﬁeqr d’kﬁab‘@fc. @c[mgﬁar_

‘1—5 rﬁ;“nc}-l ans ’E_EE:L! Yfﬂﬂ.{_\ ﬂi 'z:'ﬂk'.-"'k}’\ - 2 ‘z‘Cw](’] K==

@ Solve +e Q{Iaw,‘,ﬁ Ner _ C:V‘ie_qr’ a{jebr”m[r:_- LY uattan
{—e —-E?/\C‘J' oe ‘{‘Ec-.hl'l fan Zeys Tﬂ&f‘:

- g 3
_ . =X o
ﬂe@"\h = v [JS‘EC ;g ){3‘ e /ﬁﬂﬂ J = 2

@ LW ‘Em;—budafi Flo v of ﬁ-[w‘c/ e SpasTy
Pipe , tlhe fo H“‘*‘*’;"j velatisnm existe be Fuleen
‘H\E_ f‘f’ -ﬁL‘Frﬁﬂﬂ ﬁo\c Jr@r C;E qnc}f ;’Q%nq?cf!i Tunn Loer‘ E&

r

T = — 04 4 ). F .Qﬂ(er(\fc_"F)

A<

C@MPLL‘;—Q Cf f—ew ]&Q: ;’og . Ccﬁ“i’éc;‘{” Jesy ‘3-;}1
Cl(‘fff_:ml\ quce_g

@ Dedermine. the smallest Positive raat o f He

el e

Sin (6512 t) — € e

@ (';C?} e L-{Er:’Lj ,.'f\f‘}-ﬁﬂ\j "[‘C””\" ,"fa‘_‘wf}!’[ SO, Mﬁ_f_l‘\&d
+He QF(@L@;Z\«j eﬁw{_,, DA

F /e lo0
H. 5 kéEloo [1 _ e
C

,4@@:3 =



Special Gues of New tonm - Raphsoa wmetlod p

@ S c_l\ﬂ\)& Y & Q_Qr;r\ fq;u-f/«\{ . ,}.é; ;,-L_,s_'k
& .2 ~ =
Let Fxy=e i BiRl=R -8 " 3ﬁ%vin
= ?(':{\S'"‘ - )(1__“ ' -
PO _ o )
4 s e —— —
Xew = 0 7 R0k Hip

g g =< | L ik 7
Y4 2 Ar

_1;__":_. T"f:-*qu 'ﬂ\f"’ Sffuﬂv“(-* 'fﬂmE f’ﬂ‘ 2 4 djf’l’ﬁ' N-R M
g;_m,,f_]ﬂj W:?LA 3 A4 4an r}r.-'%la,f Vodtierg

- Xr’ ){ffn‘
\ 3.coame =4 6(;;@- -
2. 2.l66+ B.UL2R
B 2.1£28 =z 1623 .
@ E@E:—E—S & {J_ Pﬂ,ﬂ H'ﬂ'-L‘F *‘_ru\"—j (;fnofﬁ'{"’ c;:;,.,;'p %HJ{_Q
| % o
[gj‘ rf;{) = K == B Js I K
e {;S'ip_—ui kl
X = X, — _Z(.*"_:.'E_ L t‘;"}" 7o
| k3 _ el .
X, =
. -k .
A Xr+; - L|“ ‘_F_I Xf’ + —g—— )(r f.fr =2y 3,4 -

Ll l", ?j_,,_ .

e - [ ;_"j) _-—r.'.T :
Xo=hS , tmke 5D places J 7

he @ o Bls ¥ ¥ Av /{ff-f
f hSoaas 2_03?—'6&}& s
2 2-037ey 9203 ¢ } q/2
3 1.92034 J.9/296 1793
T2 S T2 1Y 5N R {3 i !



4
C urves Ffffmj _
W
Chne way o do At the datx s de CGampPute values of
—Hn,e_ —J‘-\Av\cgﬁom ot o !.rxum\oex‘ 455:_ Ql'EEC.TE..{"E. Uﬂjuﬂj a\.lanﬂ o177
Tﬂﬂse c:ﬁ 1 ?Ler‘es‘fhﬂen, o EIMP}EK —ﬁMﬂG'H%V\ Mﬂj be c:lE'r“':bfe:]
+e £t Pese values . Reblh of Haese o2pp Lcations are Knewn
Al  Cwrve -'\?-:-':L-;.f\ﬂ.
i e NP A

£&0
A £G4 o A

X > X
() (b) (<)
Thee G\“Hi.“e.m(:x% e Bit a bect curve "Cl'f-fmsﬂl-\ Five datm peints
@ Leagt- Squares ﬁejress}en (D Giaear [”+efjoaJ¢—E1'gn @ curedliner
':“{L'Upmlm‘wbn

=
X

L Eﬂ-&f - S Cf uares Rej ression
L S s G e e e

Jinesr Rearession
r.,__,r"_‘-—-—\-.__.....___;-—-_. i P A

‘““"’ The E;.Mn.?"l;e,g’t exﬂw\?lg of e, \Ep.sjﬁ'-ﬂaqlum?s
ml?]DYinmaﬁﬂﬂ vs if“H_n‘j = Effﬂjj’l'fq (e to o set of Pq'}e"*
@E)S'E‘.T‘V‘c.t‘[“fﬂﬂﬂ B £le\31\) 3 (}(ijl\ G B o (-?'\"\Jje\.} JEL\\‘.:_ W\G:E"L\E:ﬂ.d\.{'l‘{mr[
E}(F vessien B¢ the E:“'Wui&kt‘ ias 18

[ T e e

FEZUG+CL}L}



De.vlah len — o = N A ’iol/u/
X ol
b\-‘r‘lr\&fﬂ l’z //IJ'_\.
Cﬁh = 31 -3 = tjl — -ﬁﬁi]} -
bz oy~ T, =y, $06) Ll
d“% = ‘\33 _ .33. = :j":. = _'E.EK53 #*
) -
i A M= No. of poinbs

Now we ap!a/;‘ecl to minimize the sum of +he SqUuares

of the ves;duals between +the measured Y and the Y calculated
with  the lmear mode|

__ﬂ:]_.. 2 r‘::" — 2 g F .3
A %'(‘jf— j‘.) - é | (;j; - qﬂ—th;)
t=] b E=
+o :g’“‘\“':l Qe , o, must —gi e ———._.S = WA AL A M \Miweg
Then, ? 2o,
2o T2 (ymacaxy) =

35% = -2 = i(j;-%-atx;)x;] E

S s
Now | T“Ea,ll.zmj it iqﬂ = Mde ; We Gn express the

eﬁim‘["mns ot o set aﬁl ‘the, Enmﬁi{“anﬁeus L_mf-_u.r &iucd-:ums w\ﬁl\
-[:V-J'ﬂ \,M\k_nqw\'\g (_ g mt:lL Ct._)

NOe 4+ q (_2_}(‘3 (—i\j j there are Ca.u-e_n{
ix ) tThe -ﬁnrmq_l
( ) A Ay (ix 7 (ix i ) o4 Uad'eny
+I||'ﬁj Can L:{' SG'IV'E.CJ
) B Yo BT S o - Z Xyt o R ST w2 R
m Zxf - (%) L mZx —(Zxy

{2



eh. Use Linear Ve%f"ess}sn +o Rit dhe f-o'l'lﬂuuu'rmﬁ ﬂxlaar{menﬁf

e o

data :
p_ | g A [ b 9 1 | 44
R 2 4 4 s 1 & 9
Col
let 3§ =ac+aXx Then m= 8
: 3 . _2- - . 5
{ )Tl. \\jll. T! Xlljl 5 i‘j, -é_:’ﬁ-,,' '_2}{; -ix;:}'
1 i :
- > 2 K . m Z. X ~(Ex)?
3 4 4 e 16 - a, = Ao x524 ~55:.rs.:i5ﬁ
4 & 4 36 24 E¥524 _ g¢
- s = 64 4o =+ Ac= &/l
X 63
= ::]f . el aJSO mi};jf _-é'xfé—\jf.
s 2l 85 o= >
3 1 4 b, 19¢ [ B e -(ﬁ_xf-)z_
-5¢ w40
= 56 40 g4 364 = a,= Sr3é-stuie
Ny g — ey gu..gp_;_i ___5—-6
= @, = ?—/H = -5-:_@_._]_1)( or ”3..?3.)(:5

ex: Fit a streght Uae 4o ¥ f;@uam\j ek

s S 2 3 4 = & i
M &5 25 20 46 35 6.0 5.5

gel, the fe“éwf.—}\j Guantites can be rmputed
m= F ix-"‘j;: I\q.s , 21.%? =l4e |, i)ﬂ‘:-'?-‘a'
=Y = 24

Ve oo = ©0~a+lH2857
A, = 9.3392.55 7

(3)



Linﬂnrizq:‘:!:sn a{; nﬂﬂ[l-ﬂear ‘:’E‘ﬂu'{'fsﬂf.;ﬂ:.fbj

I_u:fxmr t"earﬁssfw\ Fravfdts =Y pauﬁtr.ﬁul' +er_fm|'cfu{._ i:e(- -}D—E‘H‘}nj
m‘bts_‘f Ur’\t?_ -'\-.5 Qlu:.u‘]f‘cx

oy X
Cate @ = EXPanen+1’qf eulug_iﬁ'arx Jd =20 &
ey ,T.,gn‘j 5*“
Lny = Anae taxbne )
i M = Lao, + @, X "t:"]'at: Q) X
= S = ety il Y=ae &
K a, X
b . -
- 9
So5e @ = Pewer Squation Y =aoX
then ay pegy Al

'Lma y = !ejqnﬂ- 153}(

“153\3 :\&’3 Qu_\.o\lib;lx

oge]

Ca5e @) => G rowth - rate equakion 9%

J = g
e R BT -
_-7‘7 a Ao

X
a, + X

o 4
Ao

Ao

L > Inver %w/\‘j
N !'/ Y I

£
H’T‘S!Pﬁ? =
e

_?-
I/

(4)




X Fib e date i the ;ﬁﬂubw;ﬂj table Hif:“g < lczjqr[-{-%m{;
Lrang iaf" Matian & 5:— e data
P i \ 2 = pa &
Y 1 & 7 3 4 S+ 8.4

f‘?j‘r_"_‘- ]cﬁq‘rf Lhm\rtﬂ *vans %fmu:kfgn _'—% G"PPf'Q_QJ -?cw" PO’-N’*E‘_Y" esf

o L3 zation
3 =ag K mai; e ]ea N2 ]aj Qo + G, 1051
Fhen \/ - r?to +@ X
A ) 1‘:’3 X \ﬁj 3 Uc?] ,x)z logx - leg y
| oy ©.000 _0.30] o.00 a.00
2 Vo B a.26] ©.226 ©-090 o. B0
> 3.4 o.4¥E  0-S3y4 9221 9.254
4 8.5 a. 6oz 0. 15z  ©.362 a+H453
S &4 ©.699 6.922 ©-488 0. 64l
E- ) 2.67%9 2134 | 6F .42l
w 43l

2
é—fﬂ‘jj -ﬁragx _2[_‘3}{‘%_‘[”5:{'1613 . 2.134 “1.1;1_2.::':!-1
i é— Iaﬂ: - Li. fodx)l S5 x |-1éq' — i.a'q_q?"
_:? QD = - &.520 :"ﬂqo- = d,= o413
5wl 3l ~2.099 x 2..13 4
BN S O e ol
5 & LI6H — Z.r::?{-qlz‘

the A, =

ale a m. Zlogx.logy = Zlogx - 2 legy
j =2,
N Zkegyt - (E )
= A = 79¢ = a

) 796
+hen J = 0418 X B -f,gj g ~60.32 1“1'-‘51‘16'[3’{

(5)



Po!\jﬂﬂﬂ"l;bf E@ﬂ\'ﬁéﬂfﬂﬂ

W

Let a_zqc:—i‘c’nx +ql)<i+ "‘*“‘f‘q"'xn
5 =2 TyE] 2Dy ettt o]
= g s ; ! i
#2022 [hnmakioakie e an]]

i
DG

= 28
DAy

=2 AR m 2 Tl Gremes dm NP & mecaiy (3] =e

F

E B 1:}‘!'(31- -dg - a, A: __qq_}(;f"_ e qﬂ}{’})] =

-a":\g__

\ 13
a8 n 2 "
-_g';:——li]}{{' Cj:"qnﬁqi x‘f"dz..xu' S ‘)(\J] = 8

then

%M—rmix F R g et 8 B 0 ij

aaix;—]-qfixi —}qzéx —+ e C"nz_xﬂy
Ao 2 %7

Cls | \-
= ﬁ% +qﬁ}< +Gf‘2?+z+____+g gy | ixﬂj
- {‘: v Jl

L . .g_,\‘\‘ = ﬁﬁgaﬂd, W&Ef FJG dnom;m\. ‘jl-c "I'rlllﬂ.f.‘_ i::}xak_.‘Lt-ﬂ\ ":V\ 4&_]“’\-'?-._
ﬁeunﬂ[v\.j —kan}bte. ¥ o X ) 1 1 S 4

é!'l"l. -ﬂ:qh_vt.a‘\&_*%xl F R B | ik
'\Elﬁm Y =i

5
13-6 2%z 40q ¢

;) e G
E R mje | = J=l1s2.¢ |, g yF=5c , £ xF. 22
i%;ﬁ =979 , Zxy,2585.6 .ﬁx,-z-j,- = 245 8.8
:?

(6)



= @ G, $iE o 45549, = 152.6
/ST 9o +55 9, + 225 a, = 58S, ¢

S5 Ae + 22549 +9F4 a, = 2483.%

L:\tj G e gy M{-:,'{"'L_a cJ

As = 2-4?5_“;? - } 5.
A, = 2.3 5929 => J= 247857 +2.35929 X + 1867 X

d, = |.8667F



D Cothar @ ek gy

Muuwﬁ_(“\ C'MJ\ Aﬁm‘\xﬁ%{ %
F:c:u\’“ Enjl”l‘"{ﬂ;ﬂ
@ v Fnd Hhe Laplace bansfome < He folhu,
;Eﬂ"’ﬂ'c—_- F_THCM ¥ j
O Goshat . Gsat @ Swf-ebt
+
@ ikt .
- @A) =4n (el +f-_;)
(E;’?__ - = S _;_/JIEJ I~ﬂ verSe L 2 fCh ce Hans fef’km Gﬁ ;
@} Si'g'_ E @ . ’;l_rﬁ‘]"l(
442 40408
_ oy
& — > &) 54 _
4 ) (1Y o
( i) 7 (g-1)
ﬁ 1 / M Ll
@} = &4 é‘] E'rfj_j_if%.._'ﬂ_j—
z 5 g = :
(_‘,p,z) (r'-f“‘z) (;L"IEH)((H'Z“-?",\{T#LF)

qu = Scﬁ]v’f‘i Pj Lﬂjﬁ}ﬁt((‘: fans ﬁ‘:‘“”f'ut’:a"‘ mﬁ'j'ﬁl.c-'ﬂ/ —Huﬁ_

| J{;//ﬁw"x:qﬂ D L |

@ /:3 s B 3 Y 1*3 = /-\ 3 ah\fﬁfr\ ‘H\r_{.’f Cj(@):—% j(&s): 3
. F:(;K = fﬁ & 2 X = 20 514 2t "dilf‘ﬂ X(o) = - K{-Q) all’
él o = /

4 she j T+ = T B E_J)w"f’ﬁ H’\&l’l_ j(c’): | ¥ Hle)i=3
VA

3 .fj + &Y =L -6t IP MOERPKTO RO

; 2t

@ (J _}—le _1f_2§j +1y+j — éf (jj-t.t'ﬂ /I'kq/{_
(o) =5} = o) = jM:

e 4 _ 1 , ' |
;P 43**33:??5 B3I TF yal=l, Y6)=2 |



Colve 1a sevies

O ?— Xj + %3:"3 @Axﬁﬂchx {y=o
@(sz] ’733—1-}(3-*3:@ @j+_j"——“<j

v ;
@) 2ax(1-%) j+Cl Y433 =° @ LYrex§- (r;x)ziw
B 20x*+x) Y - (x-3x95 4y=e @7 J-Lye gy

P9 -

_.-—'—-_-_—-
s

' @ L—*I-;f\"\j ":’::er'?awh;jn'qn 'ﬂﬁ Vc&r;‘quf‘g MEFM@D‘{; Sﬂ}u"ﬁ':

2
Bk L 24 4 D%

@ 1 W : }J“' :;ﬁk
24 DL
o s Sl z
Hex- 2= x 22 =0

oL 29"

- .



Farbial  Differential L.
. ITntrocuction

2. Wave equation

3. Heatl Comcduction *one.dimension un::f-eacf-f"

4. Heat concduction « fwea.cdimens an sﬁ-no‘}* L&F;ﬂf_f%
Es}mr.'[-.'w

uatiens -

@O Tatrocuction
J‘;.'Er % .Hﬂ{*rﬂﬂj -::url?-1r -f'f:-.c ﬁw‘ﬂ"l

a3 4
b il aE T Sl

Auxiliar qucui;'m am®sbm+C = o  seluhons

GIEP-E(I:-‘ on  +the veoots oF Hhis (-i'l!l-lﬂl','i‘_ﬂn =

@ Real qﬂcl' E‘hfﬁar’pn?[‘ Yoot s m =y -Q‘ M= imz
g X X
tis . pem S5 ® o

] Real and éz?u.-uf Yoot M= =mz

my X

selution | Y= 2 (ﬁ +E;J£.} RS 0,
I @ Cﬂrﬂ I.':—':'I:EK fauf'l m = 0{ -Fﬂ_‘;
3 R
Sofutien ; )f = & (FI Ca g }3}* + B o= ,@}() -'-"@J




T
t._'\l,j :.i'ﬂaa-:-c'
z

i E?ua{'ﬁms of let fﬁr’m

TIF we foke Fhe jw:pr’uf -Ef-nrntﬂ._i‘;ar:

a —3.- $C Yy =0 And Gasider Yhe
dx? dz‘
Ceafe Whﬂ;l Ilj..t:l _l 'fA'E‘H‘ ﬂrff‘an"lrj Tt;]'lroul.. 4,1 b‘j = 1 \‘\E hqu
de = = i L] _ - ‘.hg-,
ﬁr =9 eh wWe e as T:rr; n‘i & CoNea
EE\‘MW:J‘-.-;\.;I Hie *wWe Casec when 5‘: vy |'5::|5H-n'-..-'¢_ ar n-e_:g:.h_u.rg_
I T

& L 4 3
@ :1. 5 I?JSJ;"H:"I;’_ J_I_I +-FI;J =

= M nt = = mi.a = m=7¥A

Solufion , Y= AGsnx+ Bsinnx --- &

L. 3 pegativ
G""‘ | < e,dx‘

F4
=5 fl]z— .r’]'? = == pl :;11

Solutien , ¥ = H -;h X + B sinh nx
or Y= A e +Be ar
or Y = A sioh n(x-9)

I:".I fﬂ_f}‘,\ Cale f'? -'(g' E Ohye ﬂTE?’LYﬂfj Cw’?_ﬁ'-ﬂn{q

‘:Jtlagndl’;'j en the (ritial Conditron



[ sarhial J:’ﬁ?grmﬁ&f Ec]ua.h'aﬂ 15 o fefu{‘fm'sh.'p
hetween o cl'ral'J endent variable W and two er more

independent variables (%4, €,----) and  partiad differential
Coefficieats af LI with uhrwf ‘o these inquendu,-.{-
variabhles , the selwtyen 1S “;\-\efetﬂff c'f— Hhe -"-:Q‘."M

LA :i(‘k,‘j,{-; _--‘)

1.3 Seluhon b divect ategratien -

The ‘-;.;nplesi' Farma o 4 ,'.'-ar-i—;éﬂ d;fﬁeﬁwﬁﬁf ﬁrumﬁ'an I's
5-.&Lj\ -H-.a.f‘ . hap’u,i,i;,,,q can be r-IE'I[t’r'-m'ﬁeJ {oj Ja}*f{f’ Pm’ﬁéf

9 }‘!_'jr‘ca.'#-l :a:u“i “

. x 2
Example : 5o0lve the equation OV =\ K ()
ﬁ.&erl Hat at oX?

= ‘U= tasat ; 2% =sint
.8 o J 5%

sol-
E;‘_:uf@ﬁ.} Tnteqat

L
= 28 =4 3t ) b £ whee - = b bray Pt

/Y

:h‘."ejfn‘f' ajn;n = ] = }(H Ct4)) 4 xb T

appflé:f !;"lll‘}‘;d_f! Caﬂcfi-'f. 1S i'l‘lﬂ.f_ Ed' Xx=uo
AL — glak y b= Cegat

>
":;.MEEJE‘I'JEM'E";“ 5
s = 4% (i) +Pht = ziat =c+rdt Dgtsit

LJ =J"~hrf.'.‘ 1) +X Sint 4+ 4 £ =D Cosat =040 O =p p=604

so L) = W) + Kosiat 4 Cos 2E @'



au = sin (X+Y) ©9 Ven Fhat

k. Selve the Eﬁ'm{_;ﬂﬂ

'E.‘I‘LB"I
at Y=o 4 B _| and at xze ; uz(y-f
DR
Sol. :
S L G il = A% celxin) -+ DX
e %) - %)
at y=o J 2% | Pl=_wsx 4% :Pti'R:ll.r&if:-
'h}'. )
3% ___Z'::‘ = - GS(XHN) F i+ GS X —= U= w‘,-lh{xﬂ]—q-h-ﬁfﬂl'l‘&ﬁ

Put af x=e , w=(y-1)° :wp[y-!f:_;.'nj+ﬁj
= ;:?-r; -:igniél—l'g;ﬂj

o WY =2 Sia iﬂn!-‘j}-!- XA Sim X ""E""“j +i,'}j-i}£

1% Inihal ‘Cond ihions and Boundaty conditions

As with any i EFerentyal equw“m » the arbitvary Gnstol
oy G-r’]a;ffnr’_j funclhons n uﬁj pnr{-fcu.lar case afe jekfminw
fiom the addiboneal 7 formatian 3!1.-"?{3 concermng the

variables of equabion. These exdva facts are Called the

wiklal cndibions or more geaeully , the bewndary Gnditieq

‘;-F;"C-;‘. *LEJ de ,1nf‘d.~fhfdys I"EFQ( tes zere values of the
tqnc;epwdfﬂ{' Vewrables .

€A - Sﬂ'-h—"t'. ‘H“!“ E‘rh‘-ﬂ-{'ﬂn."l _& U:j = Sia 5[.-1‘3 F,u‘ﬂjetf' fo the
bﬂuncquj f.n-\d”fnﬂi DR* 3



X
= “ L L Ll t
.,5..?.!-‘ gﬁhj = Sink Siny = g: = Siak SmYy + ot X

put at y=E ;%:u& = ax = smx.sih L yhx
= 2X= S X 4 sAx => B X =24 =R

e iy, T
= L_a‘-; — =i S.r'.-'ij +2h= S X

i ;5;‘ zax + snx (Shy -1) = U= X @k (smy-1) +Ed

put at x = y U= 25nY =P AsinY = =T~ Gos g (siny )16
:jp_zanj ;1--1+£.-n:;+c"-jq:? I-n;—:l‘l'-}-fl-!r’l":'l

o U= Xip sy {I—Laﬂj}-j-‘ifnjvf*f Tt

: A Y
@ Mﬁ%‘“ =

Tn 4his Eﬂlud‘l‘a.-i Wwe fwu;cjj"?t'
% ,Efu,_l'.,}: elastic E-Iﬂnj ctretched 1= ———y
B tween Ltwo _pamf‘j ot X=o
and x=L wth uniform Lension -
# The encl pamh r'rmmnmj Fixed
% The stving will vibrate
gr Ths :I:'*_.PhceﬁlEHl"s U af any time t can be f*"P""-"“"‘"’

where x s its distunce Lo the left - hand end

the &Tmﬁ'aﬂ of mation i Ej;'ffﬂ by

U _ L 3u
Dxt o T

wstned e ':1 = _rf _'s"
T - Hﬂ‘.‘h;an :uﬂ "\‘Lﬂ. 'il_.{"l"l-ﬂlji
§ = waass pev unit \Enjt"l-. a‘« +he h’t‘!‘lﬂ_‘j



2.0 Solubtion af the ufafr_m

7 . B
ic'\lt wWane -#_ntl..&ﬂ.:.‘]'ﬂﬂ ;5, -‘a“‘ - = S
B C
l"h.‘.n-"t' €A Sn]ul’-:'r.'ln A = -f-(h £ wir Hen U (A L) -

1% evin d'nr’_']' Con d’rlﬂ-rnf‘.l 9
B e e e il

@ The S#F':'j is fixed at beth ends
i-e X =0

* o= L i Por all vlues of Line +>9©

U t) becems Ule,t)=0o
wlL, 8l =0 fer t}ﬂ

§ B bt .r-!zbﬂ 5

@ TE Hhe Jrital deblection of P at tz=o ie deacted

by £&] A Wix,o0) =3®R) Por =0
@ ]I_Et +he f-rlf'[—.r'ﬁ_f Vﬂi’-ﬂﬂ;f} aﬁ P -:-IL{" = is diﬂﬂfﬂﬂi
IDJ g(x) :“:': ] = qCk)
t=e

22 Solution by separmbion of vaviables ;-
i e i W, O

Win) is o Funcdion of X

U 5 ke T wi heve 2
O 8) =Ry~ Negy Tee) i5 o functionc bt only

“ uzXT
s w2 B T Y% _ &

v o
£ 0w

=>
b 2
Y - X. T = BU AT

o/
+
%



T
e

| he weave e-u[nq{-.'aﬂ 2 e 2 U

Coan be'- Wr‘f#l‘.‘ﬂ

‘.-‘_1}'.‘- c'l -ﬂ"'tl
Z, it 7, oy
"-T — ._-.I——_ ..T _-'_FL’ L: -—I—i_,.__
X c? X X gx- =y

Denaste this arbitrary constont by | , we have

&
JS( — k-. mtcf J L

—
— s D

X c* T

= fx - KX =2 P i';“-r_ c""}ﬂ.-T =0

Let ws cansider the First of these b Elluﬂ.ﬁ'un& "for
ﬂijFEt’fnf‘ values of K

@ JTF k=« then ‘;{ =0 = Y=o =X =0x1th
ot x=z=o , K=e —p b=0
X=L , A=o =» A=
G} ‘x - which ¢ not ﬂrsc'.f'ﬂmf-arj al the j?rfolaullfﬂ"
. requivec
IF Kk s jresitive Let j=P"

== JS( —EX=e = é}"\, _Pz'}{ = +the .—_ﬂ'u\..,&-:\fm’j -Eqmﬁh»
1S thete fore mi-prse :ppm‘:,c-" —m=FP
the Solution (3 X = AR, EF'.& + B, e T

at Xze =2 X=o = d=#A+B =

A=-B
, P =Pl __fn)
X=b X =0 = ¢=z=fe 4B &
= 0=-8(& %:f'") = =0=A

Hevre aqam =e which s gsclllater
J ]



IF k s ﬂe\ﬂa.ﬁ-v‘e , let k=-P°

i é}{ —fe X =@ = I‘I:Fl‘r,?l: -j-Pl,K = , the 5::!‘1.-“":-1!'!" is
=t X:Hﬁpjlﬁx.rﬁss}lp}- e

the second equakion T-c*kTze =T3P T=o
the selutron is T =Cascept 4D sirept — %
- the afﬂﬁ-e..f solithion becoms
U= X. T
== Ul {Jt‘, t) = [ﬂ' Cespr + R Sin f’x]lc s cpt +Ds;‘n¢pf_‘]

if we Pu.’f' cCp=X =P pP= .'::_.'— sub. in above .
i M{K,t]:[ﬂﬁ:s%—-xvrgifn %.ﬂ\c Cpsmt+[:>5;.—.;t1 —-

WJ'IEI'E .’Q,E)_,C,ﬂ.ﬂcj > are arbtare canstants.
the results of Course must be Sn.:l“q'sfj the set of b'nundqr']'
Gonclitiens which we pow turn fo .

® Ule,+) =0
L’L{I—rt]' = O ﬁﬁf‘ {_7E
Then
n‘& = , \Uh=o F,“'h.. gy 1?.'_5\- @ wle :j.f:.-t'

LkLhH——[_F—'I Cos 2 x + B 5in _t_;{][c @At 4D sind b

=P C"'=Lﬂhlﬂrl?:kci]{f-&ilti—ﬁs:ﬂ}‘{r] = =0
a =ul. i Eﬂl.@
= W t) = B.sia %—X[{Cﬁi}\& D ANE| - . @




atlpests | e Then =q.®) becms

O = & Sia bﬂ: Ceas At + D *G-r:-n)..f:I
ﬁfauf

E:'}{a g Sre B =g = 2 _ o whefe nzl, -
c <

_—_'P }\—_- n'l_':'r r—-:u"' r'lzl.,trli-m

‘E'Ilﬂt'fe s an in )&r:ﬂ.'-ft E:'E'l[' af- viafues .::ﬁ A :mn’ E'f.n:‘h 5#qu:.dqg
value gives  “particalar solufton =F .LLEH )
The volwes 2% N are called the I.':—-.ij velut s

‘\-Ffw.‘
and E_ﬂt:.l'--u Cmrr'e-:.li.‘laﬁcfr- !';ﬂfu?‘-r'w" f‘t“: &Jm
J::“-f-h}u As\1,3, ... e have +that salu frem-
Efj'en values Eigen Fune tion
" 1 r‘.r::'.?r‘ wix,t) = E;llﬁ-f'ﬂ% [E Gas \E +l}5.r‘n}..f:l
- )it thy = e . Al | )
}.1_ [_ { En—LHI.C,&S.EEL_i_‘-H‘_‘:lsm_._L'.
2'{-.? s L A & 1:'4"-!._ I K= o o
}\1: = "J.;.__ =T L E:'j_ 5 L *Dnﬁ'"':r]
_ Aa.OK . eacmat: | 3t L
1
i
i
_ r-er = g TR rext DE""ELT
>‘r‘ = u.r_smL{r@sL +1- B



Where Cy iy Cp 88y cva, qncl B, Da, Py, ----are ﬂ\'b”:‘fnf'a
Cons fants .,

w W=, et ey g -
the meve ﬂgnefn_f Seludion Is there fore

D

LL(K;!:-'} :i L

=\

(==
— e U AR - et . vewk
- S Cr Ces, FETE s ]-—.ﬁ
= L-'L(ﬂ-:t\.' e L L'l' = + - =

we use the mitial canditions

@ ot t-o ; U (x,0) = £0¥) for ogl g L
=l - TInn'c- Er:n.l_ *

= w( *e) = ﬁ{’*} = ,-______'-{ Cp . Sin X

@ Hlse af #=e 3 [:’}L] = q(x) for oh &L
t

at
frdrﬂ E‘-]- * =0
F
Wxt) == sin T | G G r“:t + D r”.f]
r=1
Bev
e o fi‘ Sha YL | Cn FEE o0y rcew € D_rcrfﬂsrcﬁtl
at N =i 5 |
I-A..Jl-.':'_'l-t =0 J oM = ﬂ{)ﬁ-]
at
i =@
¥)= = D.. el 50 T
=" JEJ{J =1 " | L
= i ) X
3 o — I L - .M. &=
‘./J ia .-:.j(ll} = e = f L




Example :- R stretched stving of leayth 20¢em 15 set

M"fﬂm O.Sﬂi”qfr;m E‘_j cfrilr:ﬁnr_;rﬂ a{'—_;? m-::ir—j-h:ﬂ'[' l?‘-cll-;ﬁ-{‘ﬂf’fﬂ
1em Fram ids rt’sn.j I::as.-'{-.-'un anel FefEuB-';_ij‘ it with Zero
nitml velotity- Selve +he waye e-lun.{-fan wWhere €% %o

determme +he re,-,.,xl{-:hﬂ metien |, wlx, b -

!f"Jr-
Sﬁi-m +o ﬁ.hu’l +he I:::uhdlqrjr Gonelibreng we £l e)
p\"’ﬂm ﬂ—],e 0‘“-'l‘ttl 31;’?-1 i 'f""-t‘ ‘:".“ﬁftiﬂi e
! s
W = by ; 5 o
LLEZ:_L{;}'] ° ?S Cived encl pam{-a a jo do X
v = LB
R for €A S0
W(x, o) ='£'f.'ﬂ} = i L
L,::S' fer 'I.ﬂ%i. “ 20
%] = & (_i:'ti"u :;1;'1‘[|'q'| h"{-"l’l::'l.'i.'!"‘r )
t=c
“;u. E
@ whee =l —p the equaticn = _'?;-E: %
For bh= Ha'E '
R 1 G -7 S
ke e e ST P S o
o
T PN oy
axt K YT X
T L o o
ST 5. Y DV ﬁ? X. T = :':‘. i
i Jt*
G e Fearﬁ:mje tHhe ﬁquuﬂh'ar't e ﬁefﬁ'ﬂﬂdi? the wanbleg
¥ 4 _
|
——
X T

@



@) Suce the twe sides ace eﬁml’ for a values ol +he
vaciables , each must be equal to Gostnt K
2

and +o (J||:.I'E an as::.'”a.fwj solutren we Fui" < =-FP

#
A 4+P'R =e
T 4P T =0

@ the sofludren nﬁ Le crbove &r. are
¥ = A ces Px + B sin Px
T = € Gespt 4D sihpe

-~ w(xt) = [ﬂ Cospx +Bs, px]['c.cps.pf--rba;ﬂﬂ]
@ Put Cp= A L, s case =V =D p=i

U, ) ={Fl s M +B Sin }.,x“\i.ms_;.t .1.‘:55;;-.}11%]
@ MNew we oebermine 2R fem BC

@- Uule,t)=o
wix £y :[.Fl Cef ww .t.Bs,}x}a;tliC fas NE +D5ri-t}:£-]
o =[A-1\ -rE..;;.J[c-fos Mt +Ds,;1.'ut]
=A==
GoURt) = B wn ::u:c[c‘m »t —g—D.mh}..-l;]
W20, ¢) =0
Ulx,t) = R r,m}.x[c. &t Yok £ S }.1'_-]
0 = B s a0l e @snt 41> sin M.-]
= B Fo
' Sy Zoh me =P ez npr — }:%
" S
U0 = B sgaoax [o- et +D-5rh}.4:] el Bac< G

Al A 3.
o (K t) = s %;[&ﬁaﬁf +Qf--h-£-rt] By




@ to find the efjeﬂ vialues and e-;c::’,e.-. Eanctions

E.'_jlm values Eijﬁl"l functiens
F A= %—E UK E) = sin M‘-(_; ces At + &h}x-&]
:'\ = ..-—'n.— u - ¥ ﬂ ?I'+ e +
I g | Sip = G, Gos LT 4 G, sin Jl;:]
z )\J_- _1.1-5 U, = Sin 1_31[{; (Zn‘_l.lrf +q} bmi:t
L g " 3wt - 35t
3 ‘}‘-5__':: HE,.S-;-._.;GGLJM +E:P'35n? J
i i \
\ : 5
¥ Ao =rx U = Sin TX [C:r G TTt .sm Xt
T et o 20 L ' 2o "o
w heve D T B e It el Ar e
= ulix,t}...? S XX [r: IR 2.5 O . S N,
=1 O ae a4
@ New we apply the rema;.-..n} inidial Grditiens
G’j ulk,e) = ?—f?f-"_i = _.J_O_ For ogk & Vo
_2o=X  fa¢  vNgR g 2e
1o
i Ef = 2 x vhean salue gf .ﬁ{;ﬁ‘! e %
VX Note M
_-':F"" G‘-r — _:-:"_- E ﬁﬂﬁ-} S e --—E-'-‘ ${r."! g G $m”!$-m
20 b =
o flx). -,.M:u =£Gr~&-u-}£ i
= |0 G&r = E . Smrﬂ Jﬂ 'I'TM S 'F.M---'J.{ P i dn J!'.—GH' !S-n.hl-n;&
o Jo 20 ia L e
“ ’ h._.-*"'r\"'——"f hﬁ_.'“—'
— kS
I 1,

@



L+ ]

/
— x L] T W
I] = 5 'I—a‘ju'l %_H;E. CI'H. .fr??"l—?ﬂl":ﬂ?-ﬁ B:] qué}
o
I, =-22 cos¥r 4 A2 s, YK
T Z s e -
I?-.-_l
5;}}1{,’&;"-"} =t IJ,=J Ji'_i F.l.rl-'.l'_—rr}r EJH
1 Jo 20
R - T A SO, LRI I o
Y 2 rix?
then
L -
10 Gr =~ 22 Ge'rC 4 40 g, CE | 20 6 Y0 _ 40 Sinvrr
P 2 e e r T 2 e
iﬁ"‘ =443, - - Gr= - Sin LI
‘.ll.'l ¥
( = x -
el = T o
2 x‘.lt} — -;::—l 5!ﬂ~—£: [;’-Li?;l‘-.ilﬂ EL +q]r S a ]

— BY% . =5 g, YIX g g YK YN ey v
2t =t { e 2 ){. o e ,_____} s
@ . s vt
ﬂf"r' t= o - 2

=2
= O==_ sn IR g, T -
Iy e ki 20 " TG

=
.'.}:JC:-L, L) = 4 = ) g TR oo O e Et"\
r'i'.

5] kB 2o




e saseluli e rnoiarialabs.,

L= ‘.F:r-‘"-.l f.]

the one _ohmensional Aeat }’ 1
it‘l_quﬁ'ﬂ;l s then of the form
>u R P
wheve C*» i‘;_f ':
a i b4
i

kK = thermal :‘:ﬂncfuf'f-.].ﬁ.r'izj ef
'H‘it‘ M&'J‘Efr-tl,[

o = specific heat of the matenial
P = vemss per  unt ]liartl-]ﬂ. 6§ the bar
p B Solutions of the heal Conduction efﬁ-[&fl'w'n L-

@ .-I:Ine bar EL'I‘Q-IJE Pem %ao toxsL Y

(B the temperatuve ef the ends of the
l:iqr' i 5 -r"lfl.r;*ji":ll:ﬂel; H{- Zv0

€ the reitie | ;'f""',l-"?ﬁr'-{"r"'? destributren
a [ong the bar 3 defined by £x) 3 :
J : .

Cart be E&pr’?ﬁecj

the bowndary candi€ions

LL(BI‘&} = 2, g For all ‘&?&

l::i' t=so

Wk, 0) = £ x) Lo el b



the iﬂiﬂ‘Hﬂﬂ e:ﬁ +he ﬁn’m Ll'..(?f-;f:}

A 15 a \Eun-:.{-‘ml of 1*!!-1"_4.;1

T is & funchian =f £ "”"j
Et"-k i i PN #}f‘ i {r

RO ek, R | TR et iy

= LLI’.?:.JJG‘} = }1{,_-.111&} wihefe

the leFt —band sde (s a function of x enly
;'Ll:’ l'jﬁf‘_}umd. 51r=f1:> ITS (59 -Eunq:‘hé.rr ﬂﬁ o] ﬂrl'ltj'

for these += be f:'*clfu.i.-«u.llr each gide must be ':‘f_,:‘un.lr the came
{:ﬂi_{'{'qﬂ{_

&

X
X

X = ﬁ-ﬂns!mn +E3£1hpx-\

S PE i -’f’x +P¢x £ q}ﬂ[u’,;"l,] the solufyien

ﬂﬂﬂ' ; s " - %
C—""% ==F = T 4P T=o =;'>-::_T-_- Pet
= a4 2 2 Pt e, -Pele "r":txii
=> Jn T =_Pc"t+¢ = T =e - e
-PtE =
— > T [ N 1 T

> U= KT e
W OGt) = [H‘E}a; Px+Bciapxipe

-PEtE

WX, e) = LC-} eI pX + E-}\FK] = :
Now/ Pu'-f' a=Fc = P=b
-

—NE
L wix, £\ = e [G ot -:—.'N +Q sin i“—h}




SRSt e

u{ﬂ;t] =& ".}\ak
= WiK;t)= € é@s%-x-t-qw-'nt—x]
-3t
== © = e G.Irrfw}‘*ﬂ] = G =c
=Xt
= L'-.(f‘n,t\} = @ & a'n A x
L
H!SO Uf'—qtjifu
= n:r'—'-‘-fr'?,f--hi—l- = ¢ Fo
“ Simn A2l ze => AL =np anl,lfz,—--_—_‘,‘;}..:f'-&[
c C 3
Nt - arr
n he B Ut)=Q e s=n 2
r -mE
| Ny S U, = & g Xk
i L P =G . " T
-A T
2 Ko ZEX UW=®, & s ZIL
= L
-t
A BCE o + 3K
.3 ,>'l_‘1—- n Maﬂqi.ﬂ - '!-fﬂ-—l;—
) t :
' 3 L
' i Al
—_— ) j:‘_
L5 }\r: ".E“‘ Ur: Gfr_. = - Sin 2,3
—_— U =L L R O L
o _:k,:-l: "
WELE) == @r & =t r:‘
=1




____,_._I

-:{.’5.;: “PP’JJ the rﬂmﬂr;‘ll-ﬂj bnunc.lnvj czmd:tﬁ:m

Uik, +) = P(x) at t=o
“-{J{‘,EJ} = -f(';i]
= Tr
= Px) = ?"-,T P . Sy Lt
i
w here Gr= _.ﬁ.... & T1Eam v lue af f{';c] Sin r'L_.F.
L
o ("Fr:-—?:-j ,‘:’ﬁc} Sin I_"“ o gd*'r L=1
&
i
C_P'I" - J .FE:{} S rax Jx
o
substitahen Gr o the equation wixt) o Lia)
-t
Ul = 2 = { j.:el'.#.'l Sin YRX ntx] - Sin YTA
=
s =123, ---

where M= ‘{J‘: =Yei

Exumple vo P bar of Jenj{-L Z2m |s ‘t“”:] ,ésm'dﬁfﬂ! n-"ﬂ'flg
= e t{:'-‘- 5:0‘55 J-fi' 4 pn-'f-;qu n_‘f' a iy ﬁmfm 'I['Em‘semm
ek _IGC al- =26 . the eads are Plur}jfc; mto “':E and
mamtaned at a fen\f?erﬂ.ﬂﬁ’ =f O0c?. DEJ'EH“IHE an Ex_?rﬁ-&:ﬂ
for tempevatwe ofapont p at o dictwice x vom one end

at any sub wn}uEnf' time £ seconds afler F=o
Sal. ¥ i -t..-__-f-*- ¥ E>o B.C
wfet] =0
o "TI L | ITE ¥ L i ¥ .
U= glx,+) 3 U=k 1‘ Ule) = lo
i I 1
X .' , ! N
e ¥ 5 X B o




=
the sclutien i Ul t) = € {G .5,.5_2_11.6"? 5.'_.1_?2_};1

where X = B s px +B i px

T =D Eﬁ”’ = let D.A=€, D.B=q
W2 g and Pe =i ot - T
= al
= Wik, t) = € G s 2x+ @ s-m?*‘;_;]
FPPiJi;TJ B.c
W
~NEr .
Yor wUlo,t) =0 = 0= e \\E—.i.;@;ol = & =0
-3t
= fo;t}: e »G)-gfl-.%::
Ase ulz,t)= o
- i N - = &
_-5:} G = E?b"‘:\ 'S-rﬂal} _—gqﬁ#n :-,.'_‘.:r.._bu.-"l’:.i;:.n
e 13._:,,,-,.7 = A :fl_,:“‘ rn=h 43, ---
o o
ool t) = g - Q. sia 2TX
s B
when E=-o ;o uwne)y=1o = £(r)
== 0 = = q:'r" Sin SEA w here Qf:_:. » pieeen Value
Ry 5 of 10 sin ER
A . e S
= Q= —:-I'-'j e Sum r::“ ol x Frem 0 o2
z z
: -2 r — A :
== Fr = to ,,j ';m.’_’_lﬂ dx == [&5 :" = F-r;_-[_l-l:rirrrl
& For r=even
":__'a.,} q-.r = k
:‘:r far = 0dd
N - R
e —l—- i :—E * h'el’ L= =
== . u(ﬁ;f]:%?. =g € el 1@

F=)3,5,7, —add



Bl et conduction ¥ Jimarin nphcs it
W

the solidion o f Lhe f_qp-"a.ns Cﬂ'uﬂfﬁr'ﬂ‘? twe . chmension
eii'u.n.'f'.l'ﬂn

a"LL‘ G . W=
axt ¥ TS e Foxy)
A-1 Salutien aF the Lﬂ,ﬁfm‘:r 'E'ﬂl
WM“-MU_W
Y A
to l:-IIE"Ft“rmllr’IE seluben ﬂﬁ Fhe b___ﬂ____l
! I
e1m+rnﬂ = al wmd) 1o
ETEE T [ :
. i
O Fe-.:,-l—unj'ne TH— h‘j o0 ftx)y o
the (mes =9 , X=a
d=z=o ‘;521&
Bnmdﬂfj Cmc:fﬁhﬂ
W
© H-.t W= ; Li=wo r—!o'r “S_\:ﬂ%h
@ ":1{_ Ao 4, W=a ﬁ._—r ﬂ%-ﬂ &b
@ oF y=b , u=o o g N
@ ot M=o |, U=fR| For cgxga

e uwle,yy=c , dly)=o S oxysb
Uulx,b)=o ; Wilxe) = £0x) Cor ST AL

+he Sojuton W= -]f{ru;fl‘] Wl” 3-':-’.: +he Po{'&\‘h&[ q_:E'-q“j

'Fbmf' w-‘a‘frm the r’*’f"'ﬂﬁjfﬁ Jﬂmum f Wi Es-'fl:lr'f‘ pﬁﬁ
used by as:unuﬂ.j a selution of the form

U-C!,‘L-f} == Xﬁ.', " y(-t._‘, ﬂ‘\atfﬁ

X 15 a funchon oF x f...l""l"}
Y |5 £k r-ur‘l-n‘:'l'.:';un ﬁt 'ﬁ a.ﬂfj



“The -:;i-u.n,ﬁ'w. im Jeorms of K and Y s separate the
vaciables 4= jfﬂt

For T }{\- b 4 whe(e &% ’ } X ,
’ & (] ‘4
then, ) L
K‘Y: — x‘}/
4 &
? a == —L F‘“‘H:"J enc h -g..]JE o:.:jq,-:t' fo o Ganstont
}( }‘f —l-"i afv’f!, W "‘luﬂﬁﬁhi

&

_—'?._‘} x +P¢}t\= o =;'pl'l=l$ ﬂ-}'ﬂjﬂ.ﬁl-ﬂﬂ x =H{.&-:Pﬁ .'-E.“_"I-HIPN

.-'?‘}, B Pl}, - -:Fv-,, e b g Y: e C*‘-”‘F,j +D$;}|}1pﬂ

-'..dlln-cvl:t can alse be E-.H.]'J?"Ef-it*ﬁj (=59 CF;:-.—F ‘E‘]l-iﬂj'l'ﬂ'ﬂ)
Y = E sinh ply+ )

—

ST T N
Sowdhy)= LﬂgﬁFﬁ+E-5-HFK]*E sinh p(y+¢)

-
=

wWlx ) = [E e PR +5 -:..’npxl s Sinh p{;q-‘ﬂ]

Mow!  we a,ﬂpfj the Fwst of the bnundwm

Hfﬂ,j) = i

= 0= [E— -i+C§-'HD] sinh P{‘;,-r‘iﬁj = =0

W) = @ Sinpx - simh POY+ep)
fronn  The Setmcd f:vnundqr‘j Cendclitrom
= o= sinpa -snhp+¥) @ #o
. Sinpase = Pasaw




let A=P = X = 0L

(=%

S WyY) = P oS Ax . sinh Ny+ )

fronn +the Hhied @adibien

wix,by=0

TS = 0 = @ sarx . sa(br)
= ".iahv,-.)«tfb-r#':l:u => & =-b

S wiKY) = @ Sra X . Sinh A{:ja-'ﬂ:l
-[:u.,— N g Ue =MWy 4y ¢ Uy v ==

w
= uii;‘j} ==_ P stnd % « Sh MW (Y- I:]

W, o) =%06x¢) = fx) = ;“__?'_"I:cp, VB h X «Sivih hrb

X
£
W
g
~
>

l-1
r
I

o
2 .
%

[+ 9
LJL{}L,'jJ T \‘%—-JFCK] Sah}\rx c}xl, Sim A X

":uhl‘t}-rlﬂ




-
~

LY

C_‘{’L\ 5 5Sal,w"tion O.r $4|wﬁl+qmectug_~z;m€ﬁr Q’ﬁel::-i’"ﬂ;(f %aﬁ.'an
Ve /foowf*mj Lin ear ‘E:gjf:{’FM af e atior
mil I){,' +q!’2.{1 -+ 9{1?.'%3 = Jfo(“ﬂl 7(1--, :[OI

Qei X + Anly 4 Oy o -~ —+ R fn = b

1

Aoy ¥, + Fma Xt A Xy ~ — + Pt Kon = o
N e {'Z‘_a (Q‘E)C{:"f.'?q‘f

Esg'_ M

1

Whepe e,
] i oty et it Wizl &
1OM Ay e E:@ﬂféawf

bi)ljt)""" &
7he Obove Systewmr (aw b€ wi, e v Fhe )F@P’M
b, -

Uy S = - Py [“ﬁn h

ha Hgz — — -~ Pz s = 1‘:11 ::;b ﬁ\"?f\:

b ' J )
awi_~—---anJL_%¢ }?"“‘:._i

Ay
7. Solve fle Obove Ssjsf.f_?vn e Lu:Ne fw@ {c){jppg 495‘3

Arethod 5 -
(- 7Ze divect mpthods s
A-The rivctl v H fl-fv-erj;'g” .&;—zgi‘zz)s{ 2

B.llg Craucs Elminat on predlod -
¢ - Ve Gauss— dovdan il gl s ttetlie o -

i-?Z# /I’fo(('r'g?c;zl /ffﬁ"f‘&{i"c/s L8

f-TFoco bi'sc trethod -
. Goauss -Secfel Aethod .

c . Reiaxatlion ttethod .

F )

o —

B


http://www.pdffactory.com
http://www.pdffactory.com

e

‘ A- The afrs ¥ luversom Method &~
v Ax = B S K= AR
e ruverse of (A} = A = PHCAY j{pl%o
EX Use A4le maér X fi'lf{UﬁV_f.bm —#ciz*&;»é}"q};m Sotve the
SRV u:,xm% Linear cguation »_
2X, +§ X —8 Xy = 6

‘__x"- 2. +5K3 = 4
5A +F Xo -2 X3 =24

—

.%{-!"-M}J{":C‘u'l; : .,
2 4 -3 X é
~—{ -2 é 'KL - 4
'5 ¥ -2, ?‘Ql 24
R 3 AT B A R L
A =af2 £ -4 e ; =-2¢ %o

7o L_’na/ A“‘i -[;’vm fzfuf Mf."x.f [AIL:] o d ":EWL”@E’ 1'{ ‘o
LIIE)E &S fotows

2 4 =X 1 a @
-1 -2 & T S : New ;21 = %
LY ¥ -2 t _c:' o)
P2 -~ L e o
-t -3 £ T4 e MR, = R+ R, .
T - - NRay = By+ R (-5)
! 2 — 4" -;: O O G
s~ o L 4] o sNR .o —
-3 13 5 0
b2 e e o
o ! 7 o { AN )Qt = ng'f{?\L(“‘?—)
- <
O 3 48 g s oo WNRi= Ry tRa 3


http://www.pdffactory.com
http://www.pdffactory.com

| o © 2 2
- . -
e | 12 ‘. & NR*‘; - ;E.’-}
L= 12 -4 - 2
i A ¢ % 2 o »
g Ly = ~L —t o pms [ =Kz +Ra(z) TIA
o s L szl g
"EF ¥ N2
! I I | % o5 ¢
e oo -z -3 L Aow , we luave ﬁé
ot G II_ 1.'“13“ ‘ _%.? TTT.-,»_ VeV Se j-ﬂd’f’?_j"i{ ﬁﬁ A
_ - - - 77t X = A %1%
X, 3/ 7
Lo =~y 3k M kg
X3 _ =t =Y Ve 24

Ly

do X =2 %6 4+ 244 yOR2y =G+R 40 =17
Gnc-f! K| = [? o }ffz ':""'3 - XB:—"l

;%,._ G’ﬂ\mss E’{f}*frﬁaﬁbw /{@‘&/"’9"/3’

—VYovuim fhe wzalfnx [ Qb

— e @ Fet an M,ﬂperr‘gﬁ'qrzgulqr
wiad rr X i

FX Ting dhe Solution of fhe ftowing St o) <iurulfaneoud
Efut oS ; Usorng e CGaus Eligind ov Lefbod Wark 4f

2.3%7 X, + 3064, —428 X3y = 1.¥E

I X, — OF3X, +3.F5%; = g |

~3L K 4 53 A, - 10b Ky = 5. FE

-

4
J

Peliny s 2:3% 3.6 428 ' o p p 2o
kg ~oFg  3.z5 69 =,giﬁi--@;&q“
~3.49 543 —hsd 574 e Ry =R3 R'T:xy“


http://www.pdffactory.com
http://www.pdffactory.com

237 306 493 1%
—_ i e z
o 2.8650 &.3845 2. 6058 %—NR?,:R{RZ e _c_f__
e 1.39%  —5.6¢6  £.4863 r
" 9.37 L0 R Y 116
~2.665 £ 32545 34057
. ® el 18 oYz 2i- 3676

Ofg)z 3 S ?{?4 |
3 - oty T 12677 5 X%, :(3,5;-53_6.3’365ng@}f?)/-ms

Gi ?(1_ it l-SZf{?._

so Xy = ([#4-3.06 % 1542 ~(-4.22)% [J07F) [2.37 = ©933F

C- Gauss - Topdan Ellain ation Ltetbhsd o~

— Ferm fle Mr&ff’:fk)f [}HB]J and }.:5: G ve g_:-_f.r'mqu'ffcw
5é€,‘-j$ Cﬁuﬁrr?_f}' )ﬁf»LF J‘-;:f.zq_z'fﬁ_'x' fo LI‘B] v

X Calve Ho /&//ﬁacv'ﬂg Lisigay. eguats S (/g Crauss—
Ferdear  ppedicd
2% +3Xe —¥p =1
UY) +4d, —3Xz =1F
—2ZX, +3¥%, — Kg = -

Q_):a{hu\_k:\bm
I T T |
q 4 ok ¥ — Ve K, = .‘.2_'1_ . El
A, 2
-2 3 =l

- 1
1.5 o5 5.
&4 4 = 7 JE NF? 3 :"?3 .-~C7[.3| R\: Q3+2Rk

—

NR, = Ri_qzra_ = R Rh‘


http://www.pdffactory.com
http://www.pdffactory.com

o i _, s NE o Re | Rs
Aae —2
e 6 —2 10

o 4 o-3 2 -5 NR=ReQ R, = R~ K
& & -2 {o Nz Ry — U2 Rp= Ry € Re
i e ~tL2s5 1 tis o
& 'l ok z2.5 Ni‘;ﬂ-—i = St
a =
o & —5 e 32
{ & — 1,2 ]?‘5 NQ‘#XQ\“Q'5}?5£R+1?5 R5
& ! @5 2-5 N/??_"Rt-—ng i-*g 'ﬁrjﬁg
o o ! 1
ir-' 4 o 37
.Jim I N 2 o Xy =3 E'XL-Z ﬂXg“L
L(D Cﬁ I i__ 1

Qnﬂeﬁ £ CZJIF“..FEZL /’ﬁféf‘[ag/j - X
Twu ﬁ'f‘t\,‘.,; ﬁff‘f@c/ Lo & Jm!v’e fal 5.,4)‘73C}'e,‘ppz'f Cﬁwc{lrrf"rbw

jca}— aSolution  feo Leﬂj‘r:tu..zmcf wWhick ¢ -
I S X N R
i
Jke
A-Tacobis plotlod ¢

£A Solve Afhe fﬂf/@u’;uj Sof of lineay ffﬁfﬂf*t"vl 4%, gy
the Tar:abr Yigg” tlod .

EXJ = 7(1 +){—_§ = ¢
xl + 44X, -*ZX; =8
Ky 420, +yxy =17


http://www.pdffactory.com
http://www.pdffactory.com

c‘:ertwt._‘ﬂﬂ L.
[5) >l-2l+]3] = 5>3
(&) > 1] -2l = 353
14> 1el 4 121 = % >3

So e have "
XEH :(%-{-%Xf“%.x‘s ) ~-- O
S B L T R e
T T R N

QS U e )(la.:@ : Xi = B K; = 1> icd ﬂubsfmﬂﬂj

this Valueg /w Fhe Last Huer Cruetion (L Lﬂi’;‘f w's 'l

£ 4) (4 (L} I a
have X7 5% 5 XL ewid Se en X iz A
) ;

. . - . . i

| ’ :
f z 3 4 5 & 7 & 9 e

C'?Z ) 5-,?}? llirrf"z ='i‘r(—l! . _"-'"-?c?
7.6} - 9.62 148 11

k

X og o625 gy . 124 . 6L

e o5 2.6 253 D79 179 199 _ |
_X? ZF-'Z-S 2.£8 2(_'?5 2.F¢ 2?? AR 3.02 l.‘i‘?lf.cfé? .01

OCCuij s [the }ﬁﬁgf 5,35‘;;;{;{@(:; {rf:té ﬂffb'd"&fﬁ C@r?&f"{' oo
Ko : '
/XF*F" X1/<€ g (:!‘;?‘73)_—
C

¢

f?)—é’ﬂ.m55 — Se/del /"f?fdgxf -

EX. Sciye the fzﬁf/ﬂw*"‘”j Set eaf Loy &Psat o Llj.:w3 ’Hz(a
Cramgs — Seldel  meglbed |
EXy =2 Xp 1+ Xg =&

K'. +QKZ '1?{3:3


http://www.pdffactory.com
http://www.pdffactory.com

if A=1  Gaws - s i<l
I 64221 s Called under relaxadid
IF 1< Nqa U 1r  cotted oVer velafation

EX.
Lave fhe /b;/amhg s of Lieay cpuations Wi

ovey YelaXetion tbfh A= fd
10X + X2 + Xy =12
X, =+ 10}, + Xy = 2
Xy + Xz 4 [OXe = |2
we begsa  duv Selutiow by LrsT checkig bl
cfa'mﬁ@m( Cotf el eant's
Frols 14+ 4] = /o7
ftol v M+ = 10T E

H+ [t = Jeyz |
jiol > 1 ety (k) (i)
S e hewe X, =hz —od X, —edd Xy
)((f"“*'}# :ha (%)
. LI ‘—‘7?\ \ & (} 'I) ;(
) {le 1) ¥ (K
aid Xa =12 NENDES -—(_"-'-“i})fz)
(kg ty (fet i) f<
X'Z-— — ';I‘ Xz_ -+ (""F_:z) ﬂ)(z
(L et ) {Fn’_.ﬂ))ﬁ {f-ﬁ-t-h)
lSe )(3 = /.9 —-(rc'.'?*'l) )(1 ""(.D"i)‘)(t_* %

plenlok (41 (%)

Ky = 2 ds +1=0) X3
Ndbﬂ g_;}/umjnj WAl ,-,,”'{,*q(’ \'rcwfmﬁ @£ Xlﬁ?(f_g: &

j AR
Se X(}I,w'z !{ *ZXUJ“P( 7-)£)
L) 3

Xy = (i) (12) 5 Ci=1a)le) =132


http://www.pdffactory.com
http://www.pdffactory.com

S sAvk top s e bqj;;‘n €Uy Soludia., 1;_5-. c‘zLec«{’m.ﬁ,
[5/> [-2]+1 L] = 573
41y Tsaf+/-2] = 473
By T4 vi2t = 473

b
%l i -1-,2_“ g — _]_. XK - @
kg 5 5 th 5 03 I
Ko =& = (" +3x - -9
}f(i-ﬂ I; L sggiterl | E it
e ek AL R €
oL (o) (o) ;
5"5 Uwv e %’L = e Q{ulﬂf X’g - o Q-htc(l S\k!bL 'IM_J(G ey (J_;E';.E
{r ,
)(l = 0.8 =3 Sybst. (v £ (2] |
X(zH = &7 — g (003) +6 =055 syl 1n f) (3

K, =415 - 25 (0.8)-05(6.55) 3775
E =~ i
aund o ewr  wielil /}( - £ / s &

Se We wiy have the Sotsiuing  Values :-

2N 2 3 4 s 147
X 0.8 o265 |liyg o095f eor  leel 6971
X, 65 2.5  8EY 0 9.008 23 10999 2000
Xy 3F#5, 1393 Z2.9%  3o00d  Fo07 | 3.000, 3.000

C- Relastadion * Meflod 5

A fer each new Valae o5 o) 18 Covuputed u&'h‘j\

C”“C‘MS)"‘SE{:JF{’ yoredbiod thol Value I %9&}4&@[ by
hew ) % e w 4

ol
X:' — ﬂ XL' -+ { f- {;U ’(C !
where ((l) ¢ Comecte terri s Value ol ALy


http://www.pdffactory.com
http://www.pdffactory.com

{1}
S X, =12 —(o-10132) - (o-4)(c)Y= 1668

(i}* ()] ta)
X‘?_ :'Z )(,Z—t-{.f"‘?) '}(_—l

~l-1) Goot8) + CI=11) () = 11748
(i
Mod K =9 — (o-4)(11743) -

(1) % ) ‘)

X3 =2 %, — Ci-2) X,

(0-1) (1+32) = G Lobz

= (l1Y(o-g5052) + (1 =11 (o)~ [ O45 72
(1) #
7Zﬂj e Jff X‘ = /-3 =
(1) %
o = 243
Ch) g
Xy = [obs7
¢ ltevedion | | 9 ~ Loy =
___K] et e S 1,_._3;__ " l?55 IHQGB G‘c?qé lt S
:’('z_ I’I\f“ffg j .99 [ & Iheeoi Vieon
' 1.045¢ lioot  ©9993 1,00 P,

X3

C;b,. '~ Selve e faﬁ’mc';"ﬂj c.:a"f-jfé‘f»“‘!—"f e-f ﬁ;teq}_ t"gmm"g'aw ‘b“_i'
- Gawys Elivaidion Predlod s
X=Xy +3%g =/0

TX 43X, + Xy =IE
lf){[+'z.)(7_-}t’3 = &

Aoy, e, = i X-Ll‘?,- s X3 =4

P, 3~ Solve fue Fomowity Sysfem of Lineay Sp. by ¢
7 - RelaXotron negffiod (7 =1z

{1~ Ganss~SerdeC (=)
7. Kelakation mefbod (G =1.7) -


http://www.pdffactory.com
http://www.pdffactory.com

2K —24 — k2

S ~Ly 42 = ©
~2X+ 8y 442 =49

@ 10K+ ket K =
K, 42K, +10fs =€

(D, 8- Sotve Al System of Zinear @ebprc eeation M.
'3 o s

K-YaZ—zw =-1
-?—/‘(~+'2.3E‘3+‘1w = 3

3K~y 222 bW = ~k
#4X+Hjﬁ.3z+ém= 5

@‘ :— ol &~P :@:’f’f‘ﬁiuf(ﬁ g’tf{EM @-% EDQ' M_qf‘.‘mm 195 G‘QMJS s
Y Solve 3 Sy
5'?‘-;&/{6 {l'{EFaﬁEH@H M{J’MG/ L{fbr”/(;}qﬁ, A%m ¥ =®0.0064

/0 2F py, — 123 B2 + EEF de= 427
2398y —1265 fo+ 11245 = (26

[ F9 dy 360 do ti5 N fo = 12 H

Aﬂ‘f‘ ,-A;‘: G._Sg‘v?g
AP = O fo 5

By o0 F&FE


http://www.pdffactory.com
http://www.pdffactory.com

N wawer el D, ff erenfiet o and Tutegrotion s

A — Ylan ev col A ffev‘é wt oo e
A - New f‘en-* FC*V W sed (h= Cont €. )
d = \10_*&/1‘3 . UL(ULJAJ _uiu& 1)(bt z) \10

avnad W= ® - Ke L JZeMn AU - ‘”J - 2

i

/ hé

I Jy o .._-—%,.Mb‘j du = T4
el X o w o X el X W
1
l

I

. i - < 2
d Ll . d% o A ' 1y " "¥Ld1~\,dﬂ'g R é i Iy
o K o w T L |
’ ; 2 ( O W2y 3
— A \ e v =5 <2 —
3 =3, 4+ W\ AJ@ —t — AN + W A‘J,ﬁ

T 2 B - fUd =
L4 JJ e @Y .l, A'j _,_t-...é/_\__f_‘______.l A\’jé + — A Sa._r — — - @
e ¢ — i 24 = A
AW : . _ .
Sub 2w L f
J Py | %\-1-—- TR P -
i\“:é—?‘— :—L [/‘\"‘JL l,:( A:l,— * : 3/{“{‘*‘4' ALAQ]‘—-"
o . Y
and LA iy ol 347?. voodw
P B AN ST
P RNy SN PRY S AR

Special Cafed t wWhew K =xe 7421 w= LovFeo e

-'- - " -;‘ LT . - — [
Jixe) = - [ A‘ﬁa*i--LA(JQ'* 937—\1&3(,*‘ A}j o= ] ®

- = e "F."'/
{

, - o - (@
JOke) =L LAY - A, v Ay - T Y

g_)g: ‘E‘\A d {l»@ Ve ve &n‘ ‘flae dev v cu,?t iﬂ"fe —f@‘r {[tg
F@” et {.M{‘J f&(—mf{' 20 wl (Zf X=2-3 ,w K = Ko

o4




’ ‘ i ; X =1 (e 5) 3.5
M= feoo= x—iuwx wlen X
oAl , 1§
x \‘j Ajo A\z}o \':‘50
o 1.0 e
(2.¢ 4 ) ‘{95:\\\\‘““\
5 3 -
i° Db b és 7 o E5e . - ‘..54_?9
Z-c 15 -3 f U2/ &Y N
T 2-5 37 iy b X7 -
9l Fxs o F-138
5-c 7q. Goi 2754
65‘?":’ .
S5 V40 it
U= AoXKe o 23 -1 _ 4 ¢
= Ln RS 5 Btk bu 42 F;
Zin— | ow 7
.'j{(?_’?’) = “%’_ f jb t "_Ti”'" A.:e o 3 j l

‘ 4 . . - . : .
J(Xe) = 1 [ 3657 -—;,;:L, (@793)4%1(_5,1%)]: ERR S

5 o 3
' . - v MW EY) v s Wils) Cuse) 3
S v G Yy st
- L K — X ‘ d\k — 1
O [ — o i —
W e T
/‘-’—Hﬁ‘b’u’w. -
AL:j_ _ hl‘ﬁ \'J.,\a\ _ .._]__ \ 4'{3 —




k U 4 W 2 \/\3+“3 Ly 2.W v?
J=da MY T Vi ™ 3 Ju
d 2w\ F RUW 4 bw +2 F o
j :E)\ pesTu & B o V:jv\_ ”'\' \!\‘Z}_ Vﬁb\ 3@ ’ ‘v‘j,\/\ - 2)
of ) guk !l E RV SV ’Sk __i@
(Jx = .-‘\-E_: [-— Vgn t z 1 V ?j‘«{: :\/« V é"\l —
GL\;LA eri ('\J:j ) (4 ('Jd ) . QI'U\ N
\.JX-L— o X LJ"UL of X QK ha%n:_,u
—— =4

- Z : 3 = u-+ \L o
S A *C:a. [ vy, () Py O T v T

ol X
Speciul cases s when A=K Zlen i,L-}—\il’_‘“ .
K
. 3(7(:4) — _,‘l-,-_._ r Vi_j% IV jn—[' —_— V leL V :{}m—t& Z-w@
4 ‘%t .
EREDIES vy, "9 Y1
"M)’TEVjW_F VV\ ?_'V'""_ | }

E/‘(‘ [35 L{),»Lj /V(’i(’(i(t 3] F“mrkn’Jq-‘/J ;J—OYM\.\\Q I:\\“_J 4{[,\{
Voa e @f K=2-5 Wfe {le ’fﬁiwe




" L - ST
20 \j;xJ _ | Cozuwxl _z, Sus b 3
: ""{;\EV‘“* < YV Y ™ z V‘rj“l
= & F5

(/ "’!l)

HaW. Find (¥, Y
C&__:f_c)? Nurnevs el differevtiotion - Lag oy fermaumia e

< -

ch“ = Ln‘jo ‘* L"\/je 1 Llﬂ«_—t - *Lh\j*\

Lo o U= (xmra) X5 Xy XKk =K

(Ko =X ) (Ke=Kx) (o= K)( Ko~ K=

JLC X *-—)(\ — X

—

J;( (/i‘-’" K\).(XD‘"X_’Z—) '
Ly o K=Ae)OX=22)  x7 - Xa X Ko A —KoXz

—

(Ky= Koy ( Xy~ Xa) (K~ Ke} O Xy — X2
4L 2 X —Xe—Xo
AE T K= ko) K 1)
Q/j o dle oL CdLlz dlw

0":_-,_______ — e L L - —
4 Ix do T ax YT T Yyt T Ix

Y

L. Frnd Hle l"’i{ deviy af VY e C“ﬁ fle f mx(z_"(“.“o b
‘{_‘_m'b v\\cs‘d‘ t({ 'LJQ\ VRV OC‘E “(\,\.{ ‘J@ N "k.’t ( jo 3 )
X+ )z o 15 1%




.o dy duia di e
off . 49 _dbe o oAby dbe
mralil PR S A N

C(_L O 2 X ~ X=X 2.( 18) — 157

- S P,

_

AR (Ke=A)(Keka)  (=®°3)(-e~5)

d L 2 X — X3- %o _o2(3y— [ Z -T2

AE T (= ) (g STTB) (m oo

dle 22X —Xe-¥, _ =2€i-3)—1-2-1-5 i
dx P keyldxy  (e3)(ez)
J

v

e

b
&1 4

|

—

>

£X~ Ffllof iQW ‘eﬂﬁ’u’?{' aind A prye /{i}‘/\/w{;f'(" Velire (r}f }[,\c,
<~1 eyr'V o AN € fﬁy {f-ZLg ffazi o w ;"»Lg /’W.u,f-‘@n at *= 7.3

amd XK=Xo i Y=fox = K'olug S X=1Ces5)35

< ek o\ ?

A / 1.c /5 2 w 2.5 ! A "' g -5

Foo o+ 1 w5z 1530y (3BA4E | FL el 148 Elo

U‘
Zz ;
X few  ay £y Ly AS

i % Y. 65F A e 62993 e
e 5 e o D 5“? £
9O \5 . 307 J21189 - 1534
22. 539 - 6 Fo K
3 -5 TPl é 1 Z<9/4 | 1. 5151—

| | Ly F55 8138
3 N, ??l qL"I

2715 )
2.5 l”fﬁ'lg?ﬁ

égt :’C:";’ ?

U = A3 -

=2 -4

{
2.+ . 5

L.




W A 24 -1 2 3 U |
=LA+ A - cUtz LY, ] -

é ”3 (3¢ (2-6) —

(z-3) = ;“‘5 [ 2 657 +
-—(*'z-!n. ‘-l-(.)
-:_.._ L 2. 652+ 14, 685 t5 FEB T

.96
é

= 45 255 ( appro K:’Mi'm,{'*g \'q&u\g)
/ .
and Y = 4x° -l when xe 2z rzeen

! 3
Jo=ul23) — L = 48233 eMect Vi,

%-P(‘Jm‘\mﬂ- Cedel v K= X

. = “+
l - - —
\JC‘.L) *:;-[-:52365;_6'7?5“{_9=-i96]
: 3.7g5
= 3.785 = )71-;’;::):)

/ ” 3,#3> — ’23‘-0382
=y = B 483 5 ot z//jf 3.4.03

q R 2332

H P I il ] 5 %
o’gf")\ ‘-}};)7‘,@1}‘ S \}:‘3 L /\—w- T P R Py J O P BINPR
0 i) : 2l Py st
(’ j&-) o 1_._,‘- .(__;_jjc.,_zt]{ P
° 'M% e m ot ( ._sLd'!j;};_;_:J_é? U“"‘J‘ taz.g\
r‘w.ﬂ-»iﬂﬁ‘;‘,gﬁ\ - - -7

' waecte Vel
, FXect Yolne — M loo].
true velative errer = FXm et vakue




9— w NWW\\QTIC"”( T\U\*%{m‘% e Wy
A‘- lf‘(_LPE’Z(’ c:'[(f'f( PME ,Q)

Siep f\l —> [Tt oer t“,t
JrEe A\Qr_\\

A = 1 (\:j *‘\j) jfbr [J = {Poned )

Tukey =T -—f/o() o X o d = boa ket

v
[ fexydx = Todal Area = Ao+ A, « fax —4A (Fiys2)

h o :l“"‘..‘.
N A o a o o , .5”3? TR L S
o [ Fon ax =B Qo vy -z, s ) 3 U0
i
E X. F\/rtfuzi{‘f dX fo (4D) bj i{'h‘—f%ﬁg&"iﬂiﬂ’e vl
I+ X%
th‘e {‘LLE. lwkev Vol (& —1) 15 Sub—~divide d
Jitte (é')' G‘?L-u{.f fw{a y
Sok. 0 _
. Tyl 1
,,,\f);"'f d x = L‘f}j—wh +2J++ﬂ 3&'”“ Tt~ e
JRo g The Pact 1Y,
oo N = 6 , ‘%i\ f;m Y, ;‘1-5' G
e b e Losersm |l
R e e S
N Ko:ﬁ.\ o )x‘.’;ﬁ
X ' 2 }_ Y = f-a (Hg-»
2 3 aﬂr -
1t(')() = :Xz \ j_ G‘ci?-Z('i\ mcf 5. R 6' 5?}5 055‘[ 1
l Bo \5\. \“)"L o N
o [ d ‘/5 Ly : 3
LS [ 12 log7zve] + 0 R46l923 £05901) to-f]
- }+X1

-— C”‘?glf}_




|

I

D- Trapeza, dal Rule ( ligc)

‘-"I:tffi‘,q}-”-’t—r - ‘\,.\,\ 'L(Ka)-{ )(()( a) ‘{-LEBLB'::)&K‘J*[- ~~ % L\K F{i@i&&m)

A

Ex. Wee ‘{h‘{fue Zet d el Fule 4o determame tle \w‘@‘jmf

cyr- uiqfoc tv Alee —‘-ol\aw\w} "(otbl@ ¢ ~
b Mg )
A T T O R R T LA TR N el eq o 64

foxy | e 7—| i 3"‘} 1:3e3 E\ l‘ﬂlg\ I575§ 2155;2 a@iz:w;]z ug2

c)-"7- [ G- ¥
2 3¢3 11; 2222
%C;L.
Tooonpdadlore® oo 1R0BEDI0, L334 1305

powy o DEERTHLUYZ o 215631575
b oot p 2B0FL22

275 L g-o iy é&&é@
+ &g 2:4F2 + 2507

5 5 +d Bug 5"*/--3631“7—‘(8«:_
M\h\\

oot o BT H2 363 =
2

:@9965 ’i" 6&}3 62? {. o /37?& 'f— [ IR 5] 6-('(( ._tk G?\@'?\‘l{é 't*o*oé??
t e 2375 + eyqy +C Y5y e 2262
= /i Zfz/gg‘

E - MW%’PP{E tﬂk?kf?fj Yals s .

, b of b
oS Foonda = [EfFoonis]d= [ [togad dy

boo o, >
LLX - Stef 5 7. )[<=4- X, ')(-——9-(01_._19) >

W =TS shef SZ fuvy e (e =d) )

v Le2
EX. Evaluate £le @LJ CXT42x4497) dydx when step
size 4 X zo 2 owd sTRP SZe o} Yo 0572



©
0.6 3.0
t Vol 1n :7{‘4'- e thie devis \e '\’V\‘ktj Vel [ / Jl (t(yU) JXJ&

v‘ Se {T?’C{ Pﬁ,Zo.qf :.'LE?LL; Y ul @ ;1’1 - —J 1 Y't’c{' ..‘c i1 :
ond  Shwapsen Yule \wm Y- diyeckion , and Fexsy)
0t5 o gy Ven /i 'flft(' 7/@ fw L:://rz(j ‘t/cibl( .

Ex.

o L &2 o l cnfi e 5 ®. 6
T\c . . . e . . [ e ——— e

-5 e 165 4z ¥ @ éa/ 0942 L9 e {43}
1ee c-1F 0 -EYe Loc30 3% o3z  2.835%
5 o tuz @990 gy ?w‘% 2545 z.63]
2.c o -gre 568 2.384  SAFF 3943 4b¥y
2 -5 {214 2,57_0%" R.goo .ol 6. 244 }.37.3,
3o Z-ooi  heys 6139 % (22 levozo Iy
 3.s T 1ed | €679 99%¢  \Ras¢ 6.y 19098

- Tuterved X =(15-530) aud Y=(eoa ey

5 \-(: ‘bJ —-—e . = "L" Py fr’\wt'i' /Zr.»(» “l .L\K )(,‘,;r‘ 7{,‘ - zn.!-g A 015
Ivl"'j f(x Yy) d & f f(x,b ) = 2 Cﬂ1ﬁ2(-‘jz+’}j})+ff%]

h -y - : PR
v lx(Yzsoz) = —E-“-L@*!?*Z (1568 42.52)¢4070] = 3310

1%1(3 za-3) = 3—5— [_1\1}, 224+ 2(2-38y ’\"'%a%)-'r 5\|36"]';:

54’:’7—‘¥0

T—xz('j;od.]) = &es2r 5 Lgk (Y=o.5) = B 138
L, (Yseh) = 9743

4 vy o
Then Axo=Y, = 334 5 tx‘,‘j‘ =b.en? Ly :-jz_ 6. €52

e ) o2 ‘ 2

Tug =", = 2. zf,e & lei:\- = Fays

o b K _ﬂ: EREaY va Do w-;«‘f

j £ex,y) JJ - J[‘g 4y C";ji"'r\fp,.)-{-g.,(ljt) 431{] o ) = gt

o2

{3 21te v 4 CBuert 8, 2368) ¢ 206:6500)x {3435
=2, ar—mg LS W L ons R

4
i \.L,_,\J i it
— R




JL*'EB"‘J m;wfj S Sen's 15 Yule <eive -’(’t«e Co “ﬂcwfhj
r,.,f“s‘mxék sN=€ o] (2D) . Thonf'vd fhe Velok Ve erie,
AnS, (T =2 0c 5 T.vn € = -0, ) :
2 - Eveldvate e Valwe ob 4Le nugfl WwRegVakion by

\k-S-{‘wj Awe tropezae.'d a,g e ) Tlen fivd the abs olute
17/2 L)

Yelative error o /LS (EXx+i)]dx > N=4 ;4
,,.f"’f A, [l 2~ e295 5 L= 0.3% 1 anme = 2‘5‘Ff4"hfan]—=
3. By Uiy Neww tros forwawrd fovummie, evaluate tle

Vol e Crf the der, vauktve of f e ¥-’-a’|10w{1¢3 ‘e_?uaf\’@n

al X =6.6 , {‘L«.,G,lf( f;’vzd{ 'f“L\f %‘i’Lt(’f Ve lative Crior s

> 3 _ .

"('X) - i g5y X~13.8 )(1-1'- W E) X R Xrt‘

A=202)10 ; D,
vy - - . " { - w
_ﬂWS’\ , r‘j(/éfj = [/ FZo Jy(‘,g,“‘—' s bre = SZ.8 o Y,
4. Evalnat tie #fn-il@ujcmj Wy S Ivapse s Ll s Loy
S . - _ 5 .
A-f X Td x5 Ans(Z.667) f$7f %ﬂdx sRing, (& Fi59) .

5. F ud the Wleg el Vaivee of tlhe rmv\f{'t’w\ below [og

Uslng trape zordal vule 5 Y = XS K- & (b, b5 1192 &)
= Fond (Vo1 by Moty Newbon backiwoud for wmuaa auy
the kuble below

o X { & .0 & o o - Ll ! e ‘_6 ‘.:: G- go ' i.6
i 5 I :. e e l.., _ ' - i § -
1 e p e e-qx | Lle | 2.e | .26

F- A Vod s Netatling W a plone abeudt on of b5 ends i

tice ;mr‘ow.’mﬁ £oble 3N en tlhe Gunfle (4) Fadton 5 thie A
Q\U

wihacu, {4l 'Ya;J Vet 4\-&\('@,&1(;{ -,f{-,-,,- 4-""}"-13@?“12 it Ve{\\&e_g of ¢
Hy Seco nds, Find t¢s curfular acelav-altion higan
_ 'é' S e i Chrvo

H

Hﬂ,e
E=es,

Lt

~ :_ e =R 4 :;: 0-¥F ‘.\0
‘ L e . ; r 1 L S — ;
Byud | €-e [ onvT | AT Vol 2-e 3

i i
i

3 | - |



53

Numerical integration

53.1 Introduction

Even with advanced methods of integration there are
many mathematical functions which cannot be inte-
grated by analytical methods and thus approximate
methods have then to be used. Approximate meth-
ods of definite integrals may be determined by what
is termed numerical integration.

It may be shown that determining the value of a
definite integral is, in fact, finding the area between a
curve, the horizontal axis and the specified ordinates.
Three methods of finding approximate areas under
curves are the trapezoidal rule, the mid-ordinate rule
and Simpson’s rule, and these rules are used as a
basis for numerical integration.

53.2 The trapezoidal rule

Let a required definite integral be denoted by f: ydx
and be represented by the area under the graph of
y = f(x) between the limits x = & and x = b as
shown in Fig, 53.1.

YA

¥=f(x)
[
//1
//
Vi| YalYalha Ynet
0 x=a x=b x-;
I d'd ld l
Figure 53.1

Let the range of integration be divided into n

equal intervals each of width d, such that nd = b—a,
b—a

le.d =

The Urdlqlates are labelled y;, ¥2, 3, ... Yut+1 @S
shown.

An approximation to the area under the curve may
be determined by joining the tops of the ordinates
by straight lines. Each interval is thus a trapezium,
and since the area of a trapezium is given by:

1
area = 5(sum of parallel sides) (perpendicular
distance between them) then

b 1 1
f ydx % 201+ m)d + 3 0n+ w)d

o

1 1
+ 5()’3 + ya)d + "‘E(Yn + ¥ur1)d

1
%d{5y1+yz+)’3+)’4+"-+)’n

+ )
2)’n+[

i.e. the trapezoidal rule states:

fbydr N (width uf) {1 (Hrst+last) + (ms::l;;nuif.g)}
A interval 2 \ ordinate ordinates

1)

Problem 1. (a) Use integration to evaluate,
3

correct to 3 decimal places, f —dx
X

1
{b) Use the trapezoidal rule with 4 intervals
to evaluate the integral in part (a), correct to
3 decimal places

32 31
— = 2x 2
@ /I \/de ﬁ ax
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-1 . 3

|3 ]
—§+1 1

4] =4[V3- V]

= 2.928, correct to 3 decimal
places,

il

{b) The range of integration is the difference
between the upper and lower limits, i.e. 3—1 =
2. Using the trapezoidal rule with 4 intervals
gives an interval width d = ~—~ — 0.5 and
ordinates situated at 1.0, 1.5, 2.0, 2.5 and 3.0.
Corresponding values of — = are shown in the

X

table below, each correct to 4 decimal places
(which is one more decimal place than required
in the problem).

2
¥ Jz
1.0 2.0000
1.5 1.6330
2.0 1.4142
2.5 1.2649
Ls.o 1.1547

From equation (1}

2 1 ‘
—_— 2~ (0, —(2. . 7
/lﬁdx (5){2(20000+1154)

+ 1.6330 + 1.4142 + 1.2649}

= 2.945, correct to 3 decimal places.

This problem demonstrates that even with just 4
intervals a close approximation to the true vaiue of
2,928 (correct to 3 decimal places) is obtained using
the trapezoidal rule.

Problem 2. Use the trapezoidal rule with 8

32
intervals to evaluate / —= dx, correct to 3
Po/x

decimal places

With 8 intervals, the width of each is 3~ ie,

0.25 giving ordinates at L00, 1.25, 1,50, 1.75, 2.00,
2.25, 2.50, 2,75 and 3.00. Corresponding values of
2

—= are shown in the table below:

Jx
2
x 2
Nz
1.00 2.0000
1.25 1.7889
1.50 1.6330
1.75 1.5119
2.00 1.4142
225 1.3333
2.50 1.2649
275 1.2060
3.00 1.1547

From equation (1)

22 1
—dx = (0, =(2. . 78
/1 \/;dx (025){2(2000+1 1547) + 1.7889
+ 1.6330 + 1.5119 - 1.4142
+1.3333 + 1.2649 + 1.2060}

= 2.932, correct to 3 decimal places

This problem demonstrates that the greater the num-
ber of intervals chosen (i.e. the smaller the nterval
width) the more accurate will be the value of the
definite integral. The exact value is found when the
number of intervals is infinite, which is what the
process of integration is based upon.

Problem 3. Use the trapezoidal rule to

/2 1

0 14 sinx
Give the answer correct to 4 significant
figures

evaluate dx using 6 intervals.

T_o

With 6 intervals, each will have a width of 2 -

le. % rad (or 15°) and the ordinates occur at 0,
5
{12, g Z" g l_g and ;—r Corresponding values of
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are shown in the table below:

1 +sinx
1
x —
1 +sinx

0 1.0000
% (or 159 0.79440
12 or .
% (or 30°) 0.66667
w} (or 45%) 0.58579
g (or 60°) 0.53590
S5m o
= (or75") 0.50867
g (or 90°) 0.50000

From equation (1)

T
z 1
— dx
o 14sinx

b4 1
~ (ﬁ) {5(1.00000 +0.50000)

+ 0.79440 + 0.66667
+ 0.58579 4+ 0.53590

+ 0.50867}

= 1.006, correct to 4
significant figures

Now try the following exercise

Exercise 180 Further problems on the
trapezoidal rule

Evaluate the following definite integrals using
the trapezoidal rule, giving the answers cor-
rect to 3 decimal places:

12
1. /l; T dx (Use 8 intervals)
[1.569]

3
2. / 2In3xdx (Use 8 intervals)
1

[6.979]

/3
3. / Vsin#do (Use 6 intervals)
[
[0.672]

14
4, f e " dx (Use 7 intervals)
i)

[0.843]

53.3 The mid-ordinate rule

Let a required definite integral be denoted again by

f;’ ydx and represented by the area under the graph
of y = f(x) between the limits x = ¢ and x = b, as
shown in Fig. 53.2.

y=fx)

3

><1}

Figure 53.2

With the mid-ordinate rule each interval of width
d is assumed to be replaced by a rectangle of height
equal to the ordinate at the middle point of each
interval, shown as vi, ¥2. ¥3, -- . ¥n in Fig. 53.2.

b
Thus / ydx~dy +dy+dys+ - +dy

]

dyi+yntynt-o+

i.e. the mid-ordinate rule states:

b i
.. ( width of sum of
/; ydx = (imerval ) (mid-ordinates) @




442 ENGINEERING MATHEMATICS

Problem 4. Use the mid-ordinate rule with
(a) 4 intervals, (b) § intervals, to evaluate

3
/ ~—= dx, correct to 3 decimal places
1

W7

(a) With 4 intervals, each will have a width of

——, i.e. 0.5 and the ordinates will occur

at 1.0, 1.5, 2.0, 2.5 and 3.0. Hence the mid-
ordinates y;, w, ¥3 and y; occur at 1.25, 1,75,
2.25 and 2.75

2
Corresponding values of — are shown in the
X

following table:

2
i VE
1.25 1.7889
1.75 1.5119
2.25 1.3333
2,75 1.2060

From equation (2):

3
2
—dx 2~ (0.5 [1.7889 + 1.5119
/1ﬁ ©.5)

+1.3333 + 1.2060]

= 2.920, correct to 3
decimal places

(b) With 8 intervals, each will have a width of
0.25 and the ordinates will occur at 1.00, 1.25,
.50, 1.75, ... and thus mid-ordinates at 1.125,
1375, 1.625, 1.875 . .. . Corresponding values

2

of — are shown in the following table:

NES
2
i N
1.125 1.8856
1.375 1.7056
1.625 1.5689
1.875 1.4606
2,125 1.3720
2.375 1.2978
2.625 1.2344
2.875 1.1795

From equation (2);
32
./1 ﬁ dx = (0.25)[1.8856 + 1.7056
+ 1.5689 + 1.4606 + 1.3720
+1.2978 + 1.2344 + 1.1795]
= 2.926, correct to 3

decimal places

As previously, the greater the number of intervals
the nearer the result is to the true value of 2,928,
correct to 3 decimal places,

2.4

Problem 5. e /3
i

to 4 significant figures, using the mid-

ordinate rule with 6 intervals

Evaluate f dx, correct

24—
With 6 intervals each will have a width of 0,
i.e. 0.40 and the ordinates will occur at 0, 0.40, 0.80,
1.20, 1.60, 2.00 and 2.40 and thus mid-ordinates at
0.20, 0.60, 1,00, 1.40, 1.80 and 2,20,

Corresponding values of e=*'/ are shown in the
following table:

=
x e 3
0.20 0.98676
0.60 0.88692
1.00 0.71653
1.40 0.52031
1.80 0.33960
2.20 0.19922

From equation (2):

24 _g
/ e dx ~ (0.40)[0.98676 + 0.88692
0

+0.71653 + 0.52031
+ 0.33960 + 0.19922)

= 1.460, correct to 4
significant figures.
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Now try the following exercise

Exercise 181 Further problems on the
mid-ordinate rule

Evaluate the following definite integrals using
the mid-ordinate rule, giving the answers
correct to 3 decimal places.

T3
1. A 1—_H—2—dr (Use 8 intervals) [3.323]

warf2 1
2. —— 6i i 0.
]0 1 T smo (Use 6 intervals) [0.997]

3]
3. [ DX gx  (Use 10 intervals)  [0.605]
1 X
/3
4, / veos? xdx (Use 6 intervals)
0
[0.799]

53.4 Simpson’s rule

The approximation made with the trapezoidal rule
is to join the top of two successive ordinates by a
straight line, i.e. by using a linear approximation of
the form a + bx. With Simpson’s rule, the approxi-
mation made is to join the tops of three successive
ordinates by a parabola, i.e. by using a& quadratic
approximation of the form a + bx + cx*.

Figure 53.3 shows a parabola y = a + bx + cx’
with ordinates i, ¥z and y3 at x = —d, x = 0 and
x = d respectively.

A
¥4 y=a+bx+ox?
¥ Yz Ya
4 0 d x

Figure 53.3

Thus the width of each of the two intervals is 4.
The area enclosed by the parabola, the x-axis and
ordinates x = —d and x = d is given by:

d B2 374
/ (a+bx+cx2)dx=[ax+i+i]
~d 2 314

- 2 3

2
= 2ad + Ecd3

or % d6a + 2¢d®)  (3)

Since y=a+bx4 ex?,

at x:~d,y1=a—bd+cd2

at x=0,w=a

andat x=d,v3=a+bd+cd

Hence w+yvi=2a+ 2ed?

And v + 4y, + y3 = 6a + 2ed” (4

Thus the area under the parabola between x =
—d and x = d in Fig. 53.3 may be expressed as
L d(y + 432 + y3), from equations (3) and (4), and
the result is seen to be independent of the position
of the origin.

Let a definite integral be denoted by [ ydx and
represented by the area under the graph of y = f(x)
between the limits x = @ and x = b, as shown in
Fig. 53.4. The range of integration, b — g, is divided
into an even number of intervals, say 2r, each of
width d.

Since an even number of intervals is specified,
an odd number of ordinates, 2r + 1, exists. Let
an approximation to the curve over the first two
intervals be a parabola of the form y = a+ bx +ex?
which passes through the tops of the three ordinates
yi. v and y3. Similarly, let an approximation to the
curve over the next two intervals be the parabola
which passes through the tops of the ordinates ys,
vy and ys, and so on. Then

b 1 1
/ydx ~ S0y + 43+ ) + 3408+ )
o

1
+ 3 d(y2a—1 + 4¥ + Yans1)
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d)

/— _ y=1(x)

A 4] ¥ Ya Yan+1

¢} a b

[T =

Figure 53.4

2

dl(y + YVonr1 )+ A2+ a4+ Vor)

LI e

+ 2+ ys e+ + )]

i.e. Simpson’s rule states;

b
[
a

~ 3 (it of ) {(fiest+ last

sum of even
+4 (ordinates )

(5)

i)

]

Note that Simpson’s rule can only be applied when
an even number of intervals is chosen, ie. an odd
number of ordinates.

Problem 6. Use Simpson’s rule with (a) 4
intervals, (b} § intervals, to evaluate

/3
1

? dx, correct to 3 decimal places
X

(a) With 4 intervals, each will have a width of

——, i.e. 0.5 and the ordinates will occur at
1.0, 1.5, 2,0, 2.5 and 3.0.

The values of the ordinates are as shown in the
table of Problem (b}, page 440.

Thus, from equation (5):

7
-1

1
—=dx~ Z(0.5)[(2. .
77 9%~ 3(0.5)[(2.0000 + 1.1547)

+ 4(1.6330 + 1.2649)

+2(1.4142)]
1

= 5(0.5)[3.1547 + 11.5916
+ 2.8284]

= 2.929, correct to 3 decimal
places.

With 8 intervals, each will have a width of

.i.e. .25 and the ordinates occur at 1.00,
1.25,1.50, 1.75, ..., 3.0,

The values of the ordinates are as shown in the
table in Problem 2, page 440,

Thus, from equation (5):

/7
1

1
—=dx & ~(0.25)[(2.0000 + 1.1547
N 702512 +1.1547)

+4(1.7889 + 1.5119 + 1.3333
+ 1.2060) + 2(1.6330
+ 1.4142 + 1.2649)]

1

=3 (0.25)(3.1547 + 23.3604

+ 5.6242]

= 2.928, correct to 3 decimal
places,

It is noted that the latter answer is exactly the
same as that obiained by integration. Tn general,
Simpson’'s rule is regarded as the most accurate of
the three approximate methods used in numerical
integration,

Problem 7. Evaluate

i3 1
f | 3 sin® g d8, correct to 3 decimal
0

places, using Simpson’s rule with 6 intervals

m
T _o
With 6 intervals, each will have a width of 3

ie, 1% rad (or 10°), and the ordinates will occur at
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o — 2 2 =% 22 al
1§96 918 M43

1
Corresponding  values of 4/1— gsin29 are

shown in the table below:

T bia T

18 9 6
{or 107 (or 20°) (or 30%)

1.0000 0.9950 09803 0.9574

1
W1 — Zsin*e
3SlI'l

A
9 18 3
{or 40°) (or 50°} (or 607)

0.9286 0.8969 0.8660

1
y/1 = Zsin’8
381[1

From equation (5):

m

] T
f3 /1= = sin20 46
A 3

~ % () [01.0000 +0.8660) +4(0.9950

+ 0.9574 4 0.8969)
+2(0.9803 + 0.9286)]

1
=3 (%) [1.8660 + 11.3972 -+ 3.8178]

= 0.994, correct to 3 decimal places.

Problem 8. An alternating current i has the
following values at equal intervals of 2.0
milliseconds:

Time (ms) | ¢ 20 40 60 80 100 120
Current i

(A) ¢ 35 82 100 73 20 O
Charge, g, in millicoulombs, is given by
g= 012.0 idr. Use Simpson'’s rule to

determine the approximate charge in the
12 ms period

From equation (3):

120
Charge, q=/ idt
0

~ 3OO +0) +43.5+100

4+2.0) + 2(8.2 4+ 7.3)]
=62mC

Now try the following exercise

Exercise 182 Further problems on Simp-
son’s rule

In Problems 1 to 5, evaluate the definite
integrals using Simpson’s rule, giving the
answers correct to 3 decimal places.

ni2
1, / vsinxdx (Use 6 intervals)
0
[1.187]

L6
/0 wd& (Use 8 intervals)

[1.034]

1.0 o3 g
3. / S 16 (Use 8 intervals)
0z @
[0.747]

wj2
4, / xcosxdx (Use 6 intervals)
¢
[0.571]

M

i3
f e sin2xdx (Use 10 intervals)
0
[1.260}

In Problems 6 and 7 evaluate the definite inte-
grals using (a) integration, (b) the trapezoidal
rule, {c) the mid-ordinate rule, (d) Simpson’s
rule. Give answers correct to 3 decimal places.

* 4
6. f —4dx {(Use 6 intervals)
1 x

[(a) 1.875 (b) 2.107]
(cy 1.765 (d) 1.916

dx (Use § intervals)

7 /6 !
S 21

[(a) 1.585 (b) 1.588 ]
{c) 1.583 (d) 1.585
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In Problems 8 and 9 evaluate the definite The distance travelled in 8.0 seconds is
integrals using (a) the trapezoidal rule, (b} the given by fo' vt

mid-ordinate rule, (c) Simpson’s rule. Use 6
intervals in each case and give answers correct
to 3 decimal places.

Estimate this distance using Simpson’s
rule, giving the answer correct to 3 sig-

nificant figures, [28.8 m]
3 11. A pin moves along a straight guide so
8. f VI1+xtdx that its velocity v (m/s) when it is a dis-
0 tance x (i) from the beginning of the
[(a) 10.194 (b) 10.007 (c) 10.070) guide at time ¢ (s) is given in the table
07 below:
- 1
9 —dy
01 /1= 3y2 t(s) v {m/s)
[(@) 0.677 (b) 0.674 (c) 0.675] 0 0
10. A vehicle starts from rest and its velocity 0.5 0.052
is measured every second for 8 seconds, 1.0 0.082
with values as follows: 15 0.125
2.0 0.162
time ¢ (s} velocity v{ms™") gg gigg
35 0.160
0 0 a0 | o
1.0 04
2.0 1.0
3.0 1.7 Use Simpson’s rule with 8 intervals to
4.0 29 determine the approximate total distance
gg ‘61; travelled by the pin in the 4.0 second
7.0 8.0 period.
8.0 9.4 [0.485 m]
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DEP.RTMENT OF M.THEMATICS

Supplementary Mathematics Notes

Matrix 4Algebra
and the

Theory of Linear Bquatioms

e 1ementary Matrix algebra

———

Matrix algebra is directly applicable to the solution of
simulteneous linear equations and has many other ppplications $neluding
the analysis of vibrating mechanical systems, eleotric network theory,
geometry, statistics.

1.1 Basic Pefinitions:

inmx nmatrix is a rectangular array of mn elements
(usually numbers) arranged in m TOWS and n columns.

Conventionally a matrix is denoted by & capital lotter

[e.ge L} its elements being denoted by the corresponding small letter
together with 2 pair of suffices to indloate the position of the
element in the matrix, the first of these suffices roferring to the
row, the second to the colum [e.8s &23 denotes the element is the
ond row and 3rd colurm of matrix 4.

A 'typical' element is usually denoted a3 3 signifying a
element in the ith row end jth column of A where i, J ere arbitrary.

. Exemple: ' i = /2 1 2 3

is a 3 x & matrix with asg = 2, a1 = L, etc.

Two matrices are said to be equal 1f they are of the samo size and
if 2ll corresponding pairs of elanents are squal. More precisely
+his can ba stated: 4 = B if A and B are of tha some size and if

agy = Py for all i,J. Matrices of different sizes are not comparable.

4,2 sddition of Mstrices

If & ond B are both m % n matrices we dofine o matrix
C = 4+ B by the equatione éij‘aié*bij , for all i =1 <« 0
ﬂ-ll j & 1 sse 1




Txanplo: M= /12 3 3 B = f2 o 1%
; !/ '
i ) { )
‘ : 7 Do %/
& j" 3 2; \‘ ' < #

n.bs sdéition is only defined between matrices of tho same sige.

From the definition the algobrale propertiocs Iisted below
~an be guickly proved.

(1) 4 +B=3B+.4
(27 L+ (B+C)= {01+ B) + C

(3) .+ 0=. where O s the axn patrix having every elemont
ZOTG.

x

{4) Givon any m x u matrix L there is a mabrix -4 such thak
4+ {=a) =0,

Specimen Proof:

To prove any of the above propertics it is neoossary e
ostablish 3 things {a) that cach side of the equation docs in fact
exist (b) timt the matricos obtzined on cach side ave of the sams
size and hence comparzble {c) that the corresponding poirs of v aments
in these mmtrices arc equal.

~o Prove {4):
LOt;l'l‘“B:G, B+.&J::DU

Since .,B arc both m x n metrices o o+ B ois defined and is an
@ ow n mbtrix,

5

Similarly B + . dis a well defined m x n matrix. Hones § oandD
both exist and are comparable.
.. =a,.+b, ,=b,, +a, =4d for all 1,]
i i id i ij

hence finally C = D.

1.3 Multiplication by a Sealar

ot 4 be an m x nnomatrix end A be a scalar (or number) an
¥ & = . is then defined by the cquations bij = Ag, . fTor il i,d.

a.
3 1\ A o= S 3 RN
: i

51/ Y

_.;"::E{.;;mplﬂi T
\1




=t

“n particulsr taking A = 2 we have 24 = ifu 6 2 )

From the definition the following algebraic propertios can
we easily verified:

(1) AG+B) =2a + 23
(2) (A #p)i =2 +pa
(3) 0i=0

(&) AMpa) = )i

fit is cssumed throughout thet 4 and B are m x n matrices A, p are
scalarsi.

1.4 The Product of Two Matrices

The definitions given for equality, addition and scalar
multiplication of matrices will appoar to be plementary and cbvious.
It might scem patural to define the product of two matrices in a
sinilar way [i.e. by multiplying together corresponding pairs of
elements]. Unfortmately, although this would offer the simple st
definition it would be of very limited practical application ard a
definition suited to the practical application of matrices 1s nreferred.

Suppose we have variables X, Xgj3 Y1, Y2, ¥3i %1, %u ralated
oy the following linear wquations:

Xy = daa¥e + dap¥e T 813¥3 J1 = Dig Za + LizZe

[1

Xy = Spgyy + Bpe¥e + azays vz = bai z1 * Dazie

Yo = bas 21 + bapze

where 25 19 bij arc constants for all i,j.
74

Then clearly the relationship between the variables X = (xé) and Y =Q\yg
¥

*s determined by the 2 x 3 matrix d.

The relationship between Y end the variables Z = { §1> is
\ 2

deternined by the 3 x 2 matrix B.
This could be expressed more briefly by writing:

X =AY, Y = Bi.

Therc is an implicit relationship between the variables Xy Xa and the
variablos 24,453 suppose this 1s expressal in terms of a matrix ¢ as X = CZ,




-

It would be convenicnt if the matrix product was defined
in such a way that C = aB.

Carrying out the necessary linear substitutions to express X
in terms of Z suggests the method of defining a matrix product,

Substituting for yi, y2, ya into the expressions for
Xy 4, Xg gives:

Xy = ag1(ba1%a + DizZa ) + aiz(baing + baeZz) + aza(bazzs + biaze)

]

%o = 853(01441 + binZy) + ape(bsisa + bosse) + ana(bsima + bagzs)
these c¢an be simplified and re-arrvanged tc give:

. .
(a11b1s + 049Dps + Qugbas )y +. (Bealzz + Qyaban’+ fa95b3a )2z

i

==

{054b11 + agabps + aggbsi)zi 4 (ﬂzﬁbgﬂ + Assles assbas )og

Hi

Xz

These equations should be compared tith:

Xy = G1124 F* CypZp

1

Xz Czay1 + Conmp

Ziving for example:

i

Cio a11bie + azgbsz + ai1gbasn

Cpz = Ap1biz + Gpabsz + fasbas

Frewm this we obtain the more general relationship:

i
§

I

vij

[N AN

— 1’
= aiibij + aizbaj + aisbaj for i

L

>

In this way we define the product of the 2 x I matriv 4
and the 3 x 2 matrix B to give the 2 x 2 matrix © = .DB.

Formel Definition of Hatrix Product

Let & be anm x n matrix and 3 be an n x @ matrix the
product € = JB is then an n x p matrix defined by the cquations:

Il

ey
Cij = aiibij + aizbgj + sae +F ainbnj = >L;aikbkj

k=1

for i = 1 coe m, j': 1 ses i} s

Note. The element c;. in the 1 th row and j th column of the product
B 12 obtainod by mul%ipiying together in palrs and ndding the elements
of the 1 th rod of 4 and the olements of the jpp column of B, ¢y can
be considered as the 'product' of the i th row ¢f . and the j th colwm

i B
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The product B is only defined if the nusber of columns‘of‘
4 1s equzl to the number of rows of B, If this ccondition is satisfied
4B has the same number of rows as .4 cnd the sanme number of columns

as B,

Exomple:

1)  4=/2 3 i\ B=/2 1 B= (5 ~12)
f ‘! ‘
i1 2 0 !-3 2 } b=h 5 \
| / | / ‘\ |
2 3 1 L0 -5 Y
(i1) c=/1 2% p= /3 1) €D = ifﬂ 5)
: ; i
(-1 3/ fe 2/ Lo 5/
= /2 9

(131) E= [2 3 -1 I=/1 0 o\ EL = ,’2 3 —1}
1oL 6 fo 1 o 1‘1 S
[o o

1.5 Properties of Matrix Products

(1) (& B)C = .(B C), wherc . is any m x n matrix, B any n x p
matrix and C any p x q matrix,

{2} (B + C) = 4B + ..C where 4 is any m x n matrix, B.and C
are n x p matrices,

(3) (D + B)a = Di # Bi where D,E are 1 x m matrices and 4 is
an m x n natrix,.




(4) Tk = &y 4T = 4, Where = is an m x n matrix, I, is the
- Al
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and I, is the n x n identity matrix.

(5) 4.0 =0 where .. is an m x n matrix the zero on the left
is the n x p zero matrix and the zero on the right is the n x p zera
natrix.

((6) A(aB) = A(LB) = (AL)B for any scalar A.

Specizen Proofs.

These properties can be proved direetly from the definition
of the product of two matrices. In cach case the existonce and the
equality of the two sides must be separately established,

(2) Supposc 4 is an m x n matrix, B and C are n x p matrices.

Then B + C = D is o well defined n x p matrix and &(B + &) = &D
is a well def'ined m x p matbrix.

Similarly 4B = F, i0 = O are well defined m x p matrices and
H=F +& is also an n x p matrix.

Hence the two sides of the equation are comparable.

Let {3 + ¢) =B = D,

° N
L) %

2
Then elj = ZLJaikdkj = Eljaik<bkj + okj)

Il

Yo =1
I ¥

Y;ﬂ D i

= Giy by # T A0 = f + 23 from
ik ik“k 1 SN . )
Z___J J J .;,LB 3 .&.:.C I

k=1 k=1

= hij {31nce H=F + g}.

Hence B = H or A{3 + C) = .B + .C.
(&) Tc prove I ba = .

Iy is properly defined as Im = {843}, the m x m matrix whose
typical element is 81 j. 6ij [the Kronccker Deltal being defined as:

Sij=1 ifi =3

i

bi3=0 if i £ j.

L




Since Iy is an @ x 0 matrix and 4 is an m x n matrix Ipa i3 a well
Anfined m x n matrix.

Let IpAi =B
Then bij = Ez:ﬁikakj = 84 j {since 8 = O except for

k = i when djx = 1},
k=1

Thus B = & or Ipa = .
Similarly aly = 4.
It is usual to drop the suffices m, n to give the equations I. = A,

AT = & it being understood that the appropriate sized jdentity matriz
is chosen in each casec.

Exceptional Properties of Matrices

{a) iB £ Bd

This is to say that in genoral B will not be equal to Bd.
Unless a,B are both square matrices of the same size .B and Ba will
not be comparable {thoy need not even both exist, see cxample (1)1,

In the special case of i and B both being n x n matrices
it is still not generally true that B = Bi. A counter example to this
is provided by example (ii).

If in fact 4B = Bi, this is a speclal property of the pair
of matrices which is expressed by saying that 4 end B gummute.

In particular all squore matrioces commute with the identity
matrix and with the n x n zero matrix,

Since matrices do not in general comute a great deal cf
care must be taken when manipulating matrix products to koep the
matricaz in the correct order.

5o (L +B)® = a% + 4B + B+ B® £ 4% « 21B + B°

ABa £ 47B

(v) JB =0l i=00rB=0

Real numbers have the elementary property that if a, b are
numbers such that a.b = O then either a = 0 and/or b = 0, This is
expressed symbolically as ab=0=pa=0orb =20,

It is certainly true for matrices that 4.0 = 0 and OB = 0
but a3 the example below shows it is slso possible to have 4B =

with . and B both non zoro,

0




Emg"‘e:
Tet L =:1 2 1% B o= f=1 2 1
[ \ [
i oy 2 [ 4 -2 -1}
.
I C I

Ther B = 0, fbut note that Bi £ C in this cesel.

a5 o consequence of this property .t is not alweys possible
to conclude that iff 48 = .0 then B = C.

4B = 40 =» u(B ~ C) = ¢ but this may be possible with B - C # Ol
p y be p

1.6 Non Singular Matrices

« sguare n x n matrix .1 for which it :Lgls possz.bhﬁo fiyd
an inverse matrix .71 with the properties A4 I, 4 A=11ds
said to be non-singular,

If 4 is a non singular metrix the cancellation law
AB = AC =2 B = C is valid since we have:

4‘$ J.I.G
-1 -1,
= .u. (.t...B) = da (.&‘LC)
-t -

= {i 4)B = (i 1;1)0 f{by property (1

=3 IB =

= B = C fby property (&)1.

Example:
Iet 4 = (2 & 1) B = j-2 -1 3

) : o
i

: 11 1 (10 =1 }
/ ' /

L2 3 \ 1 2 -2/

Then B8 = I and RBRi=1.

Honce both 4 and B are non singular with B = 4‘:1 and 4 = B—1

By no means all sguare matrices have inverses for oxample

G = 1 2. can have no inverse,

o 0\ (1 2\ /o o)
]




and the existence of an inverse for C would #mply that

{-2 2\ /o 0

\1 -1/ l‘o o/

which is clearly false.

There are a number of methods for determining whether a glven
matrix is non singulesr and if so finding the inverse but those will
be considered after the theory of linear eguations.

1.7 The Transpose of a Matrix

Defn. Let 4 be an m x n matrix the transpome of ., donoted A7, 1s
an 1 x o matrix obtained from & by interchanging the rows and columns.
More precisely if ag; is the clement in the 1 th row and j th column
of &' thenajj; = ay for all i, j.

4 square motrix 4 such that A = 4 is seld to be symmotric.

& square matrix B such that B/ = B is said to be skew-

sxmmetric.

Examples
R /5 1 2z \ A = 5 2\
Vo2 3 5 1 5/’
o !
Bz ;1 2 c = f0 1 =2\
/ / . ( } is skow-
; 2 2 5f iz symmetric 1 -1 0 3 f symms tric
§ : ;
2-1 5 by b2 -3 o

Properties of the Transpose

(1) (4+B) = 4 + B

(2) (iB)" = Brat
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Bxerciscs on Elementary Matrix Algebra

(1) A = {2 -1 2) B = /5 1‘) ¢ =73 4\

/ | ?

3 0k 7 B3 b 27
/ ;
e 1 2/ -3 1!

Calculate 4B and BC and verify that (4AB)C = A(BC).

i
|

/

(2) By assuming tho existence of an inverse of the fomm { x ¥y
t

;\z
whore x,y,z,% are to be determined, find the inverse of +the matrix

A

Hence solve the equations 2a + b = 7, 2a + 2b = L.,

and find a matrix X such thet Xi = [ 1 2 \
!

1 3L/

(3) Expand the Pollowing expressions where X and B ara n x n mitrices
whirk do not commute.

(i) (& +3)(a - B)
(1i) (a4 - B)®

(iii) (T + 4)°

(4) If Aiis any m x n matrix and B is any n x p matrix prove that
(aB) = BfAY,

(7} L matriz P is s2id to be crthogemal if it satisfies the equation
FP' = T. Show that the matrix
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find the values of &% and 4°,

- %]
Drdnea tha valuns of A7 and A
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2. Theory of Linear Eguaticns

The system:

B11Xy + Bigxe + eso T oan®n T Gy

age¥y + lpaXa + ese + B2n¥n T Cn

a1 ¥y b ampxs T oeee t 8mn¥n

Cn

of m linear equations in n unknowns can be written in smutrix form
as AX = C where . is the m x n matrix of coafficients X is the u = 1
matriz of column veotor jxi\ and C is the constant column vector

¢ B

[t

7
I
3 ‘

1

-

o= (%)

\cm !

The solutions of the above system are closely linked to the
related homogenecus system oX = 0. This relationship is established
in the first two theorems bolow,

2.1 Thecrem i
IfrX=Y ==(3f1 \ is any solution to the homogeneous set of
\3} /E the equations .X = 0, then X = Y is also
n
a sclution for any valuc of the vonstant A,
If ¥ = Z is a further solution so is X =Y + Z.

Proof
3ince X = Y is a solution we have iY = O.
Substituting X = AY into the equ;ticn glves
A o= MY =AY =X.0 =0
showing that AY is a solution for 2ll volues of A.

Since X = Y and X = Z are both sclutlons we have AY = 0 and
a7 = 0 substituting X = Y + % gives:

A =iy +8) =Y + 4 =0+0=0

hence X =¥ + Z is a solution.

Note The cquation .X = 0 is always soluble since X =0 is a solution.
This is called the trivial solution, any solution other thon X = 0

is called a non trivial solution, 4n immediate consequence of the

ahove theorem is that if the homogeneous eguations X = 0 have a2 non
trivial solution then they have an infinite number of distinet scolutiovns.
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2,2 Theorem 2

I# X = Y is any particular solution of the non homogeneous
equations AX = C and if X = 2 is a non trivial solution of the related
homogeneous equations AX = O then a more goneral solution of the non
homogeneous equations is X = ¥ + AZ for any value of A,

Proof

Since X = Y is e solution of AX = C then AY = C

Since X = 2 is & solution of AX = O then by Th 1 30 is X = AL,
Substituting X = Y + AJ into the equations gives AX = A(Y +2Z)
ZAY + A(AZ) = C + 0 = C.

Hence Y + AZ is a more general solution.

Converse to Theorem 2,

If the equations AX = C have two distinet solutions then
corresponding homogeneous equations have a non trivial solution.

Proof
Let X = Y and X = 2 be two distinct solutions to AX = c.
Let X =y = Z then since these solutions are distinet ¥ - 2 # 0.
AXY = A(Y = 2) = AY = 47 =0 =0 =0, verifying that X = ¥ = 2
is the required non-trivial solution.

Deductions from Theorems 1_and 2.

Consider the cquation AX = C where A dis anm xn natrix.
As a consequence of theorems 1 and 2 there are 3 mutually distincs
possibilities for the existance of solutions 4o thesc equations:

(1) AX = C has a uniquo solution, in this oase AX = O has
only the trivial solution.

(11) AX = C has no solution or the equations are incompatible

(iii) AX = € bas an infinite number of solutions and AX = O hes
a non-trivial sclution.

From this it cen bo seen that it is ofcritical importance to
kuow whether or not AX = O has a non trivial sclution. ‘

2,3 Theorem 3

The set of m homogencous cquations in n unknowns =0
always has a non trivial solution if m < 1.
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Proof
The proof is by induction on m.
When m = 1 the set of.equations is:
Q13X + GypXap + oees + Qipk, = O

. s o e .
in this case we can assume all coofficients are non zoro {otherwise

-\ A ; R
the corresponding variable would not aprpear).

Le‘t xl - &123 }’,’2 = _a‘i"nﬁ Koy om .. x:}, = Oa
This gives a non trivial solution.

Suppese the theorem is true for oil scis of m = 4 equaticns
in a greater nuaber of unknovms,

Consider the cguations: GeaXa F AinXp + ese + oap¥, v 0
dga¥y + Qeadp ¥ eee * ApuXy = O
where n > m 2 ~ } =i
e .

-
L

iy + OpeXe + oess F Hpn¥n = &

in at least one of these cquations X must appear with 2 non zcro
coefficiont, we may supposc g A O jotherwisc the order of the sguationa
may be altered as necessaryl.

1
Let X, = = P (3m1xi + BmeXp + eee + ﬂmn~1xﬂw1)-
el

5

For any values of . x.

"

s eme Xy, the final oguation will then
ne satisfied. Sudbstitution inte the preceding m - 1 equations gives:

& Les=
~
=28 ad

a set of m - 1 oquations in n - 1 unknowns,

But m < n =»n-1 < net and ao by the induction hypothesis these
cquations have a non trivial solution,

¢

Substitution of this into the expression for x, gives a non
trivial soluticn of the original m cquations,

Hence by induction the theorenm is proved,

Egrollagy

The set AY = ¢ of m non homogeneous equations in n uwdmowms can
never have a unique solution if m < n,




2.4 Casc of n equations in n unkncvins

In this casoc the homogeneous cquations AX = 0 may or may nob HAVE
a non trivial solution depending upon the metrix of coefficients. If in
particular the mtrix A %s non singular there is an inwerss matrix A" rnd
from ‘X = 0 we obtain . (LX) = ("X = 1% =0, giving X =0 wd show!ng
that only the trivisl solution is possible.

A simple example will suffice to show that on poceasions n
homogeneous equations in n unknowns can hove & non trivial sclution.

Ixemples
Bquations X - ¥Xg = G have only the trivial
%X + ¥ =0 solution
. Equations X = 2xp= 0 nave the non trivial

~2%x4 + Laa= O solution x1 = 2 X = te

Considering reclated non homogencous cquations we have:

: cy_+ C Cp = Oa
X4 » Xp =04 Soluticn: Xy =._L.§_“R . Cg =l
X1 + Xa = Ca

which is mnigque for all values of ¢ and ¢a,

¥3 = 2%z =5
are jnsoluble
~Oxy + hxg = 6
x1 - 2Xp = 2 hove solutions: %z =4 + D
. For any fe
-2x; + bxp = =L xg = 1 + A

Hence in this case the distinetion between no solutions end an
infinite number depends upon the constants on the right hand side of the
cquation. {In this example the coefficients in the 2nd equation are
precisely =2 X coefficients in the first equation unless the constants
are similarly related the equations will be incompatible]ls

In the case of 2 egquations in 2 unkmowns it is a relatively oSSy
matter to spot imcompatible cquations but as the number of cquations aud
unkmowns increases this becomes very difficult unless a systematic method
is used, Such a method of rccognising incompatible oquations and obtainiz
solutions of compatible equations is outlinced belowe

2,5 Usc of Augmented Matrix and Row Operations
%o Solve Linear Bguations.

The values of the solutions of the set AX = C of m equations in
unknowns depends upon the coefficients and the constants Ci, cess Om from
the right hand side, the actual symbols used far the unknovns ars irrelevat,

e
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As a first step in the celculation the apgmented matrix is introduced.,
This is the m x {n + 1) matrix

;8140012 ess 1 ¢y Y
i

f 4p1 azs dan

Ca

L -

b = : s

. °
\a.mian-o--buu amn Gm!"

This augmented matrix contains all the information ncecssary to solve
the eguations.

In elenentary methods of solving linear cquotions it is usual
to attempt to climinate some of the unknovms by me ans of one Or more of
the following operations:
(i) Rearranging the order of the equations.
(1i) Multiplying (or dividing) any equation by & non zero constant.
(iii) Adding (or subtracting) any multiple of one equation from another.,
In the augmented matrix the rows correspond to the equations, as

a method of computation the following Elementary Row Operations are
introduced:

(I) Interchange two rows.
(II) Multiply any row by a non zero constant.

(III) 444 to any row a multiple of another.

If By is obtained from A4 by 2 sequence of clementary row oparatims
we say By is row-ecquivalent to J; or more simply By is cquivalent to Ass

Sinee the row operaticng are reversible A4 is also equivalent to By

Equivalent augnented matrices will correépond to equivalent sets
of equations having procisely the same sat of sclutions.

The basis of the method is to use row operations to reduce the
augnented matrix A1 tou an equivalent metrix of a particularly simple form,
called the row echelon form in which successive rows contain an increasing
number of zeros in the leading positions. For an augmentod matrix in
ochelon form it is an clemontary matter to obtain the solutions or to
determine that tho equations are incompatible. Tho method is best 1llustrated
by examples.

Examples:
(1) Solve, if possible, the equations:

Xi + 2% - Xg = L
2X4 + 3xa - Xg = 2
-X1 + Xz + 3xa = =1




- 47 -

Corresponding augnented matrix is

S 2 -114\
f2 3 -1 2]

The object is to reduce this matrix to row echelon form by the use of
clementary row pperations. This is done systematically by Pirst obtaining
zeros in all positions lower than the first in the first column, then
cbtaining zeros in the roquisite places in the second column, ctce at
ench shage of the caloulation a note is made of the rov operations used.

\

: |
4 y — H
/ -1k /1 2 1 4.\1
{2 3 =1| 21~ BemZRe |0 =1 1{-6,
: { H i ’
V-t 1 3l BetRao 3 2 3/

/1 2 =1 ‘-4 |
~ 0 -1 1 16
Bat3R2 \0 O 5 =15/

The final matrix obtained corresponds to the equations:

X1+23{Q~x;3=4
- Xz + Xg =-b
5xs =-15.

From this the solution is: xs = =3, Xg = 3, x =~5.

Note as far as possible the first row is used os an c¢perator when
introducing zeros into the first column, the sccond row for the second
column, ete, If at any stege there is a zero in the eritical positiom
it is necossary to interchange the order of the rows befdre continuing.
Operations using the same row may be carried cut simultancously.

(2} Solve, if possible, the equations

Xy =~ Xp + 2Xa = Xg = 1
2%y = 2Xp + Xy + 2X3 = 3
3%y = 2Xp = 3%Xa + b¥Xe = -1,
augnmantod matrix is:
£
{
L2 -2
|
|3

1 -1 2 = 1
2
-2 =3 L ; -




n‘f 1 -1 2 -1
~ Rz - Ra { 0 1 =9 7
Yo o -3 &

Aq\

-k |
1/

In +his case the final rov corresponds to the equation =3X%p + Low = 1,
this has no unicue solution, letting xa = A (arbitrary constant) gives

Xa :-EZ.— ) substituting into the egquations

3 3

corresponding to the first and sccond rovs gives:

O%g ~ 7% =~ & = H5A -7

b <)

1

¥y = Xe - 2xg + X + 1 = -‘%97\-—&5&.

(3) Show that the equations below arc only compatible for cne value of k.
For this value of k find the solution.

H]
[e

Xy + 3%p + 2%a
3% + Xg + DXz =
2x; + b¥p + 3% = Kk

in

augmented matrix is

13 2& 34 3 el 3
R \0 -2 =1 |6/

/43 21 3%
~ { 6 -2 =1| =k |
Bg-R | O O O %2/

Since the 1ast row of the cchelon matrix corresponds to tho equation
Ox; + Ox, + Oxs = k = 2 the cquations arc incompatible unless k = 2.

A
For k = 2 tho solutions are: Xag = A, ¥ = 2 = %, Xy =~3 -3

Bete  Exanples (1) and (3) illustrate all the possibilities for the
solution of n cquations in n wnkmovns, If the matrix of qoofficicnts is
row equivalent to a matrix of the form Mogg *tt0t it

|
|
A

\

b s
28, 1J

Osee OO
L
-3
XX LR

.ll.'ﬂQO bm“

whora 61l the diagonal clementa big, Dbag, ees, by arc non zoro a unique
solution to the equations iX = C can be obtained for all velues of ¢,
{including 0 = 0], If, on the other hand, A& is row cquivalent to ann x 1
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matrix with zero-final row the existence of a sclution will depend upon
the values of Ci  Cp. ses, Cp and will in eany casc not be unigue.

+X = 0 will in this lase have o non trivial solution since it is equivalent
to a set of n - 1 homogencous equations in n unknoms.

2.6 The Determinant of an n x n Matrix

It has previocusly been noted that for a systom in n homogeneous
cquations in n unknovns the cxistonce or ctherwise of o non trivial solution
dopends upon the coofficient matrix. Tho dotorminant of an n x n matrix
is a number so defined that it is zero if the corresponding homogencous
cequaticns have a non trivial solution and is non zero othervise.

1 x 1 Determinant

. The equation a14% = 0 has a nen trivial solution only if as1 = O
hence define |a13_| = a11

2 % 2 Determinant

Consider the oquations asixs + diaxe = O

agi1Xe + ggaXe =0

. . "a a
For thesc to have a non irivial solution the metrix « = 12 12
15X Az2

must be row equivalont to a matrix with zoro final row

Ja11 21z \ B2 2z \

!\a ;T 0 . - 813 023 E (provided ais # 0)

21, daz ‘\ 2z Are / :
. Hence in the case ags £ 0 JX = 0 ms a non trivial solution only if

Ag1 Oz = 813 dg1 = C.

If azq = 0 . is row equivalat o & motrix with zero row only
if a,3 = 0 or sz = O which once more loads to the condition asiase — @isdzs = 0
The 2 x 2 determinant 1344 aiz | is then defined as ai118e2 - 812821
i j

!
fags  8z2

Crapers Rule for Solution of 2 Simultanecus Equations.

Consider 211Xy + 3g2xz = Ct

8piya t B2aXe = Ca , suppose |.[4.l ,-4 0.

The eugnented matrix of this set of equations is:

Ja1s  81a | C1 ) ‘a1 813 | °1 \1
i i P~ v :

H H ﬂ; G4 i
\ o ; } 0 a. - g3 Cop o i Is)

Y 21 azz { csf \\ 22 ai14 | 2 g11 1;}
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N a2
. \ ¢y = =2ig : - as1
Giving solution xg = _°  asq * = 2dloz2 T 21 CL
— 811p,8™ 12 &gz
agg E"""a&zi
a
11
iag1  C4f
|
or % = Ek2 interchanging x4 and xp enables the solution
:311 &12} .
tagy a‘azg
]Ci -E.gif
le 1
2 . .
x4 = ,""'""%a! to be written down,
e 81z
. i
i
18z1 a:as;

These solutions are usually put in the form:

e AU S e R

‘C;‘_ a‘j a_'ﬂ_j ci

Cy ag 831 ¢
this result being a special case of Cramers Rule,

3 x 3 Determinant

!
[

Suppose the equations 8y4yy + 812Xz + 8,8

Bg4Xy + Sgoxs + 433X

apiyxy + aneXe * Gusda

i

have a non trivial solution.

The second and third equations can be re-written :

8a1x1 + 82Xy - az3X3

aaiyy + amzXg = &paXs

Using Cramor's Rule the solution of these is :

—_—He . . B L X3

j~823 azsi -iazs. ~8g3 az1 g

i !

~ass  ase | l8g1  =Bas’ 231 asz
or Xy -Xa ' ' Xg

laza 4g3a = j8g1  8u3 \ = g F] 8gg

| i i

iBan aas [aa1  ape ‘g laa1 faz
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Substituting these values for x; e, Xs in the first equation gives as

a condition for the existence of’a non trivial solution :

A14 . 2aa %1 “%22%1 %az'Pms\&u fpn

!

asa aasi 33 EE !831 asz

! i

This then gives the definition of the 3 x 3 determinant bl .
Note The coefficient of ass is the 2 x 2 determinant obtained by
omitting the first row and first column from IAI. The coefficient of 242
is =~ the 2x2 determinant obtained by omitting the first row and second
column frem |al.  The cuefficient of asa is the 2x2 detormuinant obtained by
oritting thoe first rovw snd third column fram |.f,

A comparison withethe expression for the 2 x 2 delerminant shows
. that it could have been expressed in a similar way, the coefficients of
a4 and a3, being 4x1 determinants.

n x n Determinantsa

The above definitions can be generniised to define gn r x 7
determinant as @

231 Q4p oeocoesoe aipn ASLe venceecao 2T

!
i i f
; , !
!agi A22 sesnss '2ni asz :
e j . !
R i = 241 | '
X . " |
‘lfi1 ececesocoewnsan 3'2’111! jan,z anni
. Aga  Gng cesesas Gan{ i i
| ! ! i
g i 1 ;
i | | I
: ! 5 ) 5
_aizi i +a13, f seenow
i ! ; |
1 i

4n1 9nn

etec,

This definition is in terms of n(n~1) x (n-1) determinants the coefficint
of ayj being (=1)1%J times the detsrminant cbhtained frcm.IAI by omitting
the 1st row and j th columm,

2.7 Properties of Determinants

From the definition of an n x n determinant the following
propertics can be established, Proof's of these are omitted but they
can be found in any suitable Algebra text-book,

(1) iﬂl = IA!l where A/ denotes the transpose of A, {This result
means that any property of the rows of a determinant will be immediately
applicable to the columnsi,
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(2) If B is obtained from 4 by interchanging two rows (or columns)
then |B| = - lA{. :

(3) If A tes two identical rows (or columns) then {A| = 0. {This
is a dircet conseguence of (2)}]

(4) If B is obtained from A by multiplying all the clements in one

row (or column) by a constant c¢ then |B| = c|4a|.

(5) If B is obtained from 4 by adding to one row (or column) k times
another row (or colummn) then |B| = |af.

(6) If 4 and B are any n x n matrices then |AB| = la|.|B|.

2.8 Numericrl Evaluation of Determinmts

The n x n determinant |A| has been defined in terms of the
elements of the first row and certain smaller determiwmants; this is
usually referred to as expanding the determinant by its first row,

In practice this full expansion can be very laborious and the above
properties off'er some short-cuts in this process. An immediate consequence
of property (4) is that the expansion could just as well have been

defined in terms of the elements of the first column (or ar will be seen
later of any row or colum). Propertiss (&) znd (5) are particularly
useful since they enable constant factors to be removed and the rows

and columns to be manipulated to obtain zero clemcnts in certain

positions of the determinant., If this is done systemabically the
doterminant can be rapidly evaluated.

Example :
Evoluate ;| 1 5 7 =2] o5 7 -2
‘ > 4 3 1i } [Raa-zm} o -5 -1 Sj
=12 81 o+ Ry o 7 15
! 0 1 3 ki 0 4 3 4
15 7 -2 -t s 7 -2
i ! '
L {0 1 3 #! _ (Re~TRe ] !0 1 3 4 ;
= ;o 715 1] T |Re#6B § 10 0 -6 29|
"o -6 =11 5| ‘o o 7 29
Expanding by the first column this gives :
-1 3 4 :
y O =6 =29 = - ["6 29| . _og
o 7 29 7

2.9 Minors and Cofactors

The n-1 x n-7 doterminant obitained by romoving the ith row and
J th column from an n x » determinant Iﬁl is called the minor of 84 js
it is usually denotod Mj
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The coefficient of ajj in tho full expansion of the determinant
is called the cofactor of agj, it is denoted Aj j.

i+ '
The mincrs and cofactors are related by the rude Aij = (=1) %wij.

From +he definition of the dcterminant this rule clearly holds
for clements in the first row of 4, it can be deduced for elements in
the 1 th row, where i £ 1, by repeated application of property (2)
{interchange of rows)., By a suitable interchange of rows any row can
Lte prought into the first row position, cxpanding in terms of this
row gives ¢

A

= aj1diq + aiedis t ees * 2indsps

this is the formula for theapansion of Ai by the i th row,

Application of this result to the
cxpansion by the j th column of {a) :

i th row of A’ gives the

v

IA[ = C’uéé:‘z?__j + azj.;'l,aj 4+ ase ¥+ a,njf’.ﬁj.,

Consider next the cxpansion of an n % n determinant with cqual
i th and j th rows, exponding by the j th row gives

%5111 A4z ewasoen ain

[
it

|
1
I
i th_’ {aii a«iz evpBoo e ain
i

= a’iﬂ-A:}i + aiz-‘ﬁ‘-jz + see aind‘a.jn

)

¥

H

!

!

|

|

. i
o th » 291 a‘iZ soooes 5‘-111
4

i

FET ssscenmesen LT

{The coffactors are equal to those in lu since apart from the elements
o' the j th row the two matrices are identicali.

~application of this to IA! gives a similar result for columns :
O = 24y + Gpidej + oes + apgdyy Where 1 £

These i preperties of cofactors can be summarised by the equations:

n
':i—\ _
ket jk
ya
N

&5 5t (1)

il

n

)
>:Jaki&kj

k=1

83 514l | (2)

Expressed in words this is 'The sum of the products of the elements

of one row (or column with the correspending cofactors of another row
(or columm)} is zero. The sum of the products cf the elements of one row
with their own cofactors is equal to the determinant.®




2.10 Cramer's Hule

The more gencral versicn of Cramer's rule for the solution of n
linear egua*ions is n unknowms can be derived from the above properties
of cofactors,

Censider the equations @

814Xy +* Bgzyg t oess FOindn = Gy
ApiX: + Nip¥e + oes + GonXpn = O2
°
=
ﬂni:(:j_ + anxe + see + a,nnxn e Gn

Multiplying the first equation by 4s3, second by sgy ete., and
acding giwes :

78 n

n
SN AN N
- ﬂk:v.*&:i)xi * e *\ Y ok ) XL oee- > Sjoriid |
\ L L s
k=1 k=1 =1
= Ci“lii - C;B‘lzi + ses + anx.ni
Using properties of cofactors this reduces to :
l"l.l x'i. = ia-j_i £ aw aj_i-u-“ Ci aﬁ.i.’.‘l ade a'In 4
n
5&21 c= Ui 4q e G2m
. |
st 8nimqd  Cn Fri+] eve Spp o

or {provided |a] # 0)
x - A

where B; is the matrix obtoined from . by replacing the i thc column
by 3 01 \‘~_‘
ey !

L
[

L]

\ Cn _,“

This result is usually exprossed as @

1 o
TET s TRT T TRT B

Cramer's rule provides a convenient method of writing down immediately the
sobutions of a set of linear equations, but sincc these solutions include
n x n determinants they are not in a very practical form.
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3, The inverse of an n x n Matrix

nn x 0 omatrix L is said to be non gingular if there is &
natrix o= such that a1 = i1a = I, 41 is called the inverse of ..
It will be shown that . is non singular if and only if la] # 0.

3.1 Galculation of inversc using Adjoint Matrix

Let . be any n x n matrix, Adja, the adjoint of L, 1s then aefined
as the transposc of the matrix whoso clements are the cofactors of I“ .
f.0. if Adji = B, then bij = 4nji for all 1J = 1, <=+ Is
Consider headls

Let .":...(:ud-j.-t; = C

Ther by defn, of matrix product and of adja

n
: k=1
Hence aeadjh = |alll (3)

Similarly if D = dAdji.a

Il
dj._.j =] Z“‘kiakj = 6iji4‘i| using (2)
' ke
or Ad jaeds = iAl.I (L)

Equations (3) and (4) are valid whether or not |.] = c.

If, morecover lgl # 0 the cgquations may be divided by the scalar 15}
to give:
1 A L3} 2 - . A 1 . LI
( T:-T .Ld.J.ﬂ.) = I = s <l::‘r .u.dJ..;)

showing that . is non singular if [.il £ ¢ with inverse Lfiz iiT.Ade.

If, on the other hand, |4 = 0 then the equations X = 0 have
a non-trivial solution X = Y £ 0, but if we assume the cxistence of an
inverse matrix &' : AY = 0 =pact(ay) = a0

= I¥ = 0
= Y =20

which is a contradiction.

Hence whoen lAl = 0 .. can have no inverse.
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It will be appreciated that the formula L = -T—?T adyn will

always anable AT1 to be calculated when & 1s non singular but in
practice this caleulation becomes very laborious when A is larger than

%3 % 3, [For 2 3 x 3 matrix the calowlation involves 1 3 % 3 determinant

and 9 2 x 2 determinants, for a 4 x 4 matrix the samc calewlation
involves 1 & x k& determinant and 16 3 x 3 detcrminants]e

3,2 Calculation of Inversc Using Elemcnbary Row Opcrations

For thc solution of n linear equations in n unknotms the uso
of elementary row operations on the augnented matrix provided an
alternative to the ccleuletion of the solution maing Cramer's rule and
determinants, the work involved being much less in the case of larger
values of n. - similar method can be applicd to the galeulation of an
inversc matrax., This mothod is dcmonstrated below, the theoretical

justification being given later.

Frample
Find the inverse of the matrix 4L = /1 1\
{2 o 2]
i
2 -2 1

The aim of the method is to begin by forming a 3 x & matrix consisting
of two 3 x 3 matrices a4 and L. Elcementary row opcrations are +then
poerformed on this matrix until o is reduced to the unit matrix I, the
matrix obtained by vorforming the same oparations on I 1s st

3 I
£ 110 4
) ; !
2 0 236 1 O
Lz -2 o o 4/
¢l1 1 i 1 O 0\
Re- 2Ry ,’ 2 o0l-2 t 0
Be= 2Re Yo -y -1 -2 O A
1 40 4.0 =+ 0\
R1+T?R2 | -2 j
- Jp, c 1 0 ’l 1 -3 0]
Re- TR \o 0 =11 2 =2 )/
Ry + Ra 4 0 01 2 -% 1\
i
jo 1 ey --;- 01
¢ - i
- R \o o 1 %-2 2 "-1‘;;_"
- —1 -'
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z .
A check shows that f’2 -é 1 X !f 1 1 1¥
[ 4 -4 0 12 e 2;
a . )
-2 2 -1, \ 2 -2 ¥
/1 0 0

|
* 0
\ 0 0 1 /

verifying that the matrix cbtained is indeed A~1.

3+3 Theoretical Justification

To justify the sbove method it is necessary to introdure fhe
so-called elementary matrices [or elementary row uperution matrices].

An n x n elementary matrix B is a matrix obfained from the u x n
identity matrix I by performing a single elementary row operation upon itf.
The elementary row operations and corresponding elementary matrices E are
such that if A is any n x m matrix and E is an n x n elementary matrix
BA is the matrix cbtained by performing the corresponding operation on A.
This is proved by considering separately the three types of olementary row
operation and their corresponding elementary matrices,

Type I. Interchange the order of 2 rows,

Suppose the r th and s th rows are interchanged.
Lot the corresponding elementary matrix he F.
Thom eij = &33- for i #rors.

epj = 8y » ©5j = Opj
Let EA = B

Then for j =1 see m Wwe have!

n
by = EZ:&ikakj = ajj for 1 g ror s
k=1
n
brj = zﬁskakj = asj
k=1

n
bgy = K;--\5rk:alvcj = arj
L

k=1
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lence B is the matrix obtained by interchanging the T th and s th rows of 4,
Type il Multiply any row by non-zero cons_tsmtn

Suppose the r th row is multiplied by A. Then if the corresponding
olementary matrix is E and EA = B,

eij = 513 for i # r,
8pj = Rérj and for § = 1 ... M.
n
—— -
ﬁoij = > Bikaj = 24 j for 3 # r
—
k=1

!

n
T‘ 7\.& T‘kak: = Kﬂ.rj o
L/ J

k=1
Hence B is the matrix obtained from A by multiplying the r th row by A.

~ype A1T Add to any row a constant multiple of aznother row.

Supposs u times r th row is added to s th row,

!
o

Thin if E is corvesponding elementary matrix ond BA =

Q34 = aij for i # s. egj = asj + Pﬁrj
n fOr'jz‘lcaom:
ey
vbij — Z/a'ikakj - a’ij for 1 # S.
k=1
n
S
bgj = ziJ(ﬁsk + Hark)akj = fsj * Harj
k=1

Hence B is the matrix cobtained by adding p times the r th row of A to the
5 th row of A,

Suppose now that B1, B, ... By are the elunentary matrices
corresponding to row operations which taken im order will rcduce an n x n
mabrix A to the identity matrix,.

Since the application of these operations corresponds to pre-~multiplying




A in tum by the elementary matrices we have: I = By Bicmq see EpFad

Gr {Ekl': ] Gea Eﬁ,} = 41“1q

tut the matrix }.“iakEz,_,! o My 1s precisely the matrix obtained by
avplying the same sequence of clementary row cperations to I, in the
grevious nuncriecal caleuistion this is the right hand half oi‘ the 3« &
LatriX.

3 iriler 1o the above e be proved for clemontary
G f DrTEET aualng ‘dLomentary matrices
bod upon [i.¢. AR iz matirix
solumn operation],

.
= u.T‘::_U,LJ thx, i:ut‘"lx 1:
from 4 by performing &

» properties of thne elosentory motrices can be wused to justify
. d of sclving lincar egustions using the sugnent od matrix.
Aab
S Y — . . - . . ' - A
L) The inverse of a non gngular nox 4 mosrix 9s mique, many it dnvorse

Wil oalse e o right inverse aend converselv.

a nen singular metrix,

oot Dupp
2O O i~ he

ot gran of L oaval fhng T
ok L odrnvorse of A osuch Shnt L =

1 - i : '

oyt - !

B AR S 45 R ¢ ~
. L R

50 right inverso
ingud sh between 1ot

o ] 5 LT L o R I AA e B . A e m cren Aoy D
Now guppose sy and Op. 0 ore oo, Moo oosihle ddstinoet, dnvorsos Tor oo
4 i -] e -}
e e, Ty ’ . [ -
AR S Y B AR I :A)f@ = Ay v
aniguely determined,
IT 4oana B Lre both non singular n x n matrices then &b lz vom I
R - - -
(ab)7 0 = BT,
o i 5 ey £ e crenmTy = e L=t
LOnsLler k..‘.l.is,'(B e ) = .-1(.".5.8 Jiu = Iu = kia = 1.
.

Gaoring thet 4B is non siagular with inverse 3 4 .




(3) I 4 is a non singular matrix the matrix equation AX = B has unique
solutio% X=A B and the matrix equation YA = C has unique solution
Y-‘:C‘&_ -

Proof
Consider 4X = B

Pre-multiplying by i° gives 4 (aX) = 4 B = IX = 4

If 3Xy = B and iXp = B,

Then .X; = X, and pre-multiplying by & | gives (i A)Xe = & 'a)¥e
| = X1 = Xg

Showing that the solution is unique.

Similerly post-multiplying by . | shows that Y = C.0' is the
unique solution of Y. = C [note unless C and .~1 commute ¥ = .~ 'C is
not a sclution].

Note. The above property shows that the inverse matrix provides a
further method o cnleulatiy $he solution of a set of n linear equations

in n unknowns when the matrix of coefficients is non-singular, This
method although rather laborious for one set of equations is very useful
for obtaining the sclutions of a number of sets of rclated equations with
the same coefficients. This situation iz likely to arise when the matrix
of coefficlents represents 2 linear system and inputs have to be caleculated
for g wamber of difTerent gutputa,
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Exercises

e Solve the equations
Xy * 2%y =~ Xg = 4L
3%y + bxy + Xg
2xy + 3%y + 2xg

it fl
AN -
-l

(a) By using Cramer's Rule
(b) By inverting the matrix of coefficients
(c) By performing row oparations on the augmented matrix

2. Solve, if possible, the following sets of equations:
(a) Xg +ys + 22 = A (b) 2% -~ yo + 22 =7
2xy + by =~ 3214 = 3 3xg + yg ~ 522 = 13
3%1 + 5y1 =224 = 11 Xg + Y2 + %2 =5
W Find the values of A for which the equations

xt + 2% + Xz = Ax
2%y + X + %3 = Axg
Xy + Xg ¥+ 2x3 = Axa

have a non trivial solution. For one of these values of A give the
most general solution,

L. Find the most goneral form of solution of the equations:

Xt =X + 2¥Xa - X =1
2% =~ Xg + 3xg - by = 2
-x1+5xg-x3-x$::—1
5., {n) Show that 1 1

i P 7 7
ia b c; = (a=-Db)(b~c)(c~a).
!az b.fa .'BI

(b) Show that x® + y® + 2° is a factor of

v o+ 52 ¥ yz] i fncbor
2 and hence factorise
2%+ yﬁ! Zx this determinant

£ +y 2 xy completely.




- 32 -

o Show that the eguations:

Xy + 2% - 3% =0
2%y = Xg + 2xa =0
x1+73<_'é-11xs=0

have a non trivinl solution. Find a solution which also satlsfies

2
%2 +x92 + oxan o= 1.

e ™nd the inversos of the matrices
I B .
/ } 2 3
A = :2 l‘+ 1 -
: ; B = /
i ! i3 4 |
L2 3 1/ ‘
Honen find a matrix X such that
f9 0 1)
Bla= o 1 o0,
8. Find the inverse of the matrix:
f 1 .2 0 9 |
;‘-1 4 1 o}
1= ]
- =\2 3 o o)
V1 ok -1 5/

hence solve:

Xy o+ 2y + Xy = 2
~Xy ~Xg + X3 =1

2x4 + 3xp - =5

X1 + 4% - x3 + 5xe = 0]

- ) \
9. I 1 =2 /7 1 31
. (-—1 21 ! p o 3 2/
Y0 -1/ Va1 1)
show that / =1 \
Plap= [ o 2 o
\ o o 1/

Using this result find the values of L7 and Lf1.




- 10 Find the inverses of the matrices
3 3
/
\ 1 b 37
4\
andl

‘2 3k ‘\
‘ !

B o= :1 4 3 1 ’,"
12y

Find X if HBX

11e  Show that the matrix 4 = /2 2 o2
1 5 =2
1 2 -1

satisfies the matrix equation A ~ 34 + 21 = 0, Use this

result to find the value of ATL.

Hence solve the equations
X, * 2X, - 2%, = 4
X, + 3%, - 2%y =

X, txy - x5 = 3

. and 2%, + x5 + X5 = 4 .
2x) + 3x, +2x5 =

)
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i

Summary, Matrix ilgebra

an 2 x n matrix 4 is a rectangular array of mn elements arranged
in m rows 2nd n columns, ai3 is the clement in tho i th row and j th
column of i

Sum of two matrices: If . and Baremx n ma.trj_cos C=.+Bisanmxn
metrix with c¢ij = aj5 *+ bij'

Jealar Product: ki =D is an m x n matrix vith dij = kal:':.,j'

Product of Two Matrices: If & is an m x n muetrix and B is en n x p matrix
C =P is an m x p matrix with

Oij = zaikbkj
]

n
k=1

Propertiocs: 4(BC) = (uB)C, A(B +C) = .B + 4C.

&l = . vwhere I = {5131 65_3:1 if i= j
0 if i # j.

f

and TL = 4 5i,j

But in gencral 4B £ BA,
4 1ls s2id to be non singular 1f . is an n x n matrix and there
exists a mgtrix 4277 such that a1 = a~1i = I, 4°7 is called the inverse

®

of 5. 4! is given as l_:li,"_aj‘; or by the application of clementary now
b

operations to (L|I) to give (1141"1).

. Ldgh = transpose of motrix of cofactors of le .
Detorminants
-l{ = 11441 + Q1g:iq3 + eee + Aityp  Or more gonerally,
n n
4l = Zaiw‘ik = ) 215
k=1 1=1

Lotneters: 4 5 is the cofactor of apy in |.] it is given by
i+
(“1) Jl\iiju -

sinora:;  Myy, tho minor of g is the {nw4}x{n-1)dctorminant obtained

by omitting the i th row and j th column from I.&I .




e
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Theory of Linear Equaticns

The solutions of the set aX = C of m linear equations in n unknowns
are related to those of the corresponding homogencous system aX = 0;
if X = Y is any solution of 4X = C arnd if X = Z is a solution of the
homogeneous equations 4iX = O then, for any k, X = ¥ + kZ is also a solution
nf oX = C. )

If the equations 4X = C are compatible {i.e¢, have a solution}. this
solution is unique only if ;X = 0 has only the trivial solution X = 0

If m < n iX = 0 always has a non~trivial solution and eansequently
the sclution of AX = € can never be unique.

If m=n {i,c. n cquations in n unknowns]. iX = O has a non-trivial
solution only if |a] = 0. Ir |i] Z#0 X = C has o unigue solution for
any value of €, namely X = .~1C. If |..{ = 0 then, depending upon the
values of C, iX = C will either be insoluble or have an infinite number
of solutions,
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